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2 NABABLD FTLHAHLD

| ueeyet agifley aflarmsser 1 wdiCewT

1. n(A x B) =6 wpmb A = {1, 3} eresfled n(B) g1z

1 2)2

3)3 4)6 aflenL_: 3)
2. A={a,b,p}, B=1{2,3},C={p, q, s}, ererfled n[(ALC) x B]

BT

)8 2)20

3)12 4)16 aflenL_: 3)

3. A={1,2},B={1,2,3,4}, C={5, 6} wpmud D = {5, 6, 7, 8}
arasfled, SC1 QarHsasLILLL eneuseafled 15 sflwrer snnhm)?
1) (AXC) c (BxD) 2) (BxD) = (AxC)
3) (AxB)  (AxD) 4) (DXA) © (BXA) aflenL: 1)
4. A={1,2,3,4,5} -ef\®mBS, B srevrn semr53M(S 1024 2_meyser
2 ereng) erevfled, B-6d 2_erer 2 miLiseflar erewtenflsans
)3 2)2
3)4 4)8 aflenL_: 2)
5. R={(x, x?) | x gpergl 13-2 @& @emmeurer LS cTevor g6t}
aTerp 2 pefler efésswrears)

1){2,3,5,7} 2){2,3,5,7, 11}
3) {4,9, 25,49, 121} 4){1,4,9,25,49, 121}
aflen_: 3)
6. (a+2, 4) wHOID (5, 22 + b) YA auflenss Cemeser Fwwb
arefled (a, b) gy erg)
1)(2,-2) 2)(5,1)
3)(2,3) 4)(3,-2) aflen_: 4)

7. n(A) = m wpmwd n(B) = n ears. A-SBHZ B-5S
amrunSsSUULL.  Qeupm sewndledeors 2 pejsefler
Quorgs eremtenflsams.

I)m" 2)n™
3)2mn_ | 4) mn aflenL_: 4)


https://www.cbsetips.in/

spumali..... © sYBVbRadaBlaI Net

10.

11.

12.

13.

14.

. {(a, 8), (6, b)} syers m FwaflFsniiy eefled a wWHmIL b
wdlliyserreuesr (WennGw
1) (8, 6) 2) (8, 8)
3) (6, 8) 4) (6, 6) afleL: 1)

. A={1,2,3,4},B={4, 8,9, 10}, erevr&. &ty f:A—B gy erg)

=11, 9,2, 8), (3, 9), 4, 10)} ereors CET(HSHILL L T6D
[ - eretLg)
1) ueveuMMledl(hHbS 6R6vTMISSHMET SFiTL|

2) swer&anmiy
3) @IMISC\STE DTN &L
4) 2 L gy aflenL_: 3)
f(x) = 2x* wHMID g(x)= 3L . steufled f 0 g oy erg)
x

3 2

1) — 2) —
) 2x° ) 3’

2 2 dar :
3) 532 4) o aflen_: 3)
f:A—B gz @muné sriry wHmi n(B) =7, eresfled n(A)
BTG
)7 2) 49
3) 1 4) 14 afleL: 1)

f Hmib g eresrm @rewt(n) FriysEswd f= {(0, 1), (2, 0), (3,-4),
“4,2), 5,7} g =10, 2), (1, 0), (2, 4), (-4, 2), (7, 0} eTews
Qar@&sLuLLTed f o g &t efégsioreaTs)

1){0,2,3,4,5} 2){4,1,0,2,7}
3){1,2,3,4,5} 4) {0, 1,2} aflenL_: 4)
f(x) = J1+x* eTenfled

1) flxy) = f(x).f(y) 2) flxy) = f(x).f(y)

3) flxy) < f(x).f(y) 4) Beuniled epetTmiLSledemev

aflen_: 3)
g={(1, 1), (2, 3), (3, 5), (4, 7)} i &MiTLTET) (x) = 0x + B
eTeurs; QET(HSSLILL LT 0, HmID B-6o1 Wwlurerg)
1) (-1, 2) 2)(2,-1)
3)(-1,-2) 4)(1,2) aflenL_: 3)
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15. f(x) = (x+ 1)’ - (x - 1)} LA sriumerg)
1) Coflw iy 2) (Ih H6VI& &L
3) semeVdLp& it 4) @muigs gy aflen: 4)

[ A ctomanei T
1. n(A) = p, n(B) = q eresfled, A wHMID B &g Pen_Cu
HewL_&@ Cwrss 2 pasafler eemwrenilsamns

1) 2p 2)2q
3) 2ptq 4) 2pq aflen_: 4)

2. Ulesreumeusteunmier 615 Fifliuedeo?

1) &niry stestigy @ HLomdlaEhs@ QenLLiuiL L Clgm_imlenes
SOIILGTGLD.

2) A b B wyid e1Gzemid @\ Qleummmm SHewsTmEIS6N 6166 LD
auflens Cengaeilear seuons @GN&SsLILGLL 6THS 6(H
gniry :A—B ww BxA etesip s edlwest Gluimsaedlest
2 L S6UTLON(GLD.

3) @b &L QROTMISHSE 6EVDIEST S| 6T6vTled  FienewsT
LALILSESSEO 2 66 6ThG 6 CleuaiGoun 2 niLILSEHLD
eCr (peire_Helemer wHLiLIGSS5SE0 ClLHO(HESTS.

4) 6(Ih &MTL| “6e6vTM)I8(&) 6p6vTDMewT FNTLIN?” sTevTLIENS Candléeas
SlewLoL L &Car( Congenen LwaLBHEng. aflenL: 2)

3. Uetau@pld sahmisener Saie(LpL-aT Lilg.5s.

i. e LMNeSF Fniilest euEDTLIL LOT6UTE) S1588E Bewmewstuing
QFedaId e CriTsCaHTL g eneus @GDILILISTEGLD.

ii. eniyseflesr  Gaimiy  erCunpgd  Gemiy  ellflss
2 L UL L n@Lb.

iii. @ Quilorens sesHler (PFHed WOHMID HIETSHMLD
sneoLi&SHulled L HGL eh WL (QEF &mTiles euenrLL LD
Bms@Lb.

iv. @ &y “Fwefls iy’ eafled wHILSBHHEO 2 6iTen
2_mILiL|s6Ner eTeutTensilsenau|Ld FLons B (hHS@ L.

@ulunpg Uleeumeusteupmiet 615 &l eISTLINS

Sinonesss.

1)1, ii, iii L @b 2) i, ii, iv L Gib

3) ii, iii, iv L (b 4) |emeTSHZHILD aflenL_: 2)
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4. A=1{4,9,16,36} B={1,2,3,4,5, 6} f:A — B etevtmp &mirumewrg
f=1{4,2)(9,3), (16, 4), (36, 6)} eTerT CUDTUMIGHIL(HEDSI
eTeufled
1) @eImISC\sTemTeNT &L
2) ueveummieir GuoeoFmiTLy
3) REIMISC\BTETDTeN 2 6/ FiTLy
4) LeveUMHMI6T 2_6ITE T aflenL_: 3)

5. ZupreT SnhHenms SevTs.
i) (W erewisalen sewid GlUIClwWemTsaleT sHessdleT
2 L S6U0TLD Y (SLD.
ii) LR-R f(x) = —x e1601 UMTULMISSLILIHID SMTL| REVTTMISHS)
€6TTM| LOMMILD 2_L_FMTL| Y (&HLD.
iii) f:Z—>R f(x) = -~ 6T6UTLIG &TITL| {606V.
iv) A wid B ujib ee1mi5:5) pevtmy Clgm_imleveons
SevTRIG6 6Tevlled B — A =B

1) (ii) wbmub (iii) 2) (i) L @b

3) (iii) L @b 4) (ii) oo (iv)  afler: 2)
6. f(x) = ax+tb, g(x) = 3x+1, fog = gof erevfled a evr LI

)2 2)3

3)5 4)1 aflen_: 3)

7. A={1, 3, 5}; B erestuer (ppsaeafler sewnd whmib f:A—>B
f(x) = x’~1 ererr euemTLMISSILL L 6 f ovr 581D Srewis.

1) {1,9,25} 2) {0, 8, 24}

3) {3,9,24} 4) e18)L01606M60 aflenL_: 2)
8. ={(0,1), (2,2),(3,2),(5,8), (4, 8)} erevr &mirLiled 2-evr (Lpevr 2

1) 3 mmd 5 2) 0 wHmd 2

3) 2 wHmitd 3 4) 5 woHmid 4 aflen_: 3)
9. f:A—N, f(x) = x+1 TG QUEMTWIMISSLILIL_L_TEO A 6TETLIS]

DN 2 2)W

3)HZ 4)Q aflenL_: 4)

10. f:A—>A,A={1,2, 3} opmibd f(x) = x 6T euenFLM|SHSLI
UL Lmed 8 g)6rg)
1) @eimIS0\sTemTeu &L
2) wrledF &miry
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3) @aimis6sTemTe WHNILD GCoedeTiTLy

4) gweé gy aflenL_: 4)
[2 ogioues sramses] s
1. AxB={(3,2), (34), (5,2), (5,4)} erexfled A odmLd B-gn smewets.
Siray:

AxB=1{(3,2),(3,4),(5,2), (5, 4)} ererled
A={3,5} wpmibd B = {2, 4} gy@b
2. Bx A={(_25 3)9 (_29 4)a (09 3)s (09 4)9 (3a 3)3 (3s 4)} ereufled A
wHmb B sy fluainenns srewrs.
Siray:
BxA={(-2,3), (-2, 4), (0, 3), (0, 4), (3, 3), (3, 4)} er68Tl60
A={3,4} B=1{-2,0,3} oy@w.
3. Ueraumeusraunring A X B, A x A opmid B X A g8 srewts.
i)A=1{2,-2,3} womus B={1,-4} (i) A={m,n}; B=¢
Siray:
i) A= {2’ _2, 3}9 B= {13 _4}

AxB = {2,-2,3) x {1, -4}
5 {(2’ 1)9 (2’ _4)a (_2, 1), (_2’ _4)7 (37 1)7 (3: _4)}
AxA = (2,23} x{2,-2,3)

{(2’ 2)a (2’ 72)5 (2’ 3)’ (72’ 2)3 (725 72)a (72, 3)5
(3.2),(3,-2),3.3)}
BxA = {l,-4}x {2,-2,3}
{(1’ 2)’ (1a 72)’ (1’ 3)> (4’ 2), (4’ 72)9 (45 3)}

ii) A={m,n},B=¢

AXB = {mmx{}={}
AXA = {(m )} x {m,n}

= (m, m), (m, n), (n, m), (n, )}
BxA = {}x{mn}={}

4. A={1,2,3} womibd B = {x | x eresrug) 10 g3 & Aflw LT
eTewt} eTeufled A X B iopmd B x A gy flweunenms; srewrs.
Siray:

A=1{1,2,3'B=12,3,5,7}
AxB = {1,2,3} x{2,3,5,7}


https://www.cbsetips.in/

spumali..... © sYBVbRadaBlaI Net

5.

= (1,2),(1,3), (1,5, (1,7, (2,2),(2,3),(2,5),
2,7),3,2),3,3),3,5)., 3,7}
BxA = {2,3,57} x{1,2,3}
= 12, 1),(2,2),(2,3),3, 1), 3, 2), 3,3), (5, 1),
(5,2),(5,3),(7, 1, (7,2), (7, 3);
A=13,4,7, 8 wimb B = {1, 7, 10} crefled &p 2 eier
sewEisefled Temeu A-eSlBHBS B-5@ ST 2 memeus
GM&SeTng?
MR, ={3,7), 4, 7),(7,10), 8, D} (ii) R={(3, 1), (4, 12)}
(iii) R, = {3, 7), (4, 10), (7, 7), (7, 8), (8, 11), (8, 7), (8, 10)}
Siray:
AxB={3,1),(3,7), 3, 10), &, 1), (4, 7), (4, 10) (7, 1),
(7,7), (7, 10), (8, 1), (8, 7), (8, 10)}
i) R, c AxB. eiesiuengs snewwreond. erenrGeu R, eretig)
A-eJ@Bibgl B-6@ b6t 2-Dey p@LD-
i) (4,12) € R, gpevmed (4, 12) ¢ A x B. srenGeu R, e16tiLigy
A-e9(BB3I B-5@ g6 2 mey Gedemev.
iii) (7, 8) € R,, gpeomed (7, 8) ¢ A x B. ereiGeu R, 16311183
A-69(BBaI B-5@ L6 2 mey Gedemev.
A={1,2,3,4, .., 45} vomwb R sretn 2.pey “A-uiler 153,
L sTewTeuuflesT  QUTSHSID”  6TEwT QUEMTWMISSLILIL_L_IT6D,
R-eow A x A-ufler 2 L sewrons eripgis. G R-ssrer
wHILSSHSWLD, aTEFSSMSD SHTeRTs.
Siray:
A={1,2,3,...,45}, R = {1,4,9, 16, 25, 36}
R gyemg A-ullest 2 L sewiid e1adTLIg) Clgefleundmg.
R xA={(1, 1), (2, 4),(3,9), 4 16), (5, 25), (6, 36)}
R c A ste1Ligy) Ogefeundlesimg,.
- wdliustb = {1,2,3,4, 5, 6}eSsaab = {1, 4,9, 16, 25, 36}
R etevim 2-mey {(x, y)/y =x+3,x€{0, 1, 2, 3, 4, 5}.
oTenrs Qam(HissLL (heTengl. DT ILILSSHSUILD,
affsssmIuD &ewris.
Siray:
x=10,1,2,3,4,5)
f(x)=y=x+3
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8.

10.

£(0) = 3; f(1) = 4; f(2) = 5; f(3) = 6; f(4) = 7; f(5) = 8
-~ R=1{(0,3),(1,4),(2,5),3,6), (47), (5, 8)!
wiusnd = {0, 1,2,3, 4, 5} efesamb = {3,4,5,6,7,8)

X={1,2,3,4},Y=1{2,4,6,8,10} wpmus R = {(1, 2), (2, 4), (3,

6), (4, 8)}. erefled R peo8) @b &ty eTeors ST (D&, Clogyid

SISaT WIILGL, Femewr LILILSL LHNIWD eIFFsSmssH

SHIT6TOT S, X R ' g

Siray: [ e

UL §&led R @MlssriuL (Deteng). gelbleunm | 3 :_.:FW,.'

X € X-6@, @Cremy € Yo piy wl Qw7 -

Slew_&8ng). e1e51CGeu X-68T 6T6060M 2 MILIL|HEHHSLD Y-60

Cr e Hlped 2 2_6ieng). sterrGou R-op6s18) (1 &ty

SBGLD.

waLLsD X = {1,2, 3,4} sienewr wHusnd Y = {2, 4,6, 8, 10}

afggabd f={2,4, 6, 8}

f:X—-Y oeip 2 peurerg f(x) = x’-2, erew

auerumssUILGSng. PEiE X = {-2,-1,0,3} Y =R aerd

QarewtLmev (i) f-wiler 2 miLiIseneTL) UL g wWelH\a. ii) -6

FTTUmEGLOn?

Siray:

i) f)=x-2@m@gxe{-2,-1,0,3}
f-2)= (2 -2=2;f(-1)=(1)>-2=-1
f(0)= (0 —2=-2: f3)=(3) -2=7
Syswauilenmed, = {(-2, 2), (-1, -1), (0,-2), (3, 7)}

i) fuller eeuGleun wHILE 2 nLIINEL @Cr
Blped 21k 2_6enens s sresvrevnid. sTesiGeau f- gy es181 6(m
&TUM@LD.

A={1,2,3, 4} vpmib B=N erers. Gueb f:A — B gperg)
fix) = X aor eumTumSHILGSDS creufled, (i) f-ullesr
al5es5m36 snews. (i) { alamss ST Tars STEwTs.
Siray:

A=1{1,2,3,4,B=N

f:A— B, f(x)=x°

f()=(1)y=1 f(2)=2) =8

f(3)=(3)*=27 f(4)=4) =64

Www.Padqﬁl?aq.Net
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11.

12.

13.

14.

i) ef&gswbd={1,8,27, 64}
ii) f e160TLG QRETMI&HE QRETMHEST WHMILD 2 6TEFITL| L.

[eS&gaLD # gGlemewT WIILISLD]
f syerg R-eflbg R-6@ oper sriy. Cueud g f(x) =
3x-5 etewr euemTWMISSLILHEIDGI. (a, 4) wHMID (1, b) erewrs
Qasr(H&suLLTed a wHMID b-uller wIlLsmens srewrs.
Siray:

fx) =3x -5, f={x, 3x - 5) | x € R} 61607 61(LpSH60MLD.

(a, 4) e16¥le0, a-ullevt Hlped 21 4. iFTeug, f(a) =4

3a—-5=4-e0phg = 3a=9=a=3
(1, b) eterled, 1-ulflevr Hlped 2 (1 b.
Sigmeug), f(1) = b-edlmhg b =2
3(1) -5 =0 eteriGeu = b =-2

f(x) =x* — 1, g(x) = x — 2, oHmd g o f (a) = 1 ereofled a-gm&
STERTS,
Siray:

fx)=x>—1,g(x)=x-2
QansasiuLLg go f(a)= 1

g[fla)] = 1 a?-3 =1
glai~ TP =1 a? = 4
a?-1-2 =1 La = £2

f(x) = 2x — x* ereors: QaTRSSLILL(HeTerg) erevfled,
() f(1) (i) feet1) i) f(x) + £(1) QpAweupenns srewirs.
Siray:
f(xx) = 2x — x?
i) x-&@, - Grduilmed (1) =2(1) - (1)*=2-1=1
ii) x-&@, x+1-gu rHull_L_red
foe+1) = 2(x+1) — (x+1)% = 2x+2 — (F+2x+1) = x>+1
i) f(x) + f(1) = Qx—x?) + 1 = —x*+2x+1
[f(x) + f(1) # f(x+]) eIBTLENSS Snewwreonid. GlLITGeuNs,
f(a +b) # f(a) + f(b)
X = {3, 4, 6, 8} ere&. R = {(x, f(x)) | x € X, f(x) =x* + 1} ere¥Tm
2_peurengl, X-eSlhbg N-&E @b srmium@Lor?
Siray: QaenssluLLg X = {3,4, 6, 8}
f(x) = x% +1
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f3)=(P+1=9+1=10; fd)=(4)P+1=16+1=17
f6)= (6 +1=36+1=37;  f(8)=(8)’+1=64+1=65
R = {(3, 10), (4, 17), (6, 37), (8, 65)} 2_peunensy,

X-e0(bH31 N-&@ enmun@Lb.

15. ferevrm &miry f(x) = 3 — 2x eTevr euenTUMISSLILHISEDSI
f(x?) = (f(x))’ erexfled x-g8 Smrewis.

Siray:
flx) = 3-2x
flxY] = [f(x)]* Qardésiul (Herens
3-2xF = [3-2)
3-2x% = 9+4x?— 12x

3-2%-9—-4x’+12x =0
—6x*+12x—-6 = 0+-6
X-2x+1 =0
x-Hix-1) =0
ax o= {1
16. em aflorerd 500 &.u5/wewnfl Causgdled LpsHnF).
aflorerns ‘d’ Qgrenevey CFdMSHE WG STVSMS
t (wewflufled)-evr srirurs CeuaflLiL(HSss.
Siray:

elwresg et Geusd = 500 &1.15/ wewsl

seold = t ewsiggial; sy = d &.15; g = sreowd x Ceusid

d =500t &.15

17. f:N— N eteerp &miry f(x) = 2x — 1 6Tewr euemmUMISSLILIL_L_T6D

SIF| RATNISHS QETHTET eurmed Goed &mit Gedeneo eTerrd

sST(hs.

Siray:

QansasluLLg f: N — N eesiug,

f(x) = 2x—1 et601 euemTWMIGSLILIL (H6TeNg).
f(y=2(1)-1=2-1=1; f2)=2Q2)-1=4-1=3;
f3)=2(3)-1=6-1=5...

Gueib eSFssLd # glenewT SHLILSLD
~ N — N e1amLg) 66318 6636t FMTLIMGLD.
Syeu1ed GLoed &ITTL| 3606v.
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18. f: N — N erewip &miry f(m) = m* + m +3 eTewr euEOTLMISSLI
LLLTe) SiF QRETMISHS) RETDIET ST 6Tewrs ST (hs.
Siray:
QansasiuLLg f: N — N eesiug) f(m) = m’+m+3
auenTWMISSLILIL (h6Teng)
f(1)=(1)+1+3=1+143=5
f2) = (2)*+2+3=4+2+3=9
f3)=(3)>+3+3=9+3+3=15.....
wliusslen eeaibeunm HINMEGWL CleuaiCoum Flewevwt
LS SlenL_&@L.
f: N— N 6160TL18) 6263TM)|&(S) €QEVTMTEIT FTTLIMGHLD.
19. f(x)=v2x* —-5x+3 -z B enriyseaflar Cariuras Glss.

Siray:
f,(x)= 2x?—5x+3 oHmd f,(x)= Jx e1em euenTwmLIGLImD.

stenCeu f(x) = V2x* =5x+3 = f,(x)
= £If, (o) = 0= 0f) ()

20. f(x)=3x-2,g(x)=2x+k pmb fo g=g o f, eresfled, k ullesr
wienLs STewTs.

Siray:
flx) = 3x-2 glx) = 2x+k
fog = fle)] gof = g[f(v)]
= f[2x + k)] gof = g[3x-2]
= 32x+k)-2 =20Bx-2)+tk
= 6x+3k—-2 = 6x—4+k

fog=gof=6x+3k-2=6x-4+k=3k-k=—4+2
=2k=-2=k=-1
21. fog=go ferafled, k-ullesr wFIMLIS Hrewrs.
(i) f(x) =3x + 2, g(x) = 6x — k (ii) f(x) =2x -k, g(x) =4x + 5

Siray:
i) fx)=3x+2 gkx)=6x-Kk
fog = gof
flg] = glfx)]
fl6x—k] = g[3x+2]

36x-k)+2 = 6(3x+2)—k
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18x—-3k+2 = 18x+I12-k
-3k+k = 12-2
-2k =10 =k=-5
ii) f(x)=2x-k gkx)=4x+5
fog = gof

flg)] = g[f(x)]
fl[4x+5] = g[2x-k]
24x+5)-k = 4(2x-k)+5
8x+10-k = 8x—-4k+5
4k—-k = 5-10

3k = -5
K = 2
3
22. f(x) =x? - 1, ereufled, (i) fo f (ii) f o f o f -n& Smewis.
Siray:
fx)y = x-1
() fof = f[fx)] = f[x*-1]
= [-1P-1=x*+1-2x-1=x*-2x
(ii)fofof = fo[x*-2x%]=[x*-2x*-1

23. em Weranms Garumgeruy, C(t) aamm @, GCrilw
&mm C (at, + bt)) =a C(t)) + b C(t,), -8 Wir$S Cswimg.
Cueud PEig a, b gy Flwenea mrr;\_%ls\ﬂsdr eteufled C(t) = 3t
gl @ Crflu &Hm) erers sm_(Hs.

SiTay:
c(t) =3t
LHS = c[at, + bt ]
= 3[at, + bt ] = 3at, + 3bt,
=a(3t)) + b(3t) = a.C(t) + b.C(t,)

=RHS .. ¢(t) stet1L8I @ Crilw FETLIMTL_MEGL.
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[ Atgme chrrinss ieuncoot oG

1. A={1,2,3,4} B={a,b,c,d}. Spssngmibd eeaiblararlh@L
A — B ergib euemaulled ep snirilene jeminss.
i) RaTMISE eaTprer smTLW jedev Coed FmiTLD Ijedev.
ii) @ATMISHE earmrer Friy wHmb Cued Friy.

Siray:

i) A B i) A B
BN a 1 a
At 2 b
3 /><> c 3 c
4 7 d 4 d

2. em sriiflmer erggmer anflseafled Gnlascoms? U iwel(his.
Siray:

(b Fillene HrevE euLdlaeed & DISSH60MD. SiemeuwiTaeT:
i) euflewaCoomq aefilest sesions i) L L euenesvrins
iii) SIBLSGSOIL LL_Lbrs V) euemruL_Long:

3. A= @rLewLLiuewL usT srewisafler sewrd, B = 10 &@w
Gomeurer LT stewraefler sewrwd, C = {x/xeN, x srarug|
LIS STERTERILD {6060, LIS eTERTERILD {6060} 6Teufled Ax(BxC)
STEwTS.

Siray:
A={2},B={2,3,57};,C={l}
BxC = {2,3,5,7} x {1}

{2, 1,3, 1,6, D, 7, D}

{2} <42, 1,3, 1), (5, 1), (7, 1)}

{(2,2,1),(2,3,1),(2,5, 1), (2,7, 1)}

4. i) @@ LL_Senas sriTlleT FTTUSL SHrewTs.

ii) #flur 96000 FeumT 6TETE: Fam)s.

“griiing opEleggled Mapping et wHGDT@® GLwiT
2_euwr(h”’

Siray:

i) gmitusbd = (0, ©0) = R* ii) &

AX(BxC)
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| uulpAssnar ailarmsser 2 AICLeTTSET

1.

| P Y——p———rs e

1.

A=1{1,3,5}, B = {2, 3} aafled (i) A x B opmib B x A- g
anews (ii) A x B =B x A gy@wr? Gedeneoblweied 6651?

(ii1) n(AxB) = n(BxA) = n(A)x n(B) e16v18 am_(Hs.
Ueteumeussieummding A x B, A x A wpmid B x A @& snewrs.
A=B={p,q}

. ULGSle0 s L L (HeTem bLsE@Gn P Q
uLioneug) P iommib Q &6wwTmIs Erms&nest 5 3
2 peneus; .@'rﬂa’)ﬁf&rmg. @5&_:',‘&,[1)@611 . 6l o |4
(1) sevTsL_L_6mIoLIL (pemm, (i1) UL 1qu160
(Penm&eMed 61(a1s. (iii) R-6v wlliLsid (% rcnes
wHNID TFFHHMNSHE HTETTS. 8

A= {5, 6}, B={4, 5, 6}, C={5, 6, 7}. e168l60
AxA=(BxB)N(C xC) erev18 sM_(Hs.

A= (1,2, 3, 7 whmb B = {3, 0, -1, 7}, etesied,

Lesteu(meussteummled sTeneu A-60l(Hbg B-sanes 2_neysemm@L?
(geiQeunsiguid) (i) R, = {(2, 1, (7, 1)} (if) R,= {(~1, D)} iii)
R3 = {(2’ _1)7 (77 7)7 (1’ 3)} (IV) R4: {(77 _1)’ (07 3)7 (3: 3)5 (07 7)}

f={(-1, 3), (0, -1), (2, -9)} suemgl Z-eS(Hibgl Z-&aNes 6(1h
Crflw &ty ereled f(x)-28 srewis.

. oLl L 5CGasn( Cangememenwils LWSTLOHIGS (LLLd

(1,11, 1ii), B PSS EWTL_SiTL|SB6M60 6TEMEL 6 63TMI S0\ BTV TEvTEMEL
61618 SHewsiss. (epenbleunssimb)

N\ v v
Q) X:O%; (ii) ;@ﬁ (iii)%i
P Q

v’

v’

f:Z > N f(x) =x+1, e1651L18) 6@(1h &mitLm 61601 Condlss.
STEITTRISHEDENS Falh)|S.

. A={l1,2,4, 8} eretled “ 6T6vTLIG) 63T

syessl” o161 2_mellenens @GN&eELW euflensCGymiq.aefewt
SeTSIe68T 61(LDS15.
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3. euemqwimy: FITUSLD LHDID eTFFSLD.
4. P= {72’ 717 05 1}5 Q = {13 72, 65 73}5 R= {(xa Y)a y:xz - 33
xeP, yeQ} (i) R &1 2_mytienus L iquieSl(H\s. (ii) R et
efFga56m5 61(1p&1s. (iii) "R" 616611 6(1H FMTLINEGLON? &L
61687160, 6TRLIEUENS:E FMiTL|?

[5 wsiouas oromései gt
1. A={xeW/x<2},B={xeN/1<x<4} wpmd C = {3, 5} srerfled
Ax (BN C)=(AxB)N(AxC) sraruengé sflunitss.
Siray:
A={xeW/x<2} =A={0,1}
B={xeN/l<x<4} =>B={2,3,4}

C=13,5

Ax(BNC) = (AxB)N (AxC)
BNC = {3

AxBNC) = {(03),(1,3)} . (1)
AxB = {(0,2),(0,3),(0,4),(1,2),(1,3),

(1,4)}
AxC = {(0,3),(0,5),(1,3), (1,5}
S (AXB)N(AXC) = {(0,3),(1,3)} oo )

s (1) =(2) BeplssLLL L g).
2. A={xeW/x<2},B={xeN/1<x<4} wpmb C = {3, 5} erefled
Ax (B UC)=(Ax B)U (A x C) steruengé sflumitss.

Siray:
A= {xeW/x<2} =A={0,1}
B={xeN/1<x<4} =B=1{2,3,4}
C=1{3,5}

Ax(BUC) = (AxB)U(AxCQ).
BuUC=12,3,4,5)
Ax (BUO)=1{(0,2), (0,3), (0, 4), (0, 5), (1, 2), (1, 3), (1, 4,
Laniet 0 el (1)
AXB={(0,2),(0,3), (0, 4), (1,2), (1,3), (1, 4)}
AxC={(0,3),(0,5),(1,3), (L, 5)}
~ (AxB)U (A x C) = {(0,2), (0,3), 0,4), (0,5, (1,2), (1, 3),
14,0, )
~(1) =(2) BeplilssiuLLg.
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J.A={xeN|1<x<4},B={x e W|0=<x<2} vpmw
C={xeN|x<3} ereis. Ax (BUC)=(AxB)U (A xC)
aaTUaTauDenE FfLmiTss.

Siray:
A=1{2,3},B=10,1},C= {1,2}
BucC={0,1}u{l,2}={0,1,2} ... (1)
Ax(BuC)=1{2,3} x{0,1,2}

={(2,0),(2,1),(2,2),(3,0),(3,1),(3,2)} ...... 2)
AxB=1{2,3} x{0,1} ={(2,0),(2,1),(3,0), (3, D} eeec0. 3)
AxC=1{2,3} x{1,2}={(2,1),(2,2),(3,1),(3,2) .......... “4)
AxXxB)UAxC)={(2,0),(2,1),(3,0),(3, H} v

{2.1),(2,2),3, 1), (3, 2);
={(2,0), (2,1), (2,2),(3,0), 3, 1),
3,2y (5)

gwesiun(p (2), (5) gwb.
L Ax(BUC)=(AxB)uU (A xC)&humissliLiLL g

4. A={1,2,3},B={2,3,5},C={3,4} wpmib D = {1, 3, 5}, erevfled
(AN C) x (BN D) =(AxB) N (C x D) erairig 2_emremown
ereor Ganglésab.

Siray

ANC={3},BND={3,5}

(ANC)x(BND)={3} x{3,5} ={(3,3),(3,5} .eerrn. (D

AxB=1{1,2,3} x{2,3,5}
=1{(1,2),(1,3),(1,5),(2,2),(2,3),(2,5),(3,2),(3,3),3,5)}

CxD=13,4} x {1,3,5)
={3,1),(3,3),3,5), (4, 1),(4,3),(4,5)}
(AxB)N(CxD)=1{3,3),(3, 5 ©)
gwesun(p (1), (2) swib.
L (ANC)x(BND)=(AxB)N(C x D) efluniésiu L g.
5. A eietug) 8-2 afld Genmeurer Bwed Tewtsafler sewid,
B eretugl 8- eflld @emmeurer LsT eTewrsaflear Sewrid,
C statug @uLewLLiLenL. L&T eTewisafler sewrd ereufled
Spaentaupenné sflumiés. A x (B—C)=(A xB)- (A x C)

Siray:
A=1{1,2,3,4,5,6,7, B={2,3,5,7} C={2}
B-C={2,3,57}-{2}=1{3,57, ... (1)
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Ax(B-C)={1,2,3,4,56,7 x {3,5,7}
=1{(1,3),(1,5),(1,7),(2,3),(2,5),(2,7), (3, 3),
(3,5),(3,7),(4,3),(4,5),(4,7),(5,3),(5,5),
(5,7), (6, 3),(6,5),(6,7), (7, 3),(7,5), (7, T)}

.......... 2)

AxB=1{1,2,3,4,56,7} x {2,3,5,7}
= (1, 2), (1, 3), (1, 5), (1, 7), (2, 2), (2, 3), (2, 5), (2, 7),
(3,2),3,3),3,5),(3,7),(4,2), (4,3), (4,5), (4, 7),
(3,2), (5, 3), (5, 5), (5, 7), (6, 2), (6, 3), (6, 5), (6, 7),
(7.2) (1.3, (1,5 (D} e 3)

AxC={1,2,3,4,56,7} x {2}

= {(1,2),(2,2), 3, 2), (4,2), (5, 2), (6, 2), (7, 2)} ... (4)
(AxB)—(AxC)=1{(, 3), (1, 5), (1, 7), (2, 3), (2, 5), (2, 7),
(3,3), 3,5), 3, 7), (4, 3), (4, 5), (4, 7),
(3, 3), (5, 5), (5, 7), (6, 3), (6, 5), (6, 7),

(1,3), (.5, (D} (5)
(2), (5) &wib. <. Ax (B—C)=(Ax B)—(Ax ().
gfumssluL L g

6. QarGssULLL 2 neser eealblaurarenpuw (i) SBLSHGM
UL (i) euemruib (iii) UL 1qwed empuiled GHlss.
i) {(,y)|x=2y,x e {2,3,4,5},y € {1,2,3,4}
i) {(x,y)ly=x+3, x, y spluenes Bued erewiser < 10}

Siray:
) {(x,y) |x=2y,x € {2,3,4,5},y € {1,2,3,4}
x= 2yx )
f(x)ZYZE; f(2)=5=1;
3 4 5
f(3)= > f(4) = 5% f3)=7
(i) Sby&GSM uL1d (i) euenTLLLD (i) UL 1qwed
X y s {2, 1), (4,2)}
2 1
3 2
4 3
5 4
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(i) {(uy)y=xt3, x, y er681Lg1 108@L Genmeurew Bied cTevsTae}

f(x)=x+3
f()=1+3=4 fQ2)=2+3=5 f(3)=3+3=6
f4)=4+3=7 f(5=5+3=8 f(6)=6+3=9
(i) SWYSGSM LLLb (ii) euemnrLILLD
x f v Y
1] 1 Lo (6,9
2 2 -8 (5,8
3 3 -7 ° (4,6)
-6 °(3,6)
4 4 -5 ® (2,5
5 5 -4 e (1,4
6 [\ 6 3
7 7 -2
8| \Ys B
9 9 O 1 2 3 15 67 8 9 1o

. A={1,2,3, 4} vpmw B = {2, 5, 8, 11, 14} erevrLicor 2w

sewrriseT etewrs. f : A—B eteud &mry f(x) = 3x-1

aens  Qar(ssUuL_(pererg. PEerillemers Osmewt(H
(i) SwysGH uLwb (i) L euemewr (i) euflenss

Gemgseflar sewtd (iv) euenTuLLd QY Flweupenns Gnlss.

Siray:

A=1{1,2,3,4),B=1{2,58, 11,14} f(x)=3x—1

f(1)=3(1)-1=3-1=2; f2)=32)-1=6-1=5

f(3)=33)-1=9-1=8; f(d)=34)-1=12-1=11

smy R = {(1,2), (2, 5), (3, 8), (4, 11)}

(i) atbtia',@g’l UL (i) L L_euenewr
B
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(iv) euemuL_LD (iii) euflene Gesmgseafler sewrid

'

1(1,2), (2,5), (3,8), (4, 11);

1 2 3 4

8. f: N — N etewrm &mitumewgl f(x) = 3x + 2, x € N erer
auerunSsUIULLTed (i) 1, 2, 3 uller Blped 2 (hosmers
srewra. (i) 29 wHmb 53-ullar Wear e mesmers sHrewTs
(iii) erriler eumsmWS SrewTs.

Siray:

f: N — N etevtp eniumestgy f(x) = 3x + 2 et6r

auenTWMISSLILIL (h6Tens)

() x=1eefled, f(1)=3(1)+2=5;
x=2 er6fled, f(2) = 3(2) + 2 = 8;
x=3 erefled, f(3) = 3(3) + 2 = 11
1,2, 3-ullesr Bliped 2 (maasi (peomGuwi 5, 8, 11 oy @Lb.

(if) 29-uSlesr (et 2, x sredled f(x) = 29.
6160tGeu 3x +2=29;3x=27=x=09.

Bena1GLTeGeu, 53- ullewt (Lpest 2 x eTeviled f(x) = 53
eteorGeu 3x +2 =53

3x=353-2=3x=51=>x=17.

stenrGeu, 29 HMID 53-ullewt (vt 2 HSsaT (PenmGwl

9 opmit 17 ey@b.

(iii) N-ullevt QeuaiCoumi 2 MILILSHEHEHEHS Slewewet
wHLsESHed CleuaiGoin Hlped 2 (HSS6T 2_aTereur.
s1enGeu, oy erTa) 6VTIN)ISHE) REFTDNEN FTTLINEGLD.
f-ullesr gyemeser ol ILisLOTEsTE N.
efgead f= (5,8, 11, 14, 17,....} syeng N-evt
2 L sewton@Lb. sresiGeu, f gy ev18) Coevani @edemev.
Signeug) f o L g g @. erenGeu, f oyena) eTnIsE)
€ESTHTETT LOMMILD 2L ST Y (&HLD.
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9. gLwallwed aflghepraflser, CFrenL sreYbLHmeTS

10.

Qareni(h emaimaLwW 2 wrgmg (ClF..5 L fled)
sersHHSpriser. Seuisear Curgeurs, h(b) =2.47b
+54.10 etevrp FTiTemL RSNHESL LWSTLUHSHISFIDTTS6M.
i@, b gzl CzrenL. erebLiler Bemom@ .
(i) h QT8 RATMIHS QaTDTETST aré siflmiss.
(i) QzremL eTeibLilesr Bemd 50 Glg.iS ererfled, b HLIflewr
2 WTS5MSE SHTEUTs:.
(iii) pufler 2 wyd 147.96 Q&5 eresfled, euir QFrenL_
aIbLiler BerSmss SrenTs.
Siray:
(i) h syeng anIsEE eaipres seng Candlss
h(b,) = h(b,) e16v1% &HZ15.
e1601Ceu BLOSEHS SlewL_LILig,
2.47b, +54.10 = 2.47b, + 54.10
2.47b, = 2.47b -8 = b, = b,
stGeu, h(b,) = h(b,), sreted b, = b,.
SLEDSIWNCD, BQbSE STL| QRETTNISHE) RETTHIEST FMTLIMEG)LD.
(i) OsrewL stebLiles Hed b = 50, eTerlled iBG HLIMedT
2_WITLONEsT)
h(50) = (2.47 x 50) + 54.10 = 177.6 Ql&.15 oy&Lb.
(iii) muflest 2 wimid 147.96 eteriled h(b) = 147.96
O\BmenL_ 6TVILDLIENT 5 ETLOM6UTZ
247b+54.10=14796 = b= 0 38
2.47

SEOSIITED, QGMemL 6160ILDLT6vT [anomengy 38 Cl&.15

GSLO.
SimAd 2 ater L eumenruiled BrerE Buirseflet
(peiieTEInasaflar  Herd  WHMID S|6UITEEHENLILI
e wrEiseflor  SHeuedseT euPEISLILIL(DeTereT.  SibS
eflanEiseflar ouqLuenulled em wrewraur, 2 wyb (y)
HMILD (PETRTEIEHS [HOTLD (X)-SSTET 2_meneal y =ax +b ererd
sent(HiliySsnir. Qi a wHmIL b gyflweneal wrfledlser.
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(pevsTesTEIen S &6l 2 wiyd
Berid (Q&.15) ‘x’ (SIEIGeLD) ‘Y’
35 56
45 65
50 69.5
55 74

(i) b5 2-MeurerTg) SMTLIMGLON 6TeT Sy Tmuls.
(i) a wHmDd b— & sTewwTS.

(iii) pererEensuiler Hernd 40 CF.5 aafled, B Hufler

2 WTSMSE SHTEoTs.

(iv)ewmd 533 gEi@Geow eefled, Bzl mufler

ererriensWler BerSmss SrenTs.

6

65

69.5

74
y = f(x) = ax + b

i)  wHiuasdled 2 e geibleun(h 2 NILIL|LD glenever
wélliussled 2 eem G @ 2 mIIGLN®H Cgm_iT
Q&mestTiq (HLILIGTEO @& (I &ML Iy @LD.

YY VY

i) y=ax+b y=ax+b
56=35a+b 65=45a+b
56 —35a=b—>) 65-45a=b —Q)
©. @ Ompbai
5. 56 -35a=65-45a M =b= 56-35a
45a-35a= 6556 = 56-35x0.9
10a=9 = 56-31.5
a=9/10 a=09 = 24.5

i) y = ax+b
y = 09x+24.5
x=40 eteledy = 0.9 x40 +24.5
= 36+24.5
= 60.5
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- wufilest 2_wimd = 60.5 yEIGenLd

V) y=09x+24.5 53.3-24.5=0.9x
y =533 28.8 = 0.9x
53.3=0.9x + 24.5 L= 288 _288
09 9

-, Bufles upesienmienaulles Beord = 32 Glg..5
11. &miry f : R— R g6z
2x+7, x<-2
fx)=4x* -2, -2<x<3
3x-2, x=3

(i) f(4) (i) f(-2) (iii) f(4) + 2£(1) (iv)
Siray:

SISO STL1qusiTenLilg. &nir f gy emg)
L, I, III 1681 @6m_Gleuefsafed
eueTWNISSILOSDG). BB B S WY
X = a, 61681 QEM(HSSLILIL L e ?
wLIANEG a-QHEEWL PenL_Cleusilenws senwT LG58,
3i6s QenL_Gleuafulled f(a) -208 snewst Geuew(HLb.

fM)-37(4)
f(=3)

i) x=4 sengl epermreaig Qent_Gleueilulled 2 sitoteng Hd
SEEETEVNLD
B, f(x) = 3x— 2; f4) = 3(4)—2=10
i) x=-2 syevg Qrewineug QevL_Geusiulled 2 eetens
BT &MESuTEVMLD.
stenGeu, f(x) =x> —2; f(-2) =(2)>-2=2
iii) (i)-emba f(4) = 10 -a1 wHlliewLs srewr x = 1 gy ez
Brewi_nmeug Qent_Gleusilulled 2_ameng. oyemaullesmen,
f(x)= x*-2 -emmag = f(1) =12 -2 =1
s1e0Ceu, f(4) + 2f(1) =10+2(—1)=8
iv) f(1) = -1, f(4) = 10 e1e01& sewrGLmD. f(—3)-60Ws Snever
x = -3 oyeng aipreug Qen_Gleuallulled 2 eretenss
STETOTEVMLD.
Spemaullenmed f(x) = 2x + 7, etenGeu, f(-3) =2(-3)+7 =1
fO-3/(4) _ -1-300) _
f(=3) 1

eTeuTG6,
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x+2; x>1
12. f erevrm smiruneg) f(x) = {2; -1<x<1 eremr
QUEMTIMISHSLILIL_L_T6D x-1; -3<x<-1
@) f(3) (i) f(0) (iii) f(-1.5) (iv) f(2) + f(-2) QpSweunnflewr

LIIILSHMETE SHTEwTS.

il x+2; x>1
fx) = {2; -1<x<1
x-1 -3<x<-1
1) f3)=x+2=3+2=5 (i) f(0)=2

(ifi) f(-1.5) = x—1=—-1.5-1=-2.5
(iv) f(2) + (= 2) = [x +2] + [x-1]
—[242]+[2-1] =4+[3] =4-3=1
13. f: [-5, 9]—R eretp sriturerg) eraimomm)

aueTunISSILHSEDS.
6x+1; —-5<x<2 (i) f(-3) + f(2)
f(x) = {5x% —1; 2<x<6 (i) £(7) — (1)

iii) 2f(4) + £(8
3x—4;  6<x<9 (D 2Dl )

eTeor euenTMISSLILHIEDS) eresfled  (iv) 2/(2)- (6
Ueteupeusrainenns srewnts. F@+1(2)
Siray:

i) f(-3)+1Q2) [6x+ 1]+ [5x* - 1]

[6(=3)+ 1]+ [5(2)2 1]

[-18+ 1]+ [5(4) - 1]
~17+[20-1]=-17+19=2
[3x — 4] —[6x + 1]

[3(7)—4] - [6(1) + 1]

[21 -4]-[6+1]=17-7=10
2[5x% — 1]+ [3x — 4]

2[5(4)* — 1]+ [3(8) — 4]
2[5(16) — 1]+ [24 — 4]

2[80 — 1]+ [20]

2[79]+20 = 158 +20 =178

(i) £(7) - (1)

(iii) 2f(4) + £(8)
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vy 2/(D-7@©) _ 2Abr+l-[3r—4]
J@)+/(=2) [5x7 —1]+[6x+1]

_ 2A6(=2)+1]-[3(6)-4] _ 2[-12+1]-[18-4]
[5(4)° =11 +[6(-2) +1] [5(16) —1]+[-12+1]
__2-1]-14 _—22-14 _-36 _ -9
[80-1]+[-1]] 79-11 68 17

14. yelufiriy efllewsuiler smrewrors t efllarmgsefled ow®
Qun@met SL&@EW Srrwomerg S(t) = —gt* + at + b aeors
Qar(hssuuL(HeTergl. G a, b gy dlweneas wrfledlsar (g
Sperg Yafluiriy eflmsular srrewrons erpu@BIb pH&sLWD)
S(t) QTG RATNSHOSTRTHTET FTTLIMGLON 6TET TS,

Sivey:

s(t) = %gter at+b

s(t) erediIgy 1 — 1 gy e gy etewt lemL9é8 GouenTiqui(HLILISTE)
t=1,2,3,...... allewTniq. 61 616518 GlameTGeunLd.

s(t,) = s(t,)

%gt12+atl+b= % gt,’+at, +b

1
Eg(t127t22)+a(t17t2) =0
1
= g[(t,—t) (t, +t) +a(t,~t)] = 0
1
(tl_tZ)[E g(t1+t2)+a] =0
Lt—t, = 0

1
=t S gl +1) Fa 0]
os(tetertug) 1 — 1 gy 60 smitum@Lo.

15. t eterp &miTuTers ClFedflwendled (C) 2 efer Gl
Bleneoenwiujid, LiryeadL g ed (F) 2_ater CeuLiLmleneoenwiujid
Bemema@w sriur@w. Coeud g t(C) = F erer
auerumssuuLLTe, (@EE (F = — C+32). (i) t(0)
(i) ¢(28) (iii) t(—10) (iv) t(C) = 212 45 BBEHEWOGLTS C-evt
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16.

iy (v) Qgeddlwerd wliLb uryeradL LD Fowors
Bm&Eweurg CaluBlame g Hlwahannsd sewrifls.

Siray: 9
(C)=F= C+32

(i) t0)= % (0) + 32 = 32°F

(i) 1(28)= % (28) + 32 =50.4 + 32 = 82 4°F

(iii) t(~10) = % (—10) + 32 = —18 + 32 =14°F
(iv) t(C) =212 oy Bm&@Gwelunpg
212=% C+32= % C+32=212

%C—212—32:>%C—180:>C—180>< g =100°C

(v) Q&edlwerd wdliiy = .. uryesrafl wiy

C= % C+32=5C=9C+ 160 = 9C-5C=-160

— 4C=-160;C = % —_40°
f:R>R wpmid g:R>R gperg wepCu f(x)=x, gx) =
x* ereur auemyumiSsLILLLTe f, g abaﬂu.lmm RETMISHES
QRETOTETST LHMID fog QETNISHES QREOTHTERT STTLIMEGLOT
6TEUTM)| QY TMUIS.
Siray:
o) =x° HMID g(x) = x*
A s1evTLIg) FILISLD 6T6vTE LD
B 6160118 SlememTodLILIGL cTestayLd Claena.
f eT65TLIG) RDEMMLILIEDL &TL| ETETLISTE) FLILISESSe0 2_6iem
eeaubleun@ 2 miliLb gleewodliLasdled 2 aten G @
2 ML 631 QFTL_iTL| Q& TewTi.(H&ESLD.

- feresrugy) 1 — 1 &miry
Geitd g(x) 6T6vTLIg QT enL_LILIEDL &L 6T6TLISTE)
SlenemTSILILISSS60 2 6o evinId@E CmHuL L
2 MILLSEHSE @OT @h (P 2_(H BHEe eunuiLiL|eTeng,.
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17.

18.

19.

. g eteorg) 1 — 1 &nitLievev.

fog = flg(x)] = f(x*) = [x4 ]5 =x" = @m @ evLLiLenL &y
- fo g e16uTL1g) €268TM)IS(S) ERETTMNET SFMTLIEV6V.
A, B,Cc Nwpmis f: A — B etewrm emiry f(x) =2x + 1
eTereyd HMIL g : B — C gyerg g(x) = X? eTewayLd
uenTMISSILLL T, f 0 g Hmib g o f-uller elFsssmzs
SIS,
Siray:
f:A->B g:B—>C @mgA B CcN
fx)=2x+1, gx)=x>
fo g et e¥5ar
(fog)x)=flg)] =1f¥"] =2x"+1
~fogerelés={y/y=2x"+1,xeN}
~ogofx) = g[f(x)] = g[2x+1] = 2x+1)>?
s goferelsa: = {y/y=(2x+1)% xeN}
f(x) =3x + 1, g(x) = x + 3 gy flwemes P &riryser. Goeib
gff(x) = fgg(x), erevfled x-g& Hmevwrs.
Siray:
gff(x) =g [f{f(x)} ] =g [fGx+ D] =g [3Bx+ 1) + 1]=g(Ox + 4)
gOx+4)=[Ox+4)+3]=9x+7
fgg(x) = flg{g()}] = flg(x+3)] = fl(x+3)+3] = f(x+6)
f(x+6) = [3(x+6) +1] = 3x+19
gff(x) = fgg(x)
e1eu1®6u, 9x + 7 =3x +19
Ix-3x=12=6x=12=x=2
f(x) = 2x + 3, g(x) = 1 — 2x wHmId h(x) = 3x erevfled
fo(goh)=(fog)oh. eTer Bimieays.
Siray:
f(x) =2x+ 3, g(x) =1 — 2x, h(x) = 3x
Buklunpg
(fo g)(x) = f(g(x))
=f(1-2x) = 2(1-2x) + 3 =2-4x+3 = 5-4x
Gugond (f o g) 0 h(x) = (fo g) (h(x))
=(fog)(Bx)=5-4Bx)=5-12x ...... (1)
(g oh) (x)=g(h(x)) =gB3x) =1-2(3x) = 1-6x
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fo(goh) (x)=f(1-6x)
SD(1=6x)+3 =2-12x+3 = 5-12x ... @)
(1) wHmud (2) eHhE B&HEGHS SenL_LiLig|,
(fog)oh=fo(goh)

LOTHD] (PEOD:
f(x) =2x + 3, g(x) =1 —2x, h(x) = 3x
fo(goh) = (fog)oh
(2x+3) o [(1-2x) 0 3x] = [(2x+3) 0 (1-2x)] 0 3x
(2x+3)0[1-2(3x)] = [2(1-2x)+ 3]0 3x

(2x+3)o[1-6x] = [24+3]03
2(1-6x)+3 = [5-4x] 0 3x
5-12x = 5-12
fo(goh) = (fog)oh
BlepLlsalLL L g|.

20. Qar@HssuuLL f(x), g(x), h(x) QFlwanenns Clsrewt(H
fog)oh=fo(goh)erewrs sr_(s. (i) f(x) =x-1, gx) =
3x+1 wpmib h(x) =x* (i) fx) =x*  g(x) = 2x wHDILD
h(x) =x+4 (iii) f(x) =x - 4, g(x) =x? wHmb h(x) =3x -5

Siray:

fx) =x-1,; g(x)=3x+1, h(x)=x

(i) LHS
fog=1lglx)]=f[3x+1]=3x+1-1=3x
(fog)oh="foglh(x)] =fog[x*] =3[x*]=3x* ... (D)
RHS

g o h = g[h(x)] = g[3x%] = 3x*+1
(fog)oh=f[goh]=1f3x*+1]=3x*+1-1=3x ...... 2)
S (D) &(2), (fog)oh="fo(goh)efummssliuLg.
LOTHD] (PED:
fo(goh) = (fog)oh
x-Do[Bx+1Dox’] = [(x—1Do@Bx+D]ox?
(x—1)o[3x*+1] = [Bx+1-1]0x*

3x2+1-1 = (3x) o 3x?
3x% = 3x°
fo(goh) = (fog)oheflurssiiuLg.
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(i) fx)=x> gkx)=2x hx)=x+4

fog = 1flg(x)]
= f]2x]
= [2x]2 = 4x?
(fog)oh = (fog) h(x)
= (fog) (x+4) goh = g[h(x)] = g (x+4)
= 4(x+4)* =2 (x+4)
= 4[x*+8x+16] fo(goh) =f[2(x+4)]
= 4x*+32x+64 =[2(x+4)]
....... () e (2)
(1) & (2) eSB!, (fog)oh = fo(goh) eflunisaliLL L g.
WrHm (PeOD:
fo(goh) = (fog)oh

x? 0[(2x) o (x+4)] = [x? 0 (2x)] 0 (x+4)
x? 0 [2(x+4)] = (2x) o (x+4)
R+ = [2(x+4)]
A[x*+8x+16] = 4[x*+8x+16]
fo(goh) = (fog)oh&flumésliuLL g
Gii) fx)=x—-4 gx)=x*> h(x)=3x-5

fog = flg(x)] =[x’ =x*—4
(fog)oh=foglh(x)]=fog[3x—5]=Bx-5)>-4—>(1)
goh=g[h(x)] = g [3x— 5] = (3x - 5’

fo(goh)=fo(Bx—5)>=Bx-5>-4 - (2)
(1) & (2),(fog)oh="fo(goh)&funmésiiuiLg.
IHM) (PEOM:

fo(goh) = (fog)oh
(x—4)o[x*0(B3x-5)] = [(x—4)0x*] 0 (3x—15)
(x—4)0[(3x=5)*] = [x*—4] 0 (3x—5)
(3x—5)° -4 = (3x-5)°—-4
fo(goh) = (fog)oheflumésiinLg.
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[ Apgmer chensnes gromani] s

L £={1,2),3,4),(2,2)} g=1{2, 1), 3, 1), (4, 2)}. "f" "g"
SpFlwaunenn USSP aigafled Fms. Cueyd fo g
g o f yyFlweunenm auflensGzomy seaflar sewrons er(pgis.

Siray:
f g
S
1 2 2 //1
2 2 31 L2
3 4 4//
fog2) = flg2)] gof(l) = g[A1)]
= M) = g2
=2 =1
fogB) = flgB3)] gof(2) = glf2)]
= A = g(2)
=2 =1
fog) = flg@)] gof(3) = glf3)]
= f2) = g4
2 =

- -2
~fog=1{(22),3,2),42)} . gof={1,1),(2,1),3,2)}
2. f,8: R —> Rf(x)=2x—x| g(x) = 2x+x]| ereufled f 0 g xHMLD
g o f gpflwaunenns srents.

Siray:
|=x if x<O0
|x|_|:x if x=20
S fl) =2x — |x]

2x—(—x) if x<0 3x if x<0
f(x)_[Zx—x if x=0 )_Lc if x=0
g(x) = 2x+x|

2x—x if x<0 x if x<0
g()C):[Zx+x if x=20 ():[3x if x20

foglx] = flgx)]
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X © BaU6HS
_ [/ i x<0 [336 i x<0
| fI3x] if x=0 3x if x20
fo g[x] = 3x for all the values of x
goflxl = glf]
~ [eg@Bx) if x<0 3x if x<0
g if x20 [3x if x>0

2 0 f[x] = 3x for all the values of x.

2_(H5ESHEM6TE SHTERTS.

. f1 RS Rf () =2x"1erefled 17, 4 -2 gplweupnfiesr (pevr

Sirap
flx) = 2x>-1 flx) = 2x>-1
17 = 2x*-1 4 = 231
1741 = 2x? 4+1 = 2x?
2% =18 2% =5
82 .£% RERALYSAV I | 15
x = 13 2 2
17 651 (lpevT 2_(méEer: 4 &1 (p&T2_(TH&S6T:
3,-3 \F \F
AN
flx) = 2x>-1
-2 = 2x*1
1-2 = 2x%
2% = -1
R R
2° 2
2
4. Jereuapid sriysefler wdluusEisamer eTipg)s.
. 2x+1 . -
(i) f(x) = o ii) P(x) = A1
iii) g(x) = vx -2 iv) h(x) = x+6
Siray:
2x+1
=2

x-9
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x =9 erepd Cungy f(x) & euemTWMISS Buieong.
S wdlusn =R - {9}

ii) x 61 SyeWeMSGI S ILSBEHSGSLD p(x) Srever GwieY|Ld.
Cogmiusn = R

i) gx)=+Vx-2
x < 2, e16dled euisa epev GOUTLI9HEG6T Genn 6T6veT
L HCw SlevL_s@b.

o &lUusd = [2, )

iv) x 691 Siemers gl ILILsEHSHEGLW h(x) sreswr @uieviwb.
S enmusd = R

| uulpAssnar ailarmsser 5 wdlliCluemisem

. A={xeN|1<x<4},B={x e W|0<x<2} bHmubd
C={x e N]x<3} e16518. A x (BN C)= (A x B) N (A x C)
eTeTTLIGUEsTEUMEMME SlLINTEE.

2. f: A — B etetim &nitunestgy f(x) = % —1, e1601 QUEMTWMISSHLI

LESNE. @i A = {2, 4,6, 10, 12}, B= {0, 1,2, 4, 5, 9}
25 QmsEw Cung eniy f-gg Ueeumb (Wennsaed
@N&s. (1) auflens Comqseiler sewrd (i) L L euenest
(iii) SbLS@&GM LD (iV) euemTLILLD.

3. A eiediuigy 8-g3 el_& @emmeunest @uied sTewsIa6le SHevoiLd,
B e1etiLg) 8- el & @GemMmeunest LIST 6Tewsiaales SewrLd
C etev1Lg) QT emLLILIeL LIS 6T6uuTSH66eNT SH6vvild 6T6vT60
Spsaemisumenné eiuniss. (ANB)xC = (AxC) N (BxC)

4. X=1{-5,1,3,4} wpmib Y = {a, b, c} etetled X-6S(pbg Y-5&
LesTeu(hHLd 2 meysaled sTeneu FmiTLM@LD?
(1) Rl = {(_53 a)7 (17 a)7 (37 b)} (11) R2 = {(_55 b)a (17 b): (39 a)7 (43 C)}
(i) R, = {(-5, a), (1, a), (3, b), (4, ¢), (1, b)}

5. £={(1,2), (2,2), (3,2), (4, 3), (5, 4)} etetrp sninewew
(i) SIbL&GSM LLLb (ii) L L_6uenewst (iii) euemruL_LD
PEVLDTES GHNISHSELD.
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I HAngman ailarnsser 5 dIGlLeTTISET

3x-2, -5<x<0
1. f(x)=<3x+3, 0<x<5 etetiled
2x—-3, 5<x<10

OVACORIAC BRI
F)+21(-1)

2. fix)=x*+4, g(x) = 3x-2, h(x) = x-5 ereifled &mitysefest CairLiLy,
“Geiniy efldlé@ 2L L L_g” etest Bl s.

SpFwaIHenns sresis.

3% % kO
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TEMIBABLD ABTL TauanFHapLD

| ueveayer apMey allarmsser 1 16w

1. weeallper aEsse simens Coppsdler Ly, a wHmID
b ereip Wlens (P&5EHES, Seflss Wlens woser q
wHmb 1, a = bq + r aRTPEUTN jMOUWjOTeTTEd, PEIEG I

BTl
1)1 <r<b 2)0<r<b
3)0<r<b 4)0<r<b aflenL_: 3)

2. yeeflger eGS0 Fwews Csppims LuaTLHSS),
g Wens (ppailar saTsmauw 9 e aGHGWweurg

HevL_& @G> 15F)seT
1)0,1,8 2)1,4,8
3)0,1,3 41,3,5 aflenL: 1)

3. 65 woms 117-wlesr 15.6lur.eu-emeu 65m—117 eteirp aug.alled
erpgICurg) m-uflest iy

1) 4 2)2
3) 1 4)3 aflerL: 2)
4. 1729-gg usns smMelluu@SHWLCUTE, SBSL LT
aTewrsefler H&Gsafler snHiH60
1 2)2
3)3 4) 4 afleoL: 3)

5. 1 @360 10 euenmwsier (Brewt(h sTewraEnHLd 2 L LIL)
SIMITSF| sTamTHTTD auGUBHID WleEEAMIW erever

1) 2025 2) 5220

3) 5025 4) 2520 aflenL_: 4)
6. 7%= (oL@ 100).

D1 2)2

3)3 4)4 aflenL: 1)

7. F,=1,F,=3wpmb F =F__ +F_ erewrs Q&r(Hi&sLiLig.eon
F; gpoursi
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13 2)5

3)8 4)11 aflenL_: 4)
8. @ (NS Csr_irauflmsuiler wze emuy 1 wHm

Qurg eflgHursd 4 erafled, Lataumd cremrsafled erg)

D55 Fal (HS OsTirauflensulled Siemoujbd?

1) 4551 2) 10091

3) 7881 4) 13531 aflenL_: 3)
9. @ saL (S Ogr_itauflmsilar 6-eug e muler 6

wLEGD, 7-eug 2-mufler 7 wLEGW, Fwow eeafled,

S5saL_(hS Ogr_irauflensuliler 13-eug 2 miy

1)0 2)6

3)7 4)13 aflen_: 1)
10. @® s Ogr_irauflmsulled 31 2 miysear 2 arerer.

Sigar 16-aug 2-milil m erafled, SIHFS FaL-(HS CFTLiT

aflenguiled 2_ater etedeom 2 miLiLsefler Fa(HiBe0.

1)16 8 2)62 18

3)31 .8 4) % 8 aflenL_: 3)

11. @ FaL (3 Czr_irauflsuiled wzed 2miy 1 wHHLD
Qurg ellsdlursw 4. P56 sal (S Qsmirauflensullesr
TSSMET 2 MILIL|SHED6TE Sal lgTTed ST Sa(higed 120

HenL_s@L?
16 2)7
3)8 4)9 aflen_: 3)

12. A=2% wpmud B=2%+2% +29 + .. +2° erewrs Qar@ st
UL (eterg). LileTaupeuseumnniled 615 2 ewTenin?
1) B o081 A-0 el 2% gy flaid

2) A bpmd B wo1d

3) B gyemig A-gg el 1 gydlaid

4) A gev18) B-m el 1 i dlaid aflenL_: 4)

311 1 . . . . £
13. = — — — ... eteorp Qzrireuflensuller 9 2_mL

T m G5 G55 2-piuy

1 1
1) — 2) —
) 24 ) 27

2
e 4) — :
3) 3 ) " aflen_: 3)
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14 t, t, t...... TRTUS @M Sal(HSCgm_itauflens erefled t
tps Ergeeeeee TRTLIS)
1) @@ CQumsEs Csn_ieuflens
2) @ FnL (DS Cgr_ieuflens
3) @ FmL_ (S Cgr_ieuflengu|oe060,
QumEGS ClaTL_iTeuflenagu|edev.
4) e wrledls GGrLit euflens aflen_: 2)
15. (3 + 22+ 3B+ +15%) - (1+ 2 + 3 +.....+ 15) wller Iy
1) 14400 2) 14200
3) 14280 4) 14520 aflenL_: 3)
[ Asgmer chomasi Topiam
1. -3,-3,-3 ... erevrLg) eTSFMEW QLI euflens?
1) ol (HS0SMLiT uflens
2) QuBSEGS0SMiTeuflens
3) Gunhaesi Qrewi(hbd 6060
4) Fal (DSOS HNID ClLIHEGSSMLiT aflenL_: 4)
2. f(x)=(-1)*erevrugIN-ef(bb g Z-5@ cuenrumissLLL(heTerg,
erefled -t eiF&sLD
1) {1} 2)N
3) {1,-1} 4H)Z aflenL_: 3)
3. 2+4+6+...+2k =90, etesfled k-evt 1y
1)8 2)9
3) 10 4) 11 afleL: 2)
4. In =55, erefled Tn’ =
1) 3025 2) 166375
3) 1540 4) 55 aflenL: 1)
5. 1-x+xX-xX+x*= x#1)
5
1) - 2) x> +1
5_q x+1
3w 4) @eunled e1810e06m60
x+1 aflen_: 2)
6. bte—a c+a-b 3 atb=¢ ceLen R SaL_ HFOSTLIir
a b c

o s9BVoisadaplal. Net
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afloms aafled Spsewi_eaupmier srenel Fal (HiSCSTLT

auflenswm@ib?
I)a, b, c 2) a’, b2, ¢?
3) ly 1’ i 4) @eunpled e7giL0l606mev
a b c aflenL_: 3)

7. @ Sal(HS6sri eaflmsulled m syeug 2 miiy l,

n el 2 ML % eTeufled (e mn 2 miisefler a'ua.@;s\)

1) mn+1 2y mn+l
3y -1 4y mn-1 aflenL_: 2)
2 3

8. V2+/8+18+32+...n 2 miuisefler saHFed

1) @ 2) 2n(n+1)

n(n+1)
3 4H1 aflen_: 3
) 72 ) )

9. SpsenTeupmier sreneu 3825 et LIST HTTewl je060?

)3 2)5

3) 11 4)17 aflerL: 3)

10. @@ sglfluss Qurmer Aengbgl iFeT WF(perer
u@glureng igaiel auryggled b=1-— [%4.%4. . to oo:l

oTenrs Qam(hss LB EImg) eTeufled

1)0 21

3) L 4) 1 aflen_: 1)
V2 2 '

[2 wgpiouos hmsod] rofRumas

1. sa(Hse0 srewrs. 1 +3+5+.....+55.

Sirar: (1 +1)2

1+3+5+....+1=
2

1Y’ 2
1+3+5+....+55=(55;r ] :(5_26] _ gl
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Fa(hged srevwrs. (i) 1 +3 + 5 + ... 40 2 mLiyseT eueniy
(ii)2+4+6+..+80
Siray:
(i) 1+3+5+..n2mniyssm ey s(hged =n
1 +3+5+...40 2 piyseT euenr s Hi&e0 = (40)*= 1600
(i) 2+4+6+...+80=2[1+2+3+...+40]

- 2{_”(””)} — 40 x 41 = 1640

2

2
sn(HB60 Hrewis, 12+ 22 + ... + 19

Siray:

24224 4p2= MetD)2n+1)

6
s ,  19x20x39
15 +2°+ . +19°= —/——— =19 x 130 =2470
2x3
Fa (60 smewwrs: 1 +2+3+ ...+ 60

iliey: n(n+1) 60 x 61
1+2+3+....+60= > =

Fa(hS60 smewwrs: 3 +6+9 + ...+ 96
Siray:
3+6+9+....+96=3(1+2+3+...+32)
:3{32x33

=30x61=1830

J=3><328=1584

Fa(HiFev srewwrs: 1 +3+5+ ...+ 71
Siray: 2
1+3+5+....+71=(121)

2 2
—(7“1] :(E] ~(36) =1296
2 2
sa(D\e0 Hnewwrs: 6+ 77 + 87 + ... + 217
Siray:
62+ 72+ 8+ ... +21°
=(1P+22+32. 217 - (17 +22+ 32 .+ 5%
_n(n+h)(@2n+1)  n(n+1)(2n+1)
6 6
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_ 21(21+1)(42+1)  5(5+1)(10+1)
6 - 6
_ 21x22x43 5x6x11
6
8. sa(H\sed smewrs: 1°+2° + 33 + ... +16°

sy |:n(n +1) T

=3311-55 =3256.

P+22+33+ . +n’= >

16 x17

2
13+23+33+...+163={ } = [136]* = 18496

9. 1+2+3+...+ n= 666 ererfled, n-uflewr IS Hrewrs.
Siray:
I1+2+3+...... +n =666

[n(n+1)} ay
2

n’+n = 1332
n’+n-1332 = 0
n-36)(n+37) =0
n=-37 () n=236
n =36 (n=-37 eN&555556060)

10. 1+2+ 3 +.. + k = 325, ererfled 1° + 23 + 3 + ... + k* uflewr
L srewTs.
Say:

1+2+3+..+k=

@ =325

k(k +1)
2
11, 3+23+33+ .+ K =44100 eteefled 1 + 2 + 3 + ... + k uflewr

L srewTs.

g k(e+1) T
1P +2°+33+ .+ k= 44100 = [%}

1+2+3+...+k=@ — J44100 =210

2
13+23+33+...+k3=[ }=(325)2=105625
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12. wseflgar au@s5sed siements Csnmib.
Say:
a wHmId b (a > b) eeiuen gCaad B Wens (p(psssi
e16tled a = bq + 1, 0 <1 < b eTevIMEUMM) , I ETEMILD FH6¥TS5S LBlewa
(P(PS5S6T SlenL_&(&GLbd.

13. e@m puflib 532 LBECFTL g s6T 2_aTerer. SjauT auflnsss
21 LhogT ysear algw SH&s almwilermi. aszamer
aflmsser (pupew QUMD aaTayd WLHMIL 6TSSe6wT
HOSTLIgs6T ZSHSGD aaralb STewts.

Shray: 25
wéefliqeir CopmLiLIg 21532
a=bq+r 42
532=21q+r=532=21x25+7 (112
25 euflensssit (p(pewILMILD ‘%

7 LHOSTL 148567 LSS (HEE L.
14. Qgm_iréflurer @ Wlens ppsseflar CLmESDHLe6T

2 2160 GUDHID eTew Bimiays:.
Biray:
Qgm_i&Swnes Gmilens (Lp(Lp x OMID x + 1 616w,
OL(HEEHE0 LevesT = x (x + 1)
ug 1:  xetediug) 6t QUL enL_LILIEDL_ 61657 6T6015.

x=2k=>x(x+1)=2k 2k + 1) 2 94,60 euGU(HId
LG 2 : X 6T6ITLIG) 61T 6MEDMLILIENL 6T650T 616315
x=2k+t1= x(x+1) =Qk+1)2k+1+1)

= 2k + 1) 2k +2)
2 (2k+ 1) (k+1)
2 o460 euGU(HD
- Qgr_iré&lwnes @rewi( Wewa (p(psaaiet
QUIHESHEOLIEV6ET 2 9160 euGU(HILD.
15. wseflgar augszed aufipannawul tuaTuBiSL 84, 90

wHmib 1206 15.61UT.6u HTewTs.
Biray:

wpdefigest CammLILIG a=bq + 1

90 = 84q + 1 (b #0)
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0=84%x1+6=84=6x14+0
. 84, 90 ev1 15.GQ\lLm.6u = 6.
Guogoitd 120, 6 et L5.ClLim.6u &mevr 120 =6 x 20 + 0
. 84,90, 120 631 18.6Clum.6u 6
16. 32 wHmib 60 gySlweunHiler BIGL, QUTF) @GS d eTers,
d = 32x + 60y eresfled x LOHMILD y 6TETM (P(PEHMETE SHTERTS.
Shay:
wpseiliqesr CammLiLig a = bg+r
60=32x1+28=32=28%x1+4
28=4x7+0 = 32, 60-657 15.6lum.6u 4
Sigmeug d = 4. Cuoeyd d = 32x + 60y = 4 = 32x + 60y
4=32(2)+60(-1) = . x=2,y =1 Sy@Eb.
17. o3 @M OS50S Wens (PU&EseT FTTUST TeRTsHaT
eTeur BImieys.
Biray:
aGaeid Qrewi(® Wlens (P(p&Hs6T x+1, X 6T6is.
(a, b) Wewt 5.Glum.eu (a — b, b) ullest 5.ClLm.6u
(x+1, x) Wesr B.Qumen =(x+ 1 —x,x)
(x+1, x) Wlest B.Qumen = (1, x)
(1, x) Wlewt 15.Qum.6u = 1
S0 X+ 1, X 6T6TTLIEST SMTLIST 6T600TSHEMM(G)LD.

18. Py X P," X P X p™ =113400 @uis, p,, p,» P, P, STELIE
aniaflersuiled gemwhs LST ewTHeaT HMILD X5 Xy X3 X,
eTeiTLIeT (P(p&EaT eTeofled p , p,, Ps» P, OHMID X, X5 X, X,
Sy Fweunnflesr L semers sTewts.

Siray:
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19.

20.

21.

113400

56700

28350

14175

4725

1575

525

175

35 113400 =23 x 3% x 52x 7!

Z_ . P/=2,P,=3,P,=5P,=7
x1=3,x2=4,x3=2,x4=1

~ DWW W

a” x b* = 800 erevrpeurmy jewwowjd P Wlens pps&seT ‘a’
wHmMIB ‘b’ g Srevwrss.
Siay:

800 = a® x b

800 =2x2x2x2x2x5x5

=2°x 57

La=2,b=5(g)a=5>b=2
wpoused 7 wenfléE 100 wenfl CrrsdnGl ineG Corb
6TEUTEUT?

i 4
100 = x (@ 24) 24100
100—x = 24n 96
100 — x 168118 24 2460 euGLID. (100 — 4 = 96) 4

. x e I8&Smy) i 4.
PHLSed 7 wesellseE, 100 weshl CrrsHnEL LInE
Grrb =7 + 4 = poused 11
Hpused 11 wewfla@ 15 wewfll Crrsdneg wery Corw
eT6uT6UT?
Shay:
KHused 11 weshl = 23 wewl
15 wewl Crrsgln@ (pery
23-15=8 (w (@ 24)
Aipuged 11 wenflsE 15 wenfl CrrsdnE wety Cryw
(PHLSEO 8 Wesl.
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22. pse0 10 Quied stemrsermed WSluflesrnl au@GULSEniqw ol

23.

24,

6T6UOT 61517
Biray:
(PS60 10 Quied eTevdIaAT 1, 2, 3, ........ , 10.
10 Qe erevtTaefent 1S.Clum.o
2=2x1
3x1

=72

I
(OSI NS RN N\ IRV, I \S]
X X X X X X

W N — W= N

23

X

2=
32

3
4
5
6
7
8
9
1

0=2x5
L B.QuUIL=23%x32x5x7=8x9x5x7=2520

Firés: Sx =4 (bL_(H 6)
Say:
S5x=4 (b 6)
5x—4 =6k
5x =6k +4
6k +4
x= 5 k=1,6,11,....
1 el _6(1)+4_6+4_Q_2
k=1 etevnled x = 5 5 5
k:6““‘[]&.”6:6(6)+4=36+4=4_0:8
5 5
K= 11 erefled x 6(115)+4:66;-4:7_50=14
Lx=2,8,14, ...

3x =1 (bL_(p) 15) 6TTM) FORTUMLI9.M/(E) 6TSSENET (L(LP 6T6wT
FTa|s6T 2_6TeTer 6Tars SHTenTs.
Shay:
3x=1 (L@ 15) etes1LIEDS
3x—1 =15k, k er6v11181 7CHEILD () (LP(LD 6T6WT 6T(LPSEOMLD.
3x=15k+1
15k +1
3

X
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x=5k+1
3

5k 6T63TLIG 62(1F (LP(Lp 6T6UTT

5k + % 6T6UTLIG)] 62(TH (LP(LD 6T6TTT {606V.

s1euTGou RFFOTUNL 14ME (PP 61657 Site Bedenev.
25. girgs: 8x=1 (bL(p 11)

Say:
8x=1 (b 11)

8x—1=1ln=8 =1ln+1 = x= 11"8”
n=5=x=7
n=13=x=18.......
26. Sirda:3x—2= 0 (L@ 11)
Siray:
3x-2=0(wl@ 11)
3x-2=11k
3x=11k+2
11k +2
w2 s
K2 ey~ HD+2_22+2 24
3 3 3
=S erafley ¢ ) +2 _B5+2 57 o
3 3 3
L8 el LB +2_88+2 90 _
3 3 3
x=28,19,30, ......
27. 2% a0 17 60 au@&HEWOLTE HevL_&@G1b 15 smewrs.
Siay: 30
PALE () Ca— () [ 2°=512] 17 512
2°=2 (b @ 17) 510
()= 28'=(2) (b @ 17) B
=2 (b® 17)

S 158 2 gu@Lb.
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28.

29.

30.

31.

67 +x=1 (L1 4) TRTLISH(S LT (H5ESSHTalq W (GHEODHSLIL&F
flens x-208 SHrewis.
Biray:

67+x=1(bl® 4)

67+x—1=4n

66 +x=4n

66 + x 6163TLIG) 4 63T LOL_MBI(S)

66 o el gySlaiones 4 & L_EIE 68.

sT6uTGeu X 63T GODHSULF SILIL| 2 3y @Lb.
Sirés: 5x = 4 (L[ 6)
Siray:

S5x=4 (b 6)

5x—4=06n

5x — 4 et6v1L1G) 6 63T LOL_MI(G)

- x eu1 5&8m) iy 2 gy@. (- 5(2) —4 =6)
o feaflor grEifer s aflmauiled 20 BmsamssEnLd
Qurgzw 30 auflenssEpLd 2_eTerar. SI(HS5SHSS spaibleum(m
aflosdlguw SisH@ whmzgwu aflmsmu el @rew(h
Bmsmasar FnHeons 2 ererer. somLdl  aflemsuiled
TSSMm DHSnssaT Q(HHEGL?
Shay:

W&o 2 My a =20

Qungy elgHunewnd d =2

. seoL8 auflewgulled 2_ater G maenaaeile sewrenilsms

t =a+(n-1yd

t,,=a+29d
=20+29(2)
=20+ 58
=78

-11,-15,-19, ... stawtm FaL_(HS CQFr_ireuflensulier 19 gy cuz)
2_mILienus STewTs.
Shay:
L (DS Cam_fle n-eug) 2 mitiL
t = a+(n-1)d
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a=-11;d=-15+11=-4;n=19
ty, = —11+18(4)=-11-72
t, = —83
32. 16, 11, 6, 1... eTeern &l -(Pg Cm_iteuflemasulled —54 eTerrLig)

TSSMETIITEUS| 2 MLIL|?

Say:
l—a
n= +1
d
a=16;d=11-16=-5;[=-54
-54-16 -70
n= +1 =>n=——+1 =14+1
-5 -5
n=15

33. 9, 15, 21, 27, ..., 183 erevip Sal (& Qsrireuflenguilesr m(H
2_MILIL|SE6TE STCUTs.

Biray:
a=9,d=6,1=183
l—a 183-9 174
n = +1 = +1 = — +1
d 6 6
=20+1=30
515 peugle mitib, 16 gpeug 2 mitiyw k(h 2 mILIL&EeTTGLD.
t=a+(n-1)d
Sty = atlad t, = atl15d
= 9+ 14(6) = 9+ 15(6)
= 9+84 = 9+90
= 93 = 99
.93, 99 ererien Q&anL (DS Clgmit euflewaulles m®
2_MILILSETTGLD.

34. 3+k, 18-k, 5k + 1 ereiueneal @ daL-(HS Qgrireufleansuiled

2_aerewr eresfled, k-uflesr I Hrevwts.

Biray:

3+k, 18 =k, 5k + 1 etev1iemeu 6(h dnl (DS Qg_iteuflens

L=t = -t
(18-k) - (3+k) = (5k+1)— (18 -k)
15 -2k 6k — 17
-2k-6k = -17-15
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-8k = —-32
k =4
35. 729,243, 81,..... sterp QLSS QTit cuflemsuilesr 7 eug
2 MILIOLIS SHTCwTs.
Biray:
n gpeugl e Mty t = ar™! 243

t:729><_><l><1><1><
7 3 3 3

1
X —
— 3
t=1.

Wl

36. 5, 15, 45.... etevrp QUBEHGS CFTirauflemsuller wzed 6
e miiyseflar sa(Hi5ed srewrs.
Say:
a=5r1= % =3,n=6

n_l 6_
s - A’ g 5@-1)
n r—1 6 2
_ 5(129-1) _ 5(728)
2 2
= 5x364
S = 1820

6

37. x+6,x + 12 wHmibd x + 15 eretueT @b QUMmSEGS Asmit
aflevsuilesr Qgr_iréflwrer epeml 2 miiLserT ereufled, x-evr
wllienLs sTewis.

Say:
x+6,x+ 12 wHmib x + 15 ereiiies e QLBSGS CHTLTT euflens
L x+12  x+15
4 L, x+6 x+12
(x+12)* = (x+6)(x+15)

X2+ 24x+ 144 = X2 +21x+90
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38.

39.

| Ansmar aflarmsser &6 s enLar 2 LIS

1.

24x -21x = 90-144

3x = —-54
54
x = — —
3
x = —18

oM Oums®s Osri aflmsdar wzed 2 muy
a = -7, vpm Qurg al#lzw r = 6 aefled CLBMEGS
Qsrirauflngemnws srewrs.
Shay:
Wse0 2 My a=—7,
Qung ez r =6
QumE&S Ot euflens = a, ar, ar’,...
.. Caemeuwnes QUHSEGS Qi euflens = —7, —42, -252
7x5x3 %243, eraitig] (I LIS eTewtewtn? 2_ang) aflen_enw
BwruiLG\$sis.
Shay:
Tx5x3x2+3=213
213 et eT6W8TEWED 2 6116 ROvSEBISENETT Fn (D60
=2+ 1353156
6 eTTLIENS 3 EUGEHGLD
. e1es1Geu 213 g5 eu@d @ “3”.
2. 213 LS 61611 H606V. ) 62(TH LI(G) 6TEUTETITT(G)LD.

& Bimjeuerd 25 Qg masafled Clgg.semer B S 1L
a0 Czmealled 1 GQequud, Prewiras O meled 3
Qequud, eperprag Csmaled 9 CFquud B (Wgey
QeuwiulL g BeaiCaimer BlewpeusnLw  THHEH6T
Q&6 Cxemeu?
Siay:

Bs1 @ CumEEGS Cgn_ieuflenswmnELb.

a=1,r=3,n=25

n__ 25

a('-1) -1

S =
. r-1 2
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2. %, - %, 1, -2, .... eteip QUBSHGSHS QTLiT euflensullesr

106ug) 2-miLIWLIS SHTEwTS.

Siay: 1
6V 2 ML = —
(Ca:3 MUy a 2 1
) _=
Qung g r= = = T2=—2
i p=VPar Gt b =
th = ar’ 4
1 (-1)°.2°
= 22 =S =y
4 4

3. 21, 18, 15, .... ereip &l (DS Qzrit euflenguiled —81
aggemerureug 2-miy? GCouw BEsaHiSCFTLiT
aflesuiled 0 @if 2MULITGLT TaTUMS STTERTSI]L6ur
afleré@s.

Siray:

(PS60 2 miuya =21

Qung efgdwnesd d =3

s 2_miiy [ =-81 e
2_mliL|sefle sTewTentlsensa, n = TH

{—81—21} {—102}
= + = | —— |+
-3 -3

= 34+1=35
o =81 e168TLIg) 35 QpeuGl 2 MILIL Y GLD.
Gueod t = a+(n—1)(d)

0 =21+t+(n-1)(3)
0 = 21-3n+3 o4
3n = 24 =>n=—

_ 3
n = 8

" 0 e1651Lg) QHTHSSILL L Fal (DS GG iTeuflengullesr

8 eugl 2 MILIL| Y GLD.
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4. @M sl (HS Ogmiteuflensuiled t  —t , = 32 ereofled ygeur

Qurg allsHursSemnss srewnrs.
Biray:
b=t = 32
t=a+(n-1)(d)
(a+17d) - (a+13d) =32
at+17d—a—-13d =32
4d=32
d =8

[urpimcor ctomosi] oA
1. #5360 snewrs. 51 +52+53+...+92
2. a(Ds6d srewis. 9°+ 10° + ... 21°
3. vy snews. (i) 1 +2+3+...+50 (i) 16 +17+18+ ... +75
4. P+ 22+ 3+ . eresip Qgrfer eiggemen 2 niliLsemens
FaL 1q.60TT60 Fn (D60 14400 HlewL_s@HL?

1+ 114111 + ... n 2 mIIL56T euemy Sn(hSH60 SN6wTs.

o v

. E1psaeniL Clgn_ieuflengser eeibleurssmad n-eug
2 mitiy GsrssLuL(Derengl. led @GN LiuL (Heier
2_M|LIL|SH6EM6NTS SHT6TT8.

(Da = n-:ZZ ;a wpmiba, . (i)a =- (n’>—4);a LOHMID A,

n2 _1- . @ . - N
o 13 O @r_eL eewne
n 2
;6 eeMemm 616w nEN
2n+1

61TLIZ] N-6ug) 2 MILIL| 6T6dM60 a, LOPMILD 2, ; HIETTTS.

8. a,=l,a,=lwppba =2a  +a ,,n>3,neN,eefe,
Ogn_it euflenaullest (LpFHed NI 2 MILIL|SENETS ST6sTTs.

9. &G Qar(hi&sLILIL (6o (PGed 2 MLiL| a HmID GlLing)
ellgHunegd d-5@s QS0 euflengsenens sresrs.
(euleunerTmyd)

1
(i) a=5, d=6 (i) a=7, d=5 (i) a:%, =3


https://www.cbsetips.in/

X 6 BaHE www.Paddsada). Net

10. x, 10, y, 24, z erevienen @ Fnl (HG OCFmieuflensulled
2_eienent 61638160 X, y, Z, Sy Sweunmlest S| srewTs.

11. —11,-15,-19, ..... e1651D ol (HS CFM_ieuflemaullest 19-6ug)
2_MILIenLIS SN650T8.

12. Yesteumeussieunilest dn(Hgeo srewia. (i) 3, 7, 11,.... 40
2_miuyset eueny (i) 102, 97,92, .... 27 2 mILiL &6 eueniy
(ili) 6 + 13 +20 +.... + 97 (pevOleunsiimiLd)

13. 3,015432, BRI etevip Olgm_ireuflemauilest 15-eug 24-eug
LOHDID N eug 2 MHILIL(QUNG 2 MILIL]) SHTewwTs.

14. 3,6,9,12 ...... 111 616510 Fnl" (DG ClBML_iTeuflenauiled 2 6imen
2_MIIL|56M6T 6T6utTem IS sHenUId: STeuts:.

15. 16,11,6,1 ..... 616310 dnl (D& QFTL_iTeufemnauled —54 e16vTLIZ)
615SEDETTUINEUG] 2 MLIL|?

16. £Cp Oar@ssuul(Perer  (PpHd 2 MLy LHMID
Cungeilflsbd 2_enLw CLmHSES ClFT_Teuflengulles (a0
ELPSITM)] 2 MLIL|GHEDEM 6T(LHSIS.

()a=6,r=3 (i)a=+2,r=+2  (ii))a=1000, r=

17. Qevteupd  QumsEs  Csrieuflesulled 2 eten
2_miLiL a6l eTentTenNsengmanuis sHresmis. (eibleurenin)

()4,8,16,...8192 Gyt i Lt 1

3 9 27 2187

18. wh&elliq 6t 6u@S560 euLdl(penmenwt LiwtesTLI(hGSILI
Wevteu(meussteumilest LS.QlLim.eu sressts. (epeubleumesimyb)
(i) 340 whmitd 412 (ii) 867 whmutd 255

19. 13824 = 2% x 3 er6led a WHMLD b-ulest LIS SHmewsra.

(NN

20. 445 P 572-31 GHHUEL L eTewTemed 61ESHEHWELITE)
weopGw 156 4 wHMID 5-33 Fréemiquw  WasLGLflw
CTETBTENETVTS HEToTL NG,

21. @meuir CleaenssuiledBng CL606dls@E Clgsien @rulleded
Uouu@&pnr. eull Seuig LWemSHmSL LSTEIpenio
22.30 wenlée@s Cam_mi@Gdnri. sthzeailss snogpblem
@ruiled QFedeugTHS ClatewTLTed GlrEsL Lweswst Crrb
32 wewil Crub oy@Ww. euil erCLNIPE GlLededlenws
QleesTmEnL_6umiT?
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[ Agwe nemsssi] 2 opiQuetac

1. 22% 0 17 o460 UGS HevL&@L 8H wng?

2. 3P -3 aerueng 8 Hulles eu@é@ELd eTewT wingy?

3. epeiimy LST eTewisaTent Fn(ed 100. eummled e(H
61681 MG 6TEwTENewsTS ML IGEVID 36 S 6T6red
216110\ 6LI6TTSHEDETS: SM6TTTS.

4. 12,15, 16 o460 eu@s@ Gung) (pepmGui 7, 10 wpmid 11 g
BHwnass smHw OSEFAHIW eTemTenewwTd: SMewws.

5. @ @l (s Qi euflemsulled "p" 2 mliLser eueny
TSI "q" 2 MILILS6T eUenT Fn (DS 66vTH) 616860 "q"
2 MILILS6T euenT Fn(HFH60 HTewis. QEIE, p # q.

[5 ogpiouos cramsod] Sofseton

1. 5+55+555 +.... ereerp Qgrireuflensullesr (psed n
e miuseflear sa(HFed srewrs.

Biray:
S, = 5+55+555+ ...+ nenliyseT euenr sn(biged
= 5[1+11+ 111+ ... + n 2 piiys6T eueny sa(hS60]
= g [9+99+999+ ...+ ne miliILs6T eueny S (hSev]
= g [10-1+100—1+1000—1+.... n 2 mIlIL|&6T u6enT]
= g [(10+100+1000+...)—(1+1+1+...)]
10(10" -1
_ 3 Q_n = 5_0[(10" —1)]—§n
9 9 81 9
2. 3+33+333+..... n 2. MILILS6T U Sa(hS60 SHTCwrs:.
Shay:
S =333 HS38ck\l.. n
S, = 3(1+11+111+....+ n 2 mIILs6T euen dn(biFH6ev)

(9+99+999+ ... +n 2_myliL|56T 6w Sn(HS560)

3
9
g (10-1) + (100-1) + (1000-1) +..+ n 2_miser
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3 auemr Fa(h560)
= —(10+ 100+ 1000 + ... + n 2 mIIL&6T euemry)
9 —(1+11+ 111+ ...+ n 2 nyseT euenr)

3 L 30, ., 3
at —{10(10 1]_,1} - 5,10 Pgdes

9 9 9

3. 0.4+ 0.44 + 0.444 + ... n 2 MIILSET QUMY Fa(HS60 HTEVTS.

Shay:
04+044+0444+ ....... n 2_MILILS6T UeDT Fa(hSH60
4+44+444+ n 2 MILUILIG6T 616D (h&60
= —4+—+—+.. U
10 100 ' 1000 DiHH® e
=4 i+£+£+ n 2-MILIL&6T 6UeDT Jn(hF60
10 100 1000 o ?
_4 3+£+&+ 7 2_MILILS6T 6U6mTT Fan(H&H60
9|10 100 1000 " FOHH X

4 1 1 1 . .
o [ B e (e P,
9 10 100 1000

aUenT Fa(hSH60

[(1+1+1+...nag)_||;||_|556f1)(1 !

o~

—+—+——+..n
10 100 1000
2_MILILS6T 06D Sa(hSH60]

(LY
oAl Pt 10 _ 4l 1 (1)
=—|lpn-——| ——2|| = o|n—=|1-| =
9| " 10/ , 1 9" 9" 10
10

4. o360 Smewwrs. 157+ 167+ 17 + ... + 287
Shay:
1524+ 162+ 177 + ... + 282
=12+22+32..+28%—12+22+3%... + 147

28 14
=-> 3 -3
n:1 n:l

_ n(n+)(@2n+1)  n(n+1)(2n+1)
6 6
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28x29x57 14x15%x29
- 2x3 2x3
=14x29%x19-7x5x%x29
=7714 - 1015 = 6699
5. Uereumd Qgr_fer sa(hFenens Srewrs.
103+ 113+ 123 + ... + 203
Siay:
10°+ 113+ 12° + ... + 203
=P+22+33+ . 4+200-1P+23+33+..+9°
20

9 2 2
LY -y - [n(n+1)} _[n(n+1)}
n:1 n:l 2 2

_ [20><21}2 _[9 ><10}2
2 2
=[210] — (45)°
=44100 —2025 =42075
6. Crarailb 10 Q&.15, 11 Q&.5, 12 Q&.15, .... 24 Q&.15. sTesrm

uSss gjeraleTer 15 FHT augel TS STHSEISHET
e otorer. QDB cuewiewrd Snlgmisemers Osmew(H
sTalalera] LITLIenU iS55 Sieomsfl&s (pigub?
Siay:
QaT(&sLILL(D6Ten 15 8&IT aulq .61 66u8T6wsTs STElGmISaT 68T
L& ereysst 10 Gl&.5, 11 Q&.15, 12 Q.5
Qe Uiy = 107+ 112+ 122+ ... + 247

24 10
-2 -3
n:1 n:l

(124224324 .. +245) - (12+ 22+ ...+ 9
n(n+)(2n+1) n(n+)(2n+1)
6 N 6
24 x 25x 49 3 9x10x19

6 6
4900 — 285 = 4615 Q5.8
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7. ps60 N Buwed stemtaafler sarmsafler snHiHed 2025 sresfled
n-uflest IS Srewts.

Shay:

(PS60 1 Qw6 eTevtTHATENT SHevTBIGATET Fon(DG60 2025
P+23+33+ .+’

[n(n+1)}2
2

n(n+1)
n(n+1)
n*+n-90
(n+10) (n-9)

n

= 2025

— 2005 = 29%;32 - 2025

45
45 x 2
90
0
=0

= Q9orn=-10
.n=9

8. 3003w 6006Ew P Cu 7 4ed GUBHIL JMeTSI
Quwed cremrsafler Gn(hS60 Smewrs.

Biray:

301 +308 +315+ ... +595="2
a=301;d=7;1=595

n

n

n
n

[—a

+1

595-300
—_—+
7
ﬁ+1
7
42 +1
43

1

S43

9. Ufiged eriremevetreny aflivrersHed
ewiLer  ClFedeoL
werflGEr. allorerd garg LuaTSams Eruildnisslipento
23:30 wenfla@s OCsT_mdlug. Osaremeruilar H
Curwreng eoewiLeaflar gL Crrsemzgeail 4.30 wewfl
Cood erersns Q(msG06weafled, afllorerd evewrefled
seoruilpEiG Crrsmss srewrs.

LwesTCHrLDd

n

—(a+1
S+l
%(301+ 595)

43

=2 (896
5 (896)

43 x 448

= 19264

Qessrenesruiled(HbS)
Czrrmuwors 11
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10.

11.

Shay:

2330+ 11 =x (oL@ 24)

34.30 = x (L@ 24)

3430 —x =24n

34.30 —x e1evTLIG) 24 3160 UGUHILD 6T6vle0 xevT EEFSIM)I LIy
10.30

evewTLedlesr Crronesg QndHu CrrsHedmnba 4.30 (pevr
6T6UTLIG 6D SXILOMEDTLD

evestTL_63le0 Fenpullrmig Crrd 10.30 — 4.30 Smiser
WPHUSed 6.00 wesTlum@Ld.

Uiflur gerg (psed wrg aimbworeTors 315,000 FL(QSpmiT.
g UnG @altaurt syeni(hid Sjeurgl 1org QI@HLomeTDd
%1500 2 wirdlpg). jeuEnemLIl (PFed ry Fevea] 313,000
HMID Sjeuerg WISTHIITE G| palCleurT 9)ewmT(HID
3900 2 widlpg. Uflwreller wresdlré Csdliy 320,000
DML 6TEIRIOTR| STEVLD S ?

Shay:

1 eupL-Ld 2 eu(pL-1d
QI(IHLOMEUTLD 315,000 316,500
Qzevay 713,000 713,900
Caufliiy 32,000 32,600

- aumL Gafliy 32,000, 32,600, 23,200 ...
@i a=2,000, d=600,t =20,000
a+t(m-1)d =t

—  2000+(n-1)600 = 20,000
= 600n — 600 = 18,000
= 600n = 18,600
186 X
= n = ?:n=3lm@gm5m

31 eupLEIBEBHSE L@ Lflwreles GallliL 320,000 oy @b

om mpur 10 euwmmsefled 16,500 g GCallaspm.
ealtleur®m amLWL i Collagw Ogremswurearg
SISNGS Phmzw amLLd CallsEw Cgrasamueail 3100
31F51d. QT (P60 aumbLLD eTaleusTe] CallsSmLiLmiT?
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Shay:
Srl =316,500 d=%100,n=10

n
S, = 5 [2a+(@-1yd]

n

- %[2%9(100)] = 16500

= 2a+900 = 222
= 2a = 2400
Soa = 1200

. Sjeui (p&e0 et Callss Liewid em. 1200

12. Aflw seorCurHsmers Oasrewr@ 12 I USS
Serayerer FUSS (W&ECaTer FarCur@ser (Mosaic)
SmwsSLLUGEDG. Sunmled 2eter  @alCleur
sorCurib 12 SmiEG Seraileorer FoLss (p&HCaTeswr
ageailed 2 arerg). fAflw seorCurseafler euewrewTEIS6T
uLgdled srewrLilsasliLL (heterg Cumeo wmfl woml 2_efTeTer.
et emTiaTSIRun 2eoter  FerGurBasefler
aentenflsens wHmb CHETHSSUIULL. SjenwLiiled 2 arer
Qurgs semrGurhsefiar aerrenflésamns srewrs.
Biray:
SeorCwnaeT oyesig 12 9. LIS jereeier
FOLSS (PSCHTETTLNSA|LD LHMILD 661Gleum(F Aflwi
SerGurib 12 EiIGeo (1 3ig) LSS Sienesier
FLSS (P&HCaTEmTLNSA|L FHLILISTE BBS SiemLiled
12 auflengsaied ANw seorCwnrser b &sL
UL g (HSSlevTDeut.
UL 5Semhg eiteunm euflensullebd 2 6em Gleusiener
Bln senrGur@sefen stewenisens 1,2, 3,4, ....... ,12 e16vTLI8)

R Fal (NG Cgr_ieuflens etesr Mlweomd. &
©31Gumev aiIGleun(h euflemaullenid 2 6o T
oo Bl senrCuinaseiler srewenilsena m
0,1,2,3,...., 11 er6s11G (1 FnL (NS
Ogr_euflengwin@Lb.

bev Kln FenrCuin(hsefe srevenigens
= 1+2+3+.. +12
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13.

- % (1+12)=78
8 = %[aJrl]
oo Blp senrCuinaseile srewenilsena
= 0+l +2+3+...+11
12
= S 0+1=66

Qorgs seorCwnhseme cewTenlsens = 78 + 66 = 144

Sp S, Sy eeees , S eteiuer m QauaiCam LB
Qzrireuflensseflesr n L@juqamﬂm Fa(HBOMGLD. (PFHEO
e miuyser 1,2, 3, ..... m wpmd Curg eflsFlursriser 1, 3,
§ANVNY (2m-1) @,pmg)Gu.l S|MOBHSTEV, au_ir,gl, Fal (DS QHmLir

aflensuiled S, +S, + S, , ......... +S = — mn(mn+1) eTesr
. m 2

BlpLiss.

ghex n n
= M)+ (-1 o 8,7 S [2a+ (n-1)d]

S, = g [22) + (n - 1)3]
=2 23)+ (@ -1s]
- g [2(m) + (n— 1) 2m — 1)]

S8, 48, . +S
= L pa+243+ . 4m)+ (1) (1+3+5+ ...+ @m-1)]

2
= % [2 M + (n—1)m?]

n n
= E[m2+m+m2n—mz] = E[m2n+m]
= % mn [mn +1]. -~ BepllssliuL L g).
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14.

15.

a, b, ¢ eTaTLRT M Fal(HF OsTiTauflamsuiled Sjemouyd
eresfled 37, 3°, 3° e QUBSHESS AFT_Teuflensuiled Siemouyd
sTauTs ST (hs.
Shay:
a,b,c eTeviLIeN 6iT Fnl (DS OFML_iTeuflene eTevilev,
L=t = 4G
b-a = c-b
2bU =Ya+tc 00 WNRANWLYT ST (D)
3%, 3%, 3¢ e1eTLIen eI QlLIHEGS QST iTeuflens steut H(mLI&s
GeuestT(HILD.
Goeitd a,b,c sTevTLIoN 62T QILIHSEHS C\FTLTeuflene sTerlle0,
t

_ _ 5 b ¢
0 = a b
b> = ac
(3b)2 = 32 3¢
— 32b — 3a+c

=~ 3% 3%, 3¢ o QumEESOsTLit euflensulled gemowjib.
fleuvenfl om uenflssrer Crrsrewrelled LEGsHADTIT.
SibPneeTd JaumsE Drewt®H allgwrer auriliLsamer
QUPEIGHDSI.
QML A: (pS6d g 2erglud 320,000 wHmHID BlEFWLOTeT
6% Spewi(H 2l 2 wite] 5 M (HSHEHEHS
eumiLiy B: upsed rg earglubd 322,000 wHmib BlEFwmes
3% opewi(h) 2l 2 witey 5 g, eRT(HSHEHSHS
A wpnid B sl @@ eumiliysefleid Sieumeniu 4-eug
QUL 20D eTalIAIETR|?
Say:
eumuiLiy A: P=%20,000 r=6%

n =3 (4pd 46w1(H

r 6

3 3
A = P(1+—) = 20,000 | 1+—
100 100
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16.

17.

= 20,000 (@T = 20,000 (1.06)°
’ 100 ’ '
= 323,820
eumuiLiL B: P=%22,000 r=3%

n =23 (4" Year)

3
A = p(1+L)
100
3 3
22000 (14-3) = 22,000 (ﬁ]
100 100
22,000(1.03)*
324,040
a, b, ¢ eTaTLT @M FaL(HF OgT_iTauflamsuiled 2 erer
warm HSs5HSS -mLLseT WLOHMIWD X, Y, Z 6TETLI6T
G ueses Osriadlmsular wam OS50S

2 miiserr erefled x"¢ x yo x 22" = 1 erewr Mimieys.
Biray:

a,b,c eretTLIEN H(NS5SHSS QUHLD (M Fal_(HS
Qgrieuflens

a=ab=a+d c=a+2d

Guoeid x, y, z sTeties S(DSSHSS! (B (H CLHEHGHS
Qgrieuflens
x=a,y=ar,z=ar
LHS = xbfc % ycfa ~ Za—b
— a'a+d—a—2d x (ar)a+2d—a % (arZ)a—a—d
= gdx 242 d 2d
= g2y 42d 5 24 2d
= g2d¥2d  2d-2d
= a'x’=1x1=1
S,=k+y+ CHxy+y)+ @+ Xy +xy’ +y) + .o
X (x"-1) y(y"-1)
x—1 y—1

2 mIiyseT euenry srefled (x—y) S =
eTeur BImieys.

Biray:

S =(xty) + (PHxy+y?) + (CHly ey +y?) + ....on 2_MmILIL&6iT
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= (x-y) S, = (x=y) (x+y) + (x=y) (Phxy+y?) + () (F+y+ry?

+y) n 2_mILIL &6
= (x—y) S, = (2y?) + (Hyd) + (yh) + L nepiiygser
=2+ +xt+ . na@juqasm)—(y2+y3+y4+ ...... n
2_MILIL|&6T)

P a=x,r=x  @mE a=y,r=y

2¢.n 2 n_ n -1
ly)s = FED FOT) g ab D)

! x-1 y-1 & r—1

BlepLssliuL L g.

18. @m OQzmeleater aiHaEpsiE 1 Psed 49 ey
Qgriréflunss sgealleossb aprisiuL (Hearerg). Clenhsledler
aflyn@ wearargrs 2 arer aihsaflar sgaleossmsefler
sl (HFOsmemawrerg Ospdlelear aflunEl Ulerarsrs
e et efhaeflar ssalwssnseflar sl (H50TnssHEGE
&b ererfled Clepdlefler afl (H& ssallovsssmss sremnrs.
Biray:

Q&FhHed 6L 1q 68T &HSH6)| 61651 = X 616015
14243+ . +(x-1) = (e+])+(+2) + ... + 49
14243+ +(=1) = [1+2+3+...+49]—[1+2+3+...4x]

O ey = 2o Xy
2 2 2 n
Sn= E [a+l]
x(_x—]_) _ 49(50) x(x+1)
2 2 2
X—x = 2450 —x*—x
2x2 = 2450
x> = 1225
x = 35

. Qendled el 19601 &56| eTev0T = 35
19. 3+6+ 12 +.... + 1536 stevtp QUIBHSHESHS CSTLflevT Fn(PS60
STEWRTS.
Siray:
3+6+12+....+1536
a=3,r=2, t = 1536
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[ 60 | Fo Tl eees © &Wﬁ@ﬁﬁﬁl@i-'\let
ar™! = 1536 320 -1
32 = 1536 S0 = Yoo
3(2I)1“:1 = 3§2)9 = 3(1023)
20patE = 3069
n—.lg _ a(r" -1

20.

21.

(BT FTesT Quf_tr:)pl?65,000 sLenes LS Qsa)sSs
560 g 400 CeeyssFmNi. Jgar LInG eaiteurdm
LIS  (Phmgw LIFw OCFYFSumg all. 300
Fa(HBeonaE CleSFIFIDNT. ST RHES5S ST JL55
eTalaleTe] Sreold CsameuliLi(ib?
Siray:
400 + 700 + 1000 + .... n wrgmigeaT = 65,000
a=400,d=300,S_= 65,000

g [2a+(n-1)d] = 65,000
= 2800+ (n-1)300] = 65,000
= “n[400 + (n-1)150] = 65,000
= n[150n +250] = 65,000
- nBn+5] = 1300
= 3n’+5n—-1300 = 0

65

= n=20,—? S.n=20

QWM BUT @b Binearsdle siemewr Gueorerrral uewfluiled
Geirdlpmit. SlQUMHSHES SBBIMIQIT (PFEO LT erSWIOTS
360,000 euyr@Sng wHMWL i mFu 2 wirey
5% eupEHI@ZTS QUUSQsTEIDg. 5 e Wigealed
SlQUHEMLW 1oTG 2c0Fluwild eTalaueTa|?
Biray:
W36 g 2erdlwid = 60,000
2p6uT(D) 2Tl 2_wite] = 5% 5
1 oo (pigailed 2ardlul 2_wite] = 60,000 x 100 ~ 3000

A= P(1+ LJ = 60,000 (1+ i)

100 100

n

5
= 60,000 (10_5)
100
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= 60,000 x (1.05)°  ~%76,600
22. I (hSsr_irauflenauiled gemwbs HS5SHSS epeaim
e miseaflar saHBed 27 wHnID JjeunmleT QLbBSSHLIIET
288 e1arfled, SibG eaTm 2 MILILISMETS HTERTS.
Shay:
FL (hS Qgr_iteuflengulled emwhs HOSSOSS ePevTn)
2_miuyser a—d, a, atd eteurs.

PPN 2 MILIL|S66ET Fn (D160
a-dt+a+atd = 27
3a = 27
27
L
3
a=9

pPETTM 2 MILIL&6fesT ClLih&SMLIeV6sT
(a—d) (a) (a+d) = 288
a(a>—d?) = 288
99— d?) = 288

81-d*> = 288
9
81-d> = 32

49 = & d==7
- Sl (DS Canieuflensuiled iemHS P 2 MmLIL|S6T
=2,9,16 (<)) 16,9, 2

I Angmar allarmsser e s @nbLar 5 w&I6LewIS6T

1. @m® Qum&es CQzr_iraflmsuilar 9 aug 2muy 32805
wHmid 6 eug 2miy 1215 eeafled 12 aug 2 muemus
STEwTS.

Shay:
t,= 32805, t = 1215,t,,=?
t =ar"!
S S
t,=ar" =32805 ... (D
t=ar’=1215 ... (2)

e () A’ _ 32805
D*@ 75~ 115
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[ 62 | Fo Tl eees © &Wﬁ@ﬁﬁﬁl@i-’\let
r=27,r=3
r-sb"r wdllienu (2) 60 rui,
ar = 1215
a(3)’ =1215
ax 243 =1215, Se
a=5 243
a=5r=3n=12 t,=503)""
ey ar™! t:.15 5(3)!

2.

3.

" 12 6ugl 2 miy =5 x 3
9 260 UGUOID ImaTSF epaTlenss Puied erewtsefle
Fa.(HSH60 HTERTS.
Biray:
9 o160 UGB eetidlevss Buied eTestraaT
108, 117, 126 ...... 999 oy
Seupmlest sn(Bgeo 108 + 117 + 126 + ... + 999
@rig a=108,d=9,7=999

_lza Sn=%[a+l]
_999-108 100
g T Si00 = = [108+999]
_ 81, =50 %1107
-9 S, = 55350
N1 S 0 = 53350
n = 100

o®m saL(h$ Asrii auflmeuled p 2 mysaflar saBFed
ap” + bp arerfled iger Qung alsHurssmas srewrs.
Siray:

S p*>+bp
S p 1 - a(p_1)2 + b(p_l)
= S — S

2 oo+ bl

= ap’+bp—[a(p®+ 1-2p) + b(p - 1)]
= ap’+bp—[ap>+a—2ap+bp—b]
= ap2+bpfap27a+2apfbp+b

t = 2aptb-a
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t, = 2a+b-—a

= a+tb
t, = 4da+b-a=3a+b
d CSd e

= (Ba+b)—(atb)
= 3a+b-a-b=2a
4. em FaLHFCZTiT euflmsuiler "m" gyeug 2 miy "n"

eTeayd, "'n" Speugl M "'m" aerad ClsrewTLTed ""p"
QeS| 2-MILIL| SHTEHTS.
Biray:

t =at(m-1)d=n ... D

t =at(n-l)d=m ... (2) e160755.
swaLn® (1), (2) 6 Bwbsl

(m—n)d = n-m

d = -1
Guoeatb a = m+n-1 = mtn-1-p+l
t = at(p-1)d t = m+n—p
—m+n—1+(p—1)( 1) p@‘bmgj 2 MmUY m+n—p

5.3 @b 24 @1 DL Bu Iym eTERTHMmET 2 (HUTEGL
QZTLiT, SaL_(HSOSTLITES e auensuiled er(pgis.
Siray:

A, A, A, A, Ay bDMID A, eTetTLIe 3 &G 24 S@GLD
BenL_uled ewoBHE M ETETTSST eTevIayd. 3, A, A

A, A, A, opmid 24 flue @m Fal HSOIST T
SIMEGLD 6TevTa LD Cl&meNTs.

@mEEa=3,t=24,n=38

st = at(n-1)d
24 = 3+7d
7d = 21
d =3
A =atd=3+3=6 A,=at2d=9
A,=at3d=12 A,=atdd=15
A =at5d =138 A =at6d =21

3 &@b 24 &G QenL_Guw HewLou|d LM 6TETTEH6IT
6,9,12,15, 18, 21.
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6. 3,5, 0pmus S, auas 9 " @ues oo, sl
QTGSESeT LOHMWL Seupiler SarrseT oyslueuniler
Fa[Be0 sterfled 95 7 =S (148S,) erewr Bimyeys.

Shay:
Al oonn . . . o n(n+1)
S, = &0 "n" Quwied eTemTEsNeT Fa(HGEO = —

2
S, = psed "n" Guwed erewiesies
~ OB @fl“ O (n+1)(2n +1)
QUTSHSEIGATET Fn (DGO = o enARE
S, = &0 "n" @uied eTewTEseuT pniD) T
S6UTIIEIS 6T 6TT &;®g,66=[ > }
BlemLN&s: 98 = S, (1+8S))
N g2 = n*(n+1)°(2n +1)?
: 36
n®(n+1)*(2n+1)°
LHS=9S? =
5 36
1
= an(n4r1)2(2n+1)2
1488, = 1+8”(”2+1) = 1+4n(n+1)
n(n+1) 2 5
RHS=S,(1488)) = | = [1+4n+4n]
1
= Qo)

L.H.S = RH.S #fluriésiulL_g.

7. @M FaLHS0srii eflmsulled wzed n emysefler
Fa(hpe0 nP + %n(n-l)Q. Srig P, Q wrfledlsar eresfled
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Spsarad PmURF FORTUTL NG epeorisaflar snHFe0

HHID CILIHSSHLICVET HTewTa.

3y’ -y-4=0
BTy

3y?—y—4=0

a=3,b=-1,c=-+4 5
PPEVEISATENT Fn(DF60 LivesT  =a+ = —— =

a

. . AR . c 4

PLPEVRISEMETT OILIHESH6E0 LIeV6sT = off = g

Uesraumd @muigé swerum_iger epeomiserfler
SETMWOWS Famis. 1537 + 11x+2 =0
BTy

15 +11x +2=0

a=15 b=11,c=2

A=b*—4dac

=112-4x15x2=121-120=1=(+) ve

. ALPEVEISET GlLOUl LOMHMILD FLOLD S606V.
Uereu@pd @mUig& swarumiqer epeomiseaflier
SETDOWS Famis. x> —x —1=10
BTy

¥ —-x—1=0

a=1, b=-1,c=-1

A=b>—dac=(-1-4(1)(-1)=1+4=5
. QPEVEISAT IO LOHMILD FLOLD B606V.

QarH&sIULL. FRTUTLIGET ePeEISeT Glowl HmIL Fowb
ereufled, k-ullewr wFIwUS smewis. (Sk — 6)x* +2kx +1=10

BTy
5k—6)x*+2kx+1=0
a=5k—-6,b=2k,c=1
PLPEVEIGET GILOUT LOHMILD FLOLD 6TETTLIGTE0
b>—4ac=0
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(2k)*> —4(5k—6)1 =0 = 4k> - 20k +24 =0 + 4
K2-5k+6=0 = (k—2) (k—=3)=0
k=2 (s k=3
22. smyenfilLBSSe0 wenmulled irss 2x> —2/6x+3=0
BiTay:
2%~ 26 x+3=0=2" /6 x— /6 x+3
(5@ 2-mitienult fse)
= 2x(\/§x—\/§)—\/§(\/§x—\/§)
=(V2x-3)(V2x-3)
syewiaeneLl LLESwsHn@GE sweiL(hss

(V2x=V3)(V2x-+3) =0
(2x-32 =0
V2x-J3 =0

eteuiGe, x = ﬁ TG SiTeum@GLd
PR s @Lb.

23. Sies:x! - 13x* +42=0
BTy
=132 +42=0
=y
y2— 13y +42=0
y=6(ny=7
x> =6(or)x*=7
x=x46 (@) x=+7
24. eit erewt WHMILD iFeT FMOE Sy Fweaunrier alGFlwursd
2—54 aTeofled, SbG ETERTENERWTS HTETTTS.
BiTay:
GaemeuLimen 616w x 6T6TS.

SIS HEEVELH = 1

L e
* X 5 X 5
5x%—5=24x

5% 24x-5=0
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25.

26.

27.

5% - 25x+x—-5=0
1

x=5—=
5
epeomisaflar aHBed LHMID CLBSSHLET (WG —% ,
wHmid —1 eTewrs: QETenTL. B (IHLIGFFLORTUTL L& HTERTS.
BTy 3
PLPEVEISENETT Gn(DFE0 LIGVET = ot = — —
eLeVBIGET6NT GlLIHESEMHLIeVET off = —1

. Caemeuwnest Q(mHLilg. FeLIT(H)
¥ —(a+p)x+ap=0
xz—(_—3)x—1=0 :>x2+3—x—1=0
2 2

Bouppd "2" oped QlumEE

2x?+3x-2=0
Gwreaflar sHCurensu awdler QmwLEGCsT(H eaTamns
ol lgermed SHlewLLiLgl, Gwresfler Qrenr_mewt(HsEnsE
Yhmzw aumsww Seuflar 4 gyemT(HsEpsEL Ubamgw
ez CLHESs e LILgnEGs &b eresfled, Saurflesr
FSHCUTMSI QILINSS STETTS.
Biray:

Gwrefles HCLITEMSIW QUWIF] X SLETT(DHET 61681,

2 YT (NS EHSS) (P6UT U = (X — 2) Y emt(hisaT

2 s emT(HsEHsE Lhensw euwg = (x + 4) opemtsar

Qa1(h&s sseueoLg, (x —2) (x +4) =1+ 2x

X2+ 2x -8 =1+ 2x-60@mmal, (x — 3) (x + 3) = 0-em b,

X = £ 3 Qg GvM 6TemTenTIs Q) ([HdHe (Llquing).
steriCGeu, @ Lrefles sHCLTENSW euwig) 3 gyemT(bH\S6T.

y

2

y =25
BTy
Y
y* =25
y2_52 =0
y+3)y-5 =0
y+5=0,y-5=0

ereirm Careneuuilerr afleosslinL L i ererer?

stesin Gamemeuwneug) y- — 52 =0
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y= _55 y= 5
e1en|bGLng) Caneneu euenTLnIHs QueOTSSTHDS.
- ellevdsliuL L lLseaT —5 wHnib 5.
28. 2;6 et Careneuwiles afleods L L i ererer?
" —5t+
Sivey:
———— eeip Ganemeuwneng) t — 5t + 6 =0
t"—5t+6
£-5t+6 = 0
t-2)(t-3) = 0
t-2=0,t-3=0
t=2,t=3
(t-2)(t-3)=0=>t=2,t=3
e1enbGLng) Caneneu euemTLnISHS QUEOTSSTHDE.
. eflevdasliLL L LILssT 2 whmb 3

29. ereirn Carenauuilesr afleossliLL L L ererer?

x'+1

BTy
B Jmanss X LELILSEHSED, x° > 0
stenGeu, x* +1>0+1=1
st 0Cleun(m x, wAiLm@w x> + 1 # 0

B ET . 61681 Gamemeud @ allevdsLLL L

x?+1

Oloul SlILS6T 61816 LBl606meD.
x-3

30. &(mHS&HEs:
(WEIO)] .9

Siray:
x-3 x—3 1
=9 (x+3)(x-3) (x+3)

31. &mEEs: x’-16
x*+8x+16
BTy
x*-16 X -4 (x+4)(x-4) x-4

x2+8x+16 (x+4)(x+4) (x+4)(x+4) (x+4)



https://www.cbsetips.in/

(e2] gpftunaiar..... © sHBVofEadanplal Net

2
32. &Mm&ES: x2 -1
X +Xx
aBiray:
-1 -2 (D=1 (x-1)
¥ +x  x(x+1) x(x+1) x
x’ 27 . :
33. 9,7 X xsy SpeO OLBESS.
BTy

9y
472 2
34. i—bl -2 x4b_31 260 QLIMHESS.
BTy
x*p? ¥ -1 X' (x+D(x-1D x*(x+1)
X 443 = X 4 - 4
x=1 ab x-1 a'b a'b
2
35. BmHEGS: 26 o
Bhrap x+4 x+4
2_ f—
X 16Xx+4:(x+4)(x 4)><x+4:x_|_4
x+4 x-4 x+4 x—4
2 2 _
36. &(HEHEGS: P 10p+21xp P 212
s p-7 (P-3)
p’—10p+21 p°+p-12 _(p-7)p-3) (p+4)(p-3)
p-7 (p-3)° (p-7) (p-3)°
=(p+4)
i 56 6t-12
37. &(H5ES: X .
RS 4t -8 10z
BTy

5¢° i 5¢° ><6(1—2)_%
4-8 10t  4(t-2) 10t 4
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38. n gjewflsar LEIEGOUNIL @, MmeEWBE aflmerwur._® (Volley
ball) Gumiquiled eeiCleurit gjewflyw wLHD IwaTSFHI
SienfllaCeorr(d aflememwur Ceuswr(Hw. 15 Gumiigser
Qarewt CgrLifled Corsg Cur_igsafler srentowflaamns

Gn) = 1" aefled uEiGan@ Iemflsar centenflsms
6TSSENCUT?
Siray: 2

G(n)= = 2_” 15
n’~n = 30
n’-n-30 =0
(n—6)(n+5) 0
n=6,-5
uRICHEH G jeniaer sTewTenisams = 6

39. smiey gersgled t-aflarmgasefled wm LBS S_&GW HTTL
d = t* - 0.75t Sgserm@L. 11.25 g COFreMEmaus: SL_s&L
uBS THSFISCsTeTEHL CHIL ralaeTa)?

Biray:
d=t-0.75t @mig d = 11.25
- 0.75t = 11.25
t?—0.75t—11.25 = 0
(t—3.75)(t+3) = 0
t-3.75=0,t+3=0
t=3.75,t=-3t#-3
e1651Geu t = 3.75 elewtmiq &6it

8 9 4 3]

40. A=|1 V7 g S eTesTm jewsflufled
1 4 3 0
6 8 11 1]
(i) emiysefler erentenflsamaamus srewrs.

(ii) gjewflilesr euflemsamnws srevrs.

(iii) a a S FW 2 MILIL|SEemeT TSI,

22° a23’ 24 a34’ a43’ a44
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41.

42.

BiTay:
8 9 4 3]
V3
| FREASESS
1 4 3 0
6 8 -11 1

D) e muiyseRs semenilaeme = 4 x 4 = 16
i)  oewilulles euflens =4 x 4

1ii) a,,= \/7;323= 7;a24=5; a34=0; a43=—11; 44=1

182_miLisemers; QarenTL eIt 9jewflé @ sTaleuans auflensser
Bmss QuID? of ewfluflar 2 mitiLsefler aenrenflsans
6 e1arfled, eTaluens auflmesear mes Guevin?

BTy

18 2 milijsemens ClamewiL it Siewils@ 1 < 18 (91) 2 x 9 (1)
3%x6(3)6x3(3))9%2() 18 x 1 eremd euemaasefled euflens
Bm&s Queiid.

6 2 MILIL|FHem6s: QaTewTL 6 Siewla@ 1 % 6 (1) 2 x 3 (=)
3x2(2) 6 % 1 eremid euemasailed auflens @ mas Gwiediid.

Ueraumeuaraunenns Caresi(® 3 x 3 auflensenwis Clamesmr
jewfl A = [aij]-u.ﬂmsur&» STEVT S,

. w3
(@i) aij=|i_2j| (ii) a, = %
Siray:
() a,=li-2
_an G, i3
A =lay ay ay

:|1—2| -4 [-6/| [1 3 5
=||2-2 |2-4] |2-¢6]|=|0 2 4
3-2] [3-4 [3-6]] [1 1 3
(i+))

3

(ii) a,=
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44.

45.

s % %
a, a, a
11 12 13 64 125
Ay Ay Ay 9 ? e
A3 dgp Ay
o 125
L3 3 i
5 4 3
43. A=|1 -7 9| ererfled, A-uilest Blewiy Bliyed wTHM| jewflens
3 8 2
SIS,
Siray: 5351813
A'=l4 -7 8
3 9 2
JBad3
A= |5 2| aeafle, -A uller Bleor Blred womHm
N
Sienflenws srewrs.
BTy
7 3
~A=| B =2 = (A)T=[_;ﬁ ‘/g _fJ
-3 5
5 2 2
5
A=|-17 07 3 eresfled, (A")! = A erarLIgMETE
3 3 1 sfluniss.
Siray: 5 —J17 8
2 07
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5 2 2
(AHT=| 17 07 g
8 3 1
L (ADT=A
46. A = (g : 3] wHmIs B = (Z : 3] sreufled 3A — 9B-er

wllienus SrewnTs.
5F'Q'3’A9B (0 4 9) (7 38

\ 8 3 7 1 4 9
(0 12 27) [63 27 72)

24 9 21) (9 36 81
(0 12 27\ (-63 -271 -T2
“ o 21}’(—9 36 —81)
0-63 12-27 27-72
~ (24-9 9-36 21—81]
(63 -15 —45
15 27 —60]

47. Spsengmd sweruT(Hseafled DmbE x, y wOM z-uflesr
N . (12 3) (y z]
wllienLs SrewnTs. =

£hvar x 5)\3 5

L2 —|Y = =>y=12;z=3;x=3
x 5 3 5

48. Spsengmid swerUT(Hseafled DmbF x, y wOM z-uflest
DR : (x+ y 2] (6 2J
wllienus SrewnTs. =

Bhvag 5+z xy 5 8

x+y 2) (6 2
5+z xy) (5 8
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S5+z=5| x+y=6;, xy=8

z=5-5| y=6—-x; x(6-x)=8

z=0 6x—x*—8=0=>x>-6x+8=0
x-2)(x—4)=0
x=2=0 (&) x—4=0
x=2 (&) x=4

8

x=26r66"r]6\')y=§= =4;x=4(;r615‘r’|6\l)y=Z =2
X

N | o

49. Spsargmid swarLT(Hsefled DB X, y wHMID z-ufle
x+y+z 9

wIIMUS STRTSH. | 17 |=|5
BiTay: y+z 7
xX+y+z 9
x+z |=|5
y+z 7
x+y+z=9 .. )
x+z=5~_agastal .\ ¥ 2)
y+z=7 .. 3)
x+7=9=x=9-T7=2
x =2 61607 (2) 60 Lyl 24z=5=>z=52=3
z =3 6161 (3) 60 LATSluf_ yt3=T=>y=73=>y=4
7 8 6 4 11 -3
50. A=|1 3 9|,B=|-1 2 4 | erefled 2A + B-zg5
-4 3 -1 7 5 0
ST S,
BTy 7 8 6 4 11 -3
2A+B = 2|1 3 9|(+|-1 2 4

-4 3 -1 101, D10
14 16 12 4 11 -3
2 6 18|+ -1 2 4
-8 6 -2 7 5 0
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14+4 16+11 12-3 18 27 9
=|2-1 6+2 18+4| =|1 8 22
-8+7 6+5 -2+0 -1 11 -2
5 4 -2 -7 4 -3
1 3 1 7
A== 2 = - = 3 5 4A — 3B-ené
51. A > 3 J2[,B Bt 2 srefled 4A — 3B-m&
1 9 4 5 -6 9
STEUT S, 24 3
SR S W
4A-3B = =2 2 252893
3 2 4 V2| - 4 2
1 9 4 5 -6 9
20 16 -8 -129
S\N2- <3 4[ + == —% -9
4 36 18 -27
20+21 16-12 -8+9 41 4 1
3 21
222 i B 49| 2 B oazoo
4 2 4
4-15 36+18 16-27 -11 54 -11

52. siewfl A-uller euflens p x q wHMID Sjewfll B-wlesr auflens
q < 1. @m Siewflamerud LSS (igujwb eresfled AB WHMILD
BA gy lueunnler auflensenws srents.

SiTay:

ojeuttl A-ullest eufilena p x q,
6wl B-wllewt suflens q < r

. AB-ev1 euflems =p xr

BA eaaip ewfleww Qu@mss Queons. eoleetied 6wl
B-ullest flyeiid o6l A-ev1 Hlenyuyid Fowons Gedenev.

53.

P(x) = &% — 5x — 14 areip LONMILILECHETuemW q(X)

GI'GUT[D UG\)@Q]IJHEGGITGDQ.IUJITG\) 61]@65 x— GI'@]I.D aflen

x+2

HenL_sAmg| ererfled q(v)-2pd Hrewra.
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BiTay:
P(x)=x>-5x - 14
px) = P o165 QaT(H&SLILL (D6iTeng).
q(x) x+2
x*-5x-14 _ x—7
q(x) x+2
(x=7)(x+2) _ x=7
q(x) x+2

54.

5S.

coq) = (x+2)?
QuuiQuenisemer epeomsTEs OCarewi 3x*+kx+81=0

T FLSTUMLIGRT 6@ epeld LHODTW®H  eweosdler
auirsaL eTesfled, k-wler w5 srewrs.

Biray:

o, [ eTevTLIGUT 3x% +kx + 81 =0 evr PLPGUMBIGEMM(GLD.
at+p= —% ........ (1)

ap=27 2)

o = B st QarH&sILL (HeTeng)

(2) O mmbal BP=27=p=3

Lo=9

()= 9+3=—X -k k=-36
3 3

xz*f;s -S\mhgl o5 alldlgwn Caranaiamus
X

sflszsred ———— eTaiim Camreney HenL_&iGLo.
x"-2x+4
BTy
Caeneuwnen eldlapm Camenel
~ x*+6x+8 3
48 xXP-2x+4
3 (x+2)(x+4) 3
C (+2)(x*—2x+4)  x2-2x+4
(x+4) 3

(2—2x+4) x*-2x+4
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_ x+4-3 N x+1
X2 =2x+4 x2—2x+4
2 2
S0 3N % opmId y = % sterfled X7y -6t
wIIewLS STewTs.
BTy
+ a’+3a-4 _ (a+4)(a-1) _ (a+4)
3a* -3 3a+D(a-1) 3(a+])
2 = (a+4)°
9(a+1)°
 ad*+2a-8  (a+4)(a-2) (a+4)
YT 2d-2a-4 2@+l@-2) 2a+1)
> (a+4)?
Y 4(a +1)?
5 Aa+))’
YT (a+4)?
2y? = (a+4)° .4(a+1)2
Na+1)? (a+4)
4

9
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I Angmar allarmsser e s @nbLar 2 AICLeTTSET

1. P () (x+2) + Q (x=1) = x*+6x—1 erafled, P, Q euewr
LI SnETE STEwTs.

BTy
x = 1 616860 x =—1 et6xlle0
PQ2)(3) = (1)*+6(1)-1 Q(-2) = (-1y*+6(-1)-1
6P = 6 -2Q = 1-6-1
P=1 Q=3
2. (x-1)}, x* - +2x-2-Qet 15.0um.6u SHrewTE.
BTy

(—=1)° = (1) (1) (x-1)
a3+ 2x2 = X (1) +2(x-1)
= (x3+2) (x-1)

8.Qlumeu = (x-1)
3. 2 +xP—x—1) wHmid 3(+3x*-x-3) -@evr 15.QUM.L> Smevis.
BTy

2(x+x?x—1) = 2[x*(x+1) — 1(x+1)]
= 2[(x* = D(x+1)]
33 +3x%x-3) = 3[x*(x+3) — 1(x+3)]
= 3[(* = D(x+3)]
B8.Qum = 6 (x> - 1) (x+1) (x+3)

a’ v
4. &(H5GS: +
BT a-b b-a
a3 N b3 _ a3 \ b3 :>a3_b3
a—-b b-a a-b a-b a-b
_ (a—-b)(a*+ab+b?)
a->b
= a*+ab+b?

5. A (x-1) (x-2) (x-3) + B(x—1) (x=2) + C(x-1) + D = x° erexfled
A, B, C, D gpflweaupenns srewis.
BTy
x = 1 6168760 D=(1)’=D=1
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x =2 6161160 2B+2C+D = 27
C+D = (2)’=8 2B+14+1 = 27

C+] = 8§ 2B+15 = 27

@ =a7 2Ba=d2

x =3 er6tMle0 B =6

x> 661 Q& pssemner Ul
A=1,B=6,C=7,D=1

6. @rewi(® HS35HSS lews enenmLiLienL. Bwied sTewtsefler
airssEseflar saOzed0 802 eafld alCluenTaamers:

SIS,
BTy
Cxemeuwinest er6wTa6T a, at2 e1esid Claens.
OQaETHSsLILL L g):

a*+(a+2)* = 802

a*+a*+da+d = 802

2a*+4a-798 = 0

a*+2a-399 = 0

(@+21) (a-19) = 0
a=19 a=-21(sn55wied6v)
. Cxemeuwinest erewstaa 19, 21

i —cos@
7. cosO (cose s1n0j + sin0 ( o cos ) =1, stesfled

—sin@ cos@ cos@ X
x = sin0 etewr Bimiays.
BTy
cos@ siné x —Ccosé@ 10
cos ) + sin0 =
—sin@ cosé cosé@ X 0 1

53

cos? @ sin @cos @ . xsin@  —sin@cosd
—sin@cos®  cos’ o sin@cos @ xsin@

o3

c0s?0 + xsin® = 1

cos’ 6+ xsin @ 0
0 cos® 0+ xsin @

xsin® = 1—cos’0
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xsind = sin’0

S.ox = sinf
8. VO+16+6+ ... Qe I Srevers.
Siray:
6++6++6+.... = x 616018 Q& M6TS.
BoUDWL assILOSS
22 =6+46+6+6+.....
X% = 6+x
Xx—6=0

(x-3) (x+2)=0
x =3 (or) x = -2 (s15Fwio6d6v)

S 6+4/6+6+ ... =3
[tpnsorer shamsasi zopiauaes

cos@ sind
1. A=( j.AAT=I@@L‘ﬂm.

—-sin@ cosé

2. A= (5 _4] eredlen, A2 =1 OITLIENSGF EhUNiTs.
N 400x" y** 21
4. Spsaen LONINILILS Careneuullss 5.0lLm.Lb SresTs.
x* - 27 a’x, (x-3a)’ @eunlest 18.Qluim.eu (x—3a)
5. Yesteumd QL& eun(h&alssT epeomiseiles SEenLoemius
Famis. 9a’b’x? — 24abedx + 16¢°d> = 0,2 #0, b # 0
6. (x*—1), x> —2x + 1 &7 18.Qum.10. SHTEVTTS.

3. QUTESELPEVLD SHN6THTS

7. x*— 1, X112+ x — 11 &1 8.Qun.6u. SHM6wTs.

8. ki — k% — 2k = 0 16510 @(HUIGE FLOGTLIN 1q.681 pLpeOEISeTesT
Fn (D160 LHMILD CILITHESED LIGVSHT SHTesTs.

9. eI 6T6wT LOOMILD BT Hemevd Ll opSlweuniles eflsHwneid

% 616YT160, B CTETTENETTTE ST,
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10. Qar(&sILL L. FOETLTL G651 pPEVBISET Gl HMHILD FLob
s1edMle0, k-ullesr HIeLIS Srewwrss. ki + (6k+2)x + 16 =0

11. et Syewlwnesig 16 2 miliLsenens Cl&TewTIq(HBSTE, b
SI6wNE(&) 61556ment allglonen euflenassn Q(mHeELWw?

12 a; = i%j* 61681 YjemoLiemnLs Clames 3 x 3 euflenswenLw
O|6TN6DWIS SHT6TTTS.

a-b 2a+c) (1 5 ‘ o -
13. 2a—b 3c+d =} 0 2 ﬂmmasuuﬂ&msmurrl_q_sﬁ]@gg

a, b, ¢, d LGNS SHT6evTTs.

12 3 183 E0

14. A=|4 5 6|,B=|1 3 1|, eetMled A+ B @5 snevtrs.
789 2 40
1 3 =2 18

15. A=| 5 -4 6 |B=|3 4| aefled, A+ B m& snewis.
3 2 9 9 6

16A—258—1_3 efled AB 1pimib BA-e0s
.—43,—2561'6\) wonib BA-o&

snewis. Goeid, AB = BA stetiuigy #flw steor Candlés.

1 2 1 -2
17. A= ( j,B= (_3 1) e168le0, Qeniail(h i6wNeEm&E LD

31
uflmdmits uesty AB = BA 2_esstenio stest Hlmies.
1 2 8 31
18. A= [3 1 5],B= 2 4 1 ﬂSb‘r]G\'),AB—gé;&;nGU&ras.
5
19. ¥*+8x+12 e @HUys Camemeuula Loelumismens
SHTEVTS.

| Ansamar aflarmsser 2 wPiQuewTs6

Loas(® ) opmsB= [t 2 Gosus 34+ 5B+ 2X =0
. = LD LD = LD LD =
3 4) Y 7 12) ¥

616360 X 61681 Sy 6wTlemnuid sressiss.
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2. @m CemGsanewnt (psGatemsdler LssmsaT 2x — 1, 2x, 2x + 1
6168760 X 63T Lo IEMLIS SHTevTTss.

3. 0, B erestue p(x) = 2x* — 3x + 7 s1edim BwLq&Cameneuulles
LeoflwimissT e1eed, o’ + B-6v1 AL srewtis.

4. J2x? +7x+542 =0 e16510 B(HLIGESFOSBTLT Lg 63T
PLPEUMEBISHEDENT SHTETTTS.

5. Xl oo x*-1 Qe 15.Qum.6u STewTs.

6. x*-y* wpmid x>y Gewr 15.QLm.L SnewTs.

x* —8x 2x-1 x+3
2x*+5x-3 x*+2x+4 x*—2x

[5 wgicum: snamsss Soplaumias
1. Sipsaewi Carenauilar aiTssepeld SrewTa
6x*+x-1) Bx*+2x-1)2x*+3x+1)
BiTay:
6x* +x—-1) B> +2x - )2x* +3x+ 1)
6x*+x—1 =@Bx—1)Q2x+1)
332 +2x—1 =CBx—1) (x+1)
273 +3x+1 =Qx+ 1) (x+1)
o (622 + x —1)(3x% + 2x —1)(2x% +3x +1)
= JBx-1)(2x +)(Bx 1) (x +1)(2x +1)(x +1)
= |Bx -1 (2x +1)(x +1)|

2. 64x* —16x° + 17x* — 2x + 1 er@tLledT QUTSSHEWPEILD SHT6THTS:.

7. &(H&SS:

BiTay:
8§ -1 1
[ 64 —16 17 =2 1
() 64
16 -1 11,6 N ELT 16
(+H)-16 ()1 16
16 2 1 +16 -2 1 16
() +16 ()2 ()1 16
0

Gaemeuwwimen euiT&EEHeLpeVLD
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J64x* —16x° +17x% —2x +1= 82— x+1]

3. 9x* +12x° + 28x* + ax + b TS @M (P aiTESL eTesfled
a, b gpflweunnile I ZHmeTs SHrewTa.

BTy
3 2 4
3 9 12 28 a b
()9

6 2 12 28 12
O12 (4 62

6 4 4 24 a b 24
()24 ()16 (916 Tpen

a=16,b=16

4. u@s5ze0 weopulled Uleteu@md LeOIMILILECHTenauuile
QTS&EpeLd Srewrs. x! — 12 + 42x* — 36x + 9

BTy
1 6 3
1 1 12 4 36 9
)1
V6 12 & 12
(H)-12 (-) 36 o
2 .12 3 6 36 9 5
()6 (+)-36 +9 F5¢
0

Caeneuwines auiréaeeotd x> — 6x + 3|

5. u@szed (weopuled Ulestau@md LeOIMILILECHTenauuiler
QIit&seeLd Srewwrs, 37x° — 28x + 4x* + 42x + 9

Biray:

2 7 3
4 28 37 42 9
()4

28 37 28
(+)-28 (-)49 4
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4 -14 3 -12 42 9 -12 3
+ 1242 9 4

0
Caemeuwnen auiréaeeotd |2x? — 7x — 3|

6. u@s5ze0 (weopulled Ulestaumd LOIMILILECHETenauiler
iTssepeold smrewras. 121x* — 198x° — 183x* + 216x + 144

BiTay:
1 9 12
[ 121 —198 —183 216 144
() 121
2 -9 ~198  —183 108
(+)-198 (-) + 81 T T
22 ~18 —12 264 216 144 264
(H)-264 () 216 () 144 ~55 ~ 12
0

Caeneuwnen auiréaepeod = |11x> — 9x — 12|

7. Spssramid LUOWINIILSCaTa (P auTsHsESeT crefled
a wHmid b-uflesr iy smewis. 4x* — 12x° +37x*+ bx +a

BiTay:
2 3 7
2 4.\~ 1232137 b a
)4
4 -3 12 37 12
(H-12 ) +9 Th
4 -6 7 —28 b a 28
(-) 28 (+) 42 ()49 2=
a=49,b=-42

8. Spssrgid LONINIILSCaTmE PIp auTssESeaT creasfled
a wHmid b-uflesr LI srewis. ax*+bx>+361x>+220x+100

BTy
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10 11 12
10 100 220 361 b a

() 100
20 11 220 361 290
()220 (121 20 M
20 22 12 240 b a 240 "

(-) 240 (-) 264 (—)144 0
a— 144, b=264

9. SpsarEmId LOWINILILG Corenas I aTHESW erefled m
wHmd n-ufler wHILS srewrs. x! — 8x® + mx’ + nx + 16
BTy

1 4 4
1 1 -8 m n 16
)1
2 4 -8 m 8
()-8 ()16 2
2 -8 4 m-16 n 16
)8 (H)-32 16
0
m-16=8=8+16 n=-32
m=24
1 -1
1 2
10. A=(1-12),B={2 1 mg')mju')C=(2 _1) etesfled (AB)
1 3
C =A(BC) eterrs snL_(hs.
BTy 1 -1
AB=(1-12)|2 1|=(1-2+2 -1-1+6)=(1 4
1 3

(AB)C=(1 4) (i ZJ:(Hg 2-4)=(9 -2)
1 — L o 1-2 2+1 -1 3

BC= |2 1 (2 )= 2+2 4-1|=|4 3
a 1+6 2-3 7 -1
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-1 3
ABC)=(1-12)| 4 3 |(-14+14 332 =© -2
g

.. LHS = RHS

11 1 2 —76“ﬂ.
A= B=| L]0 5 ) eefie,

A(B + C)=AB + AC etetuengé sflumirés.
BTy

B4 1 2 -7 6
+ = +
—4 2 3 2
_(1-7 2+6) _ -6 8
—-4+3 242 -1 4
LHS=AB+C)

(23027

(-6-1 8+4 ) (-7 12
653128712 3 4
1 1\(1 2 1-4 242 -3 4
AB = = _
-1 3)\-4 2 ~1-12 -2+6 13 4
x¢ _ 4 8
on 1 1) (-7 6)_(-7+3 6+2 :( j
-1 3)l3 2 7+9 -6+6 16 0
RHS =AB + AC

_(3 4, 4 8
|13 4 16 0
3-4 448 7 12
= =2
~13+16 4+0 3 4
. LHS = RHS

2 -1
12. A= N wHmd B=| -1 4 | etesfled (AB)" = BTAT
2, red T
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13.

aeTumgE Ffluriss.
Siray: 2 -1

AB = Py 1 4
N2 PaSH P )

—1+8+2]

YR,

_(2-2+0
4+1+0

1
4+1+40

2-2+0
-1+8+2
.. LHS =RHS

4 3 1 2 3
A=(2 3 -8|,B=|1
1 0 4 -7 1

—2-4+2

s

4

9 2 |wpmwC=|1
2 4

-1

8 3

4

-2 3

etesfled A + (B + C) = (A + B) + C ereruengé sflumirés.

Siray: 4 3 1]
A+ (B+C)

O W W o w
-

2 3 47 [8
1 9 2[+1
7 1 -1
[10 6 8
2 7 5
5 5 -2

2 4

3 4
-2 3
-1

-1
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43 11 [2 3 4 8 3 4
(A+B)+C=[|2 3 -8|+|1 9 2|[+|1 -2 3
10 —4| |-7 1 -1]) |2 4 2
6 6 5] [8 3 4
=13 12 -6|+|1 -2 3
-6 1 5] |2 4 -1
(14 9]
=4 10 -3| )
4 5 -6

(1) womibd (2) eSmBa  LHS = RHS

14. Spsseni iewflé Fwarur gelmbgl a,b, ¢, d gy dweubnfler
IIILSEnETS STEwTs.

i)( DRI
S A I G T

d+3 8+a) _ (2+0 2a+1
3b-2 a-4 b-5 4c+0

d+3=2, 8+a=2a+l 3b-2=b-5 a—4=4c
d=2-3 8—1=2a-a 3b—b=—53+2 7— 4=4:13
d=-1 37:.21 Z—E C:Z
a=7,b=——, c=§,d=—1
2 4

s o[22 ,[B SE) (s 24)
. X =
3 x 4 4x 10 6x) @

Sjewflégwarumiqed x-ar LL&fluwnm wHlemus sremrs.
Biray:

2x 2 8 bx x2+8 24
X +2 = 2
3 x 4 4x 10 6x
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2x°  2x N 16 10x _ 2x° +16 48
3x  x? 8 8x 20 12x
2x*+16  12x | (2x*+16 48
3x+8 x*+8x 20 12«
S 12x=48 = x=4 X2+ 8x=12x
3x+8=20=3x=12 =x’—4x=0
=>x=4 =>x(x-4)=0, x=0, x=4
S x=4
o 0 i
16. A= " p= (SN0 0 | e AZ+BI=1 erem
0 cosd 0 sind
Biieys.
BiTay:

sin@ 0
A= cosé@ 0 o _
0 cosé@ 0 sin@

Bleplse: A2+ B” =1
A2 = A.A

~ [cos6 0 ] [cose O
| 0 cos@]| O cos@
~ [cos?6+0  0+0 _ [coste 0

| 0+0  0+cos’@ 0 cos’@
B [sing 0 | [sing 0

| 0 sing 0 sing

_ [sin?6+0  0+0 } [sinze 0 }
= =

0+0  0+sin’@ 0 sin’é@
AL B [ cos? §+5sin* 6 0
\ i 0 cos? f+sin’ @
10
= —1

A2+ B =1 Blemss0ul Lgy.
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Sx+7
17. euirésL LTS8 penmufled x—l =3x +2 6T6UT M FLOGUTLITL Iq. 607
Firey srewrs. T
siray: S5x+7

= 3x+2
x-1
Sx+7 = (x—1)(3x+2)
S5x+7 = 3x*—x-2
P HEEPE 9
33 -6x = 9 (B®UDWL 3 2460 UEGSS)
¥-2x = 3

¥ =2x+ (1) = 3+(1)?
(x &1 Qlas(pelevt urrﬂufﬂsm ATES56% Q(HYD(PLD Fnl L)

(- 1)? =
x—1 = iZ
x = £2+1
x =2+1(o)-2+1
x = 3(s)-1
Siey x = {3, -1}

18. a’+ 4a — 12, a’ - 5a + 6 T LORIMILILSECSTeusafleTT
B.0urer a - 2 erefled  SLILONMILILSECHETMeus e
15.Qum.10 SrevwTs.

Siray:
flx) = a>+4a—12 g(x) = a®>—5a+6
= (a+6)(a-2) =(@-3)(@-2)

S.Qureu=a—-2

5.Qurw = S(x)xglx)

GCD
_ (a+6)(a—2)x(a—3)(a-2)
a—2

(a+6)(a-3)(a-2)

19. f(x) wHmd g(x) e 15.Qum.6u, 15.61UM.0 STewis. Cuoeb f(x)
x g(x) = (5.Qumre) x (15.6umw) erarumss sfuriss.
E-1)x+1D, 6 +1).

Biray:
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104
fx) = (7 -1)@x+1)
= -+ 12+x.1)x+1)
= -1 EP+x+1)(x+1)
gx) = ¥ +1
= P+DP=x+D)E+17-x.1)
= x+D)@E*-x+1)
B.0lumen = (x + 1)
B.Qurb=x+1)Ex-DE*+x+1)2-x+1)
f(x) x g(x) = 5.Cum.w x 15.Clum.eu
[(x— D2 +x+ 1) (x+ D] x[(x+ DEZ—x+1)]
=[x+l (x=1) P +x+ 1) E>—x+ D] x(x+1)
20. x? + 6x — 4 = 0 uilest eevrmisaT o, P. sTafled HipssERTuHenn

epeumEIseTTS CaTenT S (HLIGE FORTUTL W& SHTewTs.
i) o Hmd B i) = LoHMILD 2 iii) «* B Hm B2o
BTy & P

i) o wHms B

X¥+6x-4=0 PLPEVBIGEIMENT Fn (D160

a=1,b=6,c=-4 o + 2= (a + B)> - 2ap

ligiPeRe = = (-6~ 2(-4)
e =36+8

ppeomiseies QumasnHUeves o’ B2 = (af)’ = (—4)> =16
X~ (apevmisefes sx[HG60) x + epeomiseies QL(mEsMHLeE = 0
X2 —44x+16=0

ii) z|.|:' |.i;E
p” Do

B
) . . 2 2 2a+2B 2(-6) -12
PLPEVEIG6METT & (DS60 p e ) )
S et Gupaopuai— 2 x L4 4 __
W ©op a B of 4
x* — (epeoriseies ga(H&60) x + ppeomiseies QlLm&s MLV = 0
LX=3x-1=0

iii) o* B wHmI B2o
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ppevEIEeNeT sa[DBe0 = a2B+p o= (at+p) = (—4)(—6) = 24
PLPEVBIGEM6NT Gl LI(THESHMLIEV6TT = (02p) (B*a) = o*p* = (ap)?
=(—4)’ =-64
? — (ppevriseest sx(DB60) X + epevrmiseiies GlLim&sHLIevss = 0
Xt =24x—-64=0

" 1,1 1 11 1 1 1 4,2
FBE S Yy 3 40 x 3y Sy z 15
BTy
lzp , lzq , lzr 6T60TS.

x % z
QarT(h&sLIuL L sweTur(h&enst
P.g r _ 1 N 6p+3q—4r:1
2 4 3 4 12 4
6p+3q—4r =3 L. )
q
P73
3p=q 2)
p—1+ =2—=—2 6T6TT 61(LPSEVMLD
5 15 15
15p—3q+60r=32 . 3)
(2) & (1) oM (3)-ulled TSI BID ClLMIEG)
15p- 4=3 L. 4)
6p+60r=32=3p+30r=16 . (5)
(4) poid (5)-m5 Srée
4)x 1= 15p — 4r = 3
(5)x5= (0 15p + (150r = 80 ()
—154r =77
1

1
1= et (4)-udled TSIl BLO&EGS HewL_LiLg), 15p—2=3

. . 1
(2) S\@wBal, q = 3p-eSmHaI p = 3

(2) eSlpibs1, q = 3p,-e9mhal q = 1
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22.

23.

sTerTGeu, x = e =3, y= 1 1, z=

p q
Sgmeug x =3, y=1,z=2
x+ty+z=52x-y+z=9,x-2y+3z=16 eteotm eperm)
wriflsefled SemwHs eEmESm Crflued FwaTuTHS
Qszr@uiler Siray srewnrs.

BTy
x+y+z=5 . (D)
2x-y+z=9 .. )
x-2y+3z=16 L. 3)
H-B)=3y-2z=-11 L. @)
2)= 2x -y + z =9
(Hx2= 2x  + 2y + 2z = 10(-)
) () ()
EAEYS - 3y - z= -1 ... ®)]
(4) wpoud (5) emHS!
3y — 2z = -1
-3y - zZ = —1 (+)
-3z = -12
z=4
z=4 61691 (5) 60 LATSluN_ y=1, z=4 (1) 60 WrHlull_
=3y-asSo-l x—1+4 =5
3y =3 x =2
y = -1

Siey sewd: x =2,y =-1, z=4

A=_X_ wHmb B = L , eTeufled

x+1 x+1
(A+B) +(A-B)" 2(x*+1) .
= 7 oTewr mlemuUilsa.
. A+ B x(x+1)
Siray:

(A+ B)? + (4 - B)?
A

B

LHS =
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X © 506G
A*+B*+24B+ A’ + B* —24B
- ]
B
- pat+2py 2 - = 2(A%+ BZ)_
g CARER =
x+1 x+1) |x/x+1
o (L ES
x+1 x+1) |x+1 x
e [ x?+1 1_ 2(x* +1) 96
2_(x+1)2}'x D) BlHASsILL L g).
24. aMm&GS: —; +— L -— 1
T x"—5x+6 x"-3x+2 x -8x+15
B 1 N 1 B 1
C (x=2)(x-3) (x-D(x-2) (x-3)(x-5)
_ (=D =5+ (x-3)(x—5) - (x—2)(x-1)
(x=2)(x=1)(x—3)(x—5)
_ x*=5x—x+5+x"—5x—3x+15—[x* —x—2x+2]
(x=2)(x-D(x-3)(x-5)
_ x*—6x+5+x° —8x+15—x*+3x -2
(=2 (- D(x-3)(x-5)
_ x*—11x+18
(x=2)(x-(x-3)(x-5)
_ (x—2)(x—-9) _ (x-9)
(x=2)(x-D(x=3)(x-5) (x-1(x-3)(x-5)
2x+1 2x—-1 . 1 2B
B A e B S TR T
ST6uoTS,

BTy
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1 2B 1 2B
A-B A -B>  A-B (A+B)(A-B)
_ A+B-2B B 2x+D(2x-1)
~ (4+B)(4-B) C(2x+1)% + (2x -1)?
_ =B _ [2x] -1
(4+ B)(4~B) AP ltdrt AP +1-4x
- 1 NN A=
(4+B) N 8x%+2
I S 2
N 2x+1+2x—1 - 4x—2—1
2x—1 2x+1 2(4x"+1)
1

(2x+1)%+(2x-1)°
2x+D(2x-1)

26. srgsn, Fhens, aurewfl flu epeuflar srrefl anwg 53.

grsgrailer awdled urdl, sHemzuiler awged epearmled
@@ L@ wonw arefluler awded Brardled em UES
SFwaniiar sa(hised 65. BTG WMTHHEHHE W
grsgrailer anug) aurenfluiler anuengiGUTed BTe () LEIE,
ererfled epeufler sHCUTMSW aILMmSS STewTs.

BTy

eurewstl, HHES WHMILD SrSTedlesr SHCLTMSW 6uWIF) X, Y, Z 616018

XHEVHZ 53 o xty+z=159 (1)
£z+1y+lx =65 = Gy ox =65
2 3 4 12
3x+t4y+6z=780 L. 2)
(z-4)=4x-4)=>4x—-2z=12 ... 3)
(1) wHmyud (2) eNwHS

(Hx@)=> 4 + 4y + 4z = 636

2) = 3x + 4y + 6z = 780

(a1068) x - 2z 4 Ase Al 4)
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27.

28.

(3) wOMID (4) S(HBHS
G)x(2)=> 8 - 2z = 24
4 = x — 2z = —144
(56) Tx = 168, . PosdaSal )
168 by
x=— =
x =24 gl (3) ulled Kyudl,
9% -z = 12
z = 84
(1) =24+y+84 = 159
y = 51

euneweflullest HMHGLITeDSW euwig) = 24
eunessilullest ghensuiles sHCLTEDSW euwig = 51
eunessullest ngsrallesr sHELTENGW euwig = 84
e® Oumiaflar awg searg FCargfuilar awengL
Gured BLLEIEG I GSW. BB PeT(HSHEHHGL Ut S
awgsaflar CQumsspuemer 375 eefled, #Carsfaefler
FSHOUTMSW QILINSS STEwTs.
BTy
Q@ Ouesteniler wHMID Seurg FCarzfuler sHCLTmSW
QUWIF] X, ).

i) x=2

ii) x+5(y+5) = 375
N (2y+5) (y+5) = 375
= 2y?+15y-350 = 0
- Ak — 35 10
y &1 iy ardlig@nluns coqso%mu.lr@.
Sy=10

SLx=2y =>x=20

. euitaseilest sHGUTenGW euwig) 20 wHnID 10.
(c2—ab)x? -2 (a’-bc)x+b*—ac=0
TG FLOSATLIML I19.60 PLPEOEIHAT FIolb HMID Gloul ererfled,
a =0 gedevg| a’ + b’ + ¢’ = 3abc erewr BlemLi.
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BiTay:
(c? —ab)x? —2(a> —bc)x + b> —ac =0
A=c?—ab, B=-2(a’—bc), C=b*>—ac
A=B?-4AC
PPEVEISAT GILOUT LOHMILD FLOLD 6TEFTLISTE A = 0
[2(a® — bc)]? — 4[c® — ab] [b> —ac] =0
4(a® —bc)* — 4 (c? —ab) (b* —ac) =0
4[a*+ b%c? — 2a%bc] — 4 [b%c? — ac® —ab® + a’bc] = 0
4a*+ 4b%c? — 8a’bec — 4 b>c? + 4ac® + 4ab® — 4a’bc =0
4a*+ 4ab’ + 4ac’ — 12a’bc = 0
4afa’+ b3+ ¢’ —3abc] =0
a=0 (&) a+b’+c’—3abc=0
= a’+ b’ + P =3abc

29. q, B ereviuier 7x + ax + 2 = 0- ullewr eeomisaT HMILD

p-a= _B gafied a-uflesr I SHrewTs.
Sirey:
0, HDID B eTesres 7x* + ax + 2 = 0 631 QPEEISETI(EGLD.
atp= 4 ; af= 2
7 7
B 13 a’ 4 2 169
— a = —_—— —_— —_— = —_—
7 49 7 49
a-p=2 BiBSe1e
! 29 7 49
2 _ @ 2 169
(a—P) = 49 a”—5 _ 169
49 49
3 169 5
(a+B)y—dop = —— a2—56 = 169
49 5
a® = 225

2
—a 2 169
gL = — sa=15,-1
(7) 4(7) 49 a 5,-15
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I Angmar allarmsser e s @nbLar 5 wEI6LeTS6T

18 s
1. Bleweownewr Bifled e Ceusggled Clzedenid soit GuibSrL

uLsrerg 24 S grrgemg Bflar Semesuled sL_s@Ww
Crrsems el Bflar adlidlemsuiled s_58 Fahgeors 1
wewfl Crrd CameaiiBi#ng srasfled Bifler Cousid srewrs.

Biray:

5 fetr Geusld = x 6T6vTs.

uL_&lesr Ceusd = 18418
Lo6soTl

HCrmLL_gHlesr Hlemaulled LiL_Slesr Cougid = 18 + x
HCrmLL_gHesr Slewas g eidliHlenguiled LiSlesr Gousd =18 —x
24 815 srSens sL_&8 HLETTL L gdle Senaulled LiL

_ gmw 24

. - Q . G . —
ORI Clanemin- G0 = & b 18+
24 &S gmrsews sL&s BEIMLLsdler Slewesse edli
Sewaulled LL (@G 1515 QamewT Crirb = 24
. R 18—x
QarssiuL L elursSleLiig,
24 24 24(18+x—18+xJ _
18—x 18+x (18-x)(18+x)
24[1—1j=1 oaf 2 -
18—-x 18+x 324 — 2
48x = 324—x°
x> +48x—324 = 0

(x+54) (x—06)
x+54=0(3)x-6=0
x = =54 M5555556060 () X =6
. ilevt Geuasid = 6 &.15 / wewfl

1 2 0 3 -1 5
2. A= ,B= ,C= , 6T6ufled
3 4 -1 5 1 3

A(BC) = (AB)C eteor Blmieys.

0
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BiTay:

(12 B 0 3
A_ 3 4,B_ _1 5 ’C

0+3 0+9) (3 9
BC = =
1+5 —5+15) (6 10
1 2)(3 9) (3+12 9+20
A(BC) = =
3 4)\6 10) (9+24 27+40
ap o (L2 (0 3)_ 0-2 3+10
3 4)\-15) (0-4 9+20
-2 13)(-1 5
(AB)C =
-4 29)\1 3

2+13
4+ 29

-10+39
—20+87

(73]

S QLSIUSEID = eUEVGILIGSLD.

15 29
33 67

15 29
33 67

-2 13
-4 29

1 -1
3. A= [2 3} stefled, A — 4A + 51, = 0 ereor BlemLiléis.

SiTay:

A’= AxA

1 -1

Il
14T
_8 7_
AZ—4A+
S

QLgL&sLD

=il
_8 7_
—1-4+5
| 8-8+0

1
—4
R

1 -1
2 3

—4+4+0
7-12+5

1-2
2+6

|

-1-3
-2+9


https://www.cbsetips.in/

X @ &0EHS WWW.Padm.Net

0 0
= [ } =0 = euevgILISSLD

00
4. $irés: 2x+y+4z=15,x-2y+32=13,3x+y—-z=2.
Biray:
QarhssuuL Lemeu: 2x+y+4z=15 ... (1)
x-2y+3z=13 ... 2)
3x+y—z=2 o aodAacaiill 3)

(I)x2= 4x+2y+8z = 30
2)x1= x-2y+3z = 13
GalLeuw Ox +llz =43 L. 4)

2)x1= x-2y+3z = 13
B)x2= 6x+2y—2z 4
SalLejd /X +z =17 .. ®))
(4) wpmid (5) eAmbal
@)x1 =  Sx+llz = 43
G)x 1=  7Tlx+1lz = 187
-) ) )
—72x —144
xX= %:2
72
x ev1 Fllienu #weaun(® (5) 60 Kyl
Ix+z =17
1) +2z = 17
14+z =17
z = 17-14
z =3
x HMID z 681 wisene weTn(n (1) 60 Wrdluil
2x+y+4z = 15 y+16 = 15
202)+y+4(3) = 15 y = 15-16
4+y+12 = 15 y = -1
5. 16x* =24 + (a — x? + (b + 1)x + 49 TRTUSI M (PP
airssw ceafled a wHmW b fwandler wIlisemers
STCwTS.
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BiTay:
4 3 7
4[ 16 24 (@-1) b+l 49
(-) 16
8 3 24 (a-1) 24
(H-24()9 8
8 6 -7 (a-10) b+1 49
(+)-56 ()42 ()49
0
sa—10 = —-56 b+1 = 42
a = -56+10 b = 42-1
a = —46 b = 41
1 2 4 ..
6. + =——,x+1#0,x+2#0wHmw x+4 #0-x

x+1 x+2 x+4
Bmus FoATUTL In6T HSSITSMmSL LuaTUHSSS Sise.

e SN 1 2 Wy
Qar(h&sLuL L eney ——+ =
x+1 x+2 x+4

(x+2)+2(x+1) 4
(x+D(x+2) x+4

x+2+2x+2 4

(x+D(x+2) x+4

3x+4 4

(x+D(x+2) x+4
BGx+4)(x+4) = 4(x+1)(x+2)
3+ 16x+16 = 4[x*+3x+2]
3x?+16x+16 = 4x*+12x+8
4%+ 12x+8-3x>—16x-16 = 0
¥—4x-8 =0

_ —b+b?* - dac

2a

LA -40)(-8) _ 4%\16+32 _ 4+48

2(1) 2 2

X



https://www.cbsetips.in/

X @ &0EHS Www.Padﬁlgq'.Net

- 4+16x3 4143 23203

2 2
gmz(wzﬁ), 2-2+3)

16X2a —3a - 2 3a* —1la- 4
a-8 24° +9a+4 a’-2a+4

7. SmEGs: <
BTy
a —16 2a° —=3a-2 3a —11a-4
a®-8 2a +9a+4 a’—2a+4

a*-16 2a*-3a-2 a*-2a+4
a3—8 ><2arz+9a+4x3a2 -1la -4
a® - ><(a 2)(2a+1) a®*—2a+4
a®-2° (a+4)(2a+1) Ba+D(a—4)
__(a+H@-4) | (a-2Ra+) a 2_2a+4
(a 2)(a? +2a+4) (2a+1)(a+4) Ba+D(a—4)
“at-b’=(a-b)(a+b)
(a® —2a+4) a’—b’ = (a-b) (a +ab +b?)

T Ba+1)(at +2a+4)

8. @m Qgmir aewig @® GOILIL L Fmrsemg Srmer
Causzggled sLsdpgl. QsTit euewriquiler Ceusid 10 &.f

LDV
sFaflssiurLred 2 wewfll CrrsdnG erargraGe
GIUIL L snrdeamg e wHmid CFTLiT euesTig.uller

Geusid

GoD&sILLLTed 3 wewfl CrrsdnE Ums

SHGIUILL smrsems Semwelwefled SBS CFTit
QAUETTTlY. MBS STTIHNSSH SIS (DS,

6LSHLD — ST A STAYCAL
el GeusLd
g =y &l.iS

STeVLD = Z LD6WTT 6T6VTS:.
Sy =Xz (1)
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Can(H&sLILL L eneu
L~ Y
x+10
(x+10)(z-2) =y 743 = —2
xz2x+10z-20 =y (z+3) (x-10) = ;_10
y-2x+10z-20 =y xz+3x-10z-30 =y
—2x+10z-20 = 0 y+3x-10z-30 =y
x=5z+10 = 0 3x-10z-30=0  ........ (3)
x—5z=—10........ ()
(2) wHmubd (3) Slmhel
(H)x2= 2x-10z = -20
2)x1= 3x-10z = 30
(3fss) - 50
x = 50
x = 50 sweLr® (2) 60 Nyl
x—5z =-10
50—5z = -10 = y = xz
5y = 60 y = 50x%x12
z =12 y =600 &..8

9. em wHAWHH uypiuL Ceaemiqu GCrrssellmBE 30
Bfl1b gmogwrs Yol g. 150 &S srrsdled 2 eter
Cemuil_senzs sfluner Crrsdled Qearpen i eI
apsaworer Causgmg weflsg 25 Hif FglslubOss
Caemnquilmibss — oTefled, wwhbder  eupsswTeT
Casgemnss snewrs.

BTy
waPphSle aupssiorer Ceustd x 8.8

616018,

LD
silafssiul L wphdler Ceusibd (x + 25) wew sTeis.
gL

USLD
T, wppid T, eeing wlphs HSET PLgeng sMwmer
Crrsdled CleaimenLsugnaner Cryw WHNHID GODHSUL &
Crrb (eupsswrer Couasams) eers.

Qrgs gy = 150 &.15; srevd =

@_ 150
x x+25

1
TI_T2: E LDGUUﬂ
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150[3_ ! }:l 150[225 }:l
x x+25 2 x“+25x 2
ol Xt20-x| _ 1 X*+25x-7500 = 0
x(x+25) | 2 (x+100) (x=75) = 0
x =75 (31) x=—-100 (710&555556060)
. wélphdle aupssiorer Coisid 75 4.8
LD
“ 2 a a+b
10. Firss: x +( + )x+1=0
- a+b a
SBiray:
x2+( a +a+b)x+1—0
a+b a

2 ax (a+bj a _a+tb _
X+ + X+ X -0
a+b a a+b a

( a ) a+b( a )_
x| x+ + X+ =0
a+b a a+b
(x+ a j(x+a+bj:0
a+b a

_— +
xt—L 0 (o x+ 22 x=—L(a4>x=—(a bJ
a+b a a+b a

éﬁ5@QLx=‘{_ﬂ ,_(a+b)}
a+b a

11. Srgs: 50D + 529 =534+

Biray:
514527 = 5341 Sy*+25 = 126y
555+ 523; = 125+1 5y>-126y+25 =0
555+ — =126 (5y-D)(y-25) =0
5 5y-1=0 (&) y-25=0

5 =y eev1s.

5y+§ =126 y=
y

gl

(SN y=25
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12.

13.

5% =y szsfl(&‘l)sx:52

1 =1 =2
5°= = (&) 5' =25 ¥=-1(snx

5 (9 x=1{2,-1}
e® CsmGarenr W&Casramgdlar GSHWTONATS ST
Sipuuragmgeal. 7 &5 Gmne] S @w. Coib siTewrd
13 Q&.15 eresfled HMH DHLESEISZMETS HTewTs.
BTy
SlgLILssD = x 0F.15; 2wy = (x—7) Cl&.15

ST6wID = \/(éuq.u ué;asu’))2+(&u.lmb)2

13 = (x)2 +(x—7)2
169 = x*+(x—7)
169 = x*+x>—14x + 49
169 = 2x’—14x + 49

2x°—14x +49-169 = 0
2x2-14x-120 = 0
x>=7x 60 = 0

(x—12) (x+5) = 0

x =12 (&) x = -5 (gn15wied6v)
rLex=12
SlgLILssD = 12 61g.18.; 2 wpbd =x—7 = 12-7 =5 Q&.i5.

Bm GprniseT emSCsTigemw Bliruu 9§ wewfl Cwyd
T(hSg150sTaTERL. Al (GETurers, gwﬂéu.l Qs igemw
BITiu sHSSHIS0STeTEBD Hrev jemaurnerg, Cluflw @omu
LB THiSFHSH CETeTEDnD Hred Sjereneu afl LFF) wewfl
Crrd Flsd HYGw. BB GPTUsEHL SeaflsseafllGw
Qsrlgenw BITLU T(HiSSIS ClsTeTEHLD Hrey JjeTaiSHmeTs:
SITE0T S,

BTy

vl @pmu G igenw Blrliu ei(hS&I5H0\sneTEnHLd

&6V I|616Y X LO6TTT 616315,

Cuflw Grmi g igemw Birliu e(HSgS0lsmeTEHLD

&6 66 (x—10) wewdhl CrILD 616518,
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Qar(ssLuL L eleurgdlesr Lig,
l+ 1 -1 v = 115+.,/13225—4(4)(375)
x x-10 9§ 2(4)
8 _ 115+/13225— 6000
x—10+x _ i X = 8
¥x-10) 75  115+4/7225
2x—10 = i X = 8
¥ -10x 75 _ 115485
x-5 4 x = 8
¥’ —10x %
_ 115+85 115-85
75(x-5) = 4(>10x) x Sat g
75x-375 = 4x>-40x
30
4x?—75x+375-40x = 0 x = 200 (or) )
4x%115x+375 =0 8
x = —bEVb —dac Vb* — 4ac x=25(0r)§
2a

14.

Sdlw @omi Qg igenw BlyLiu e1(hSg1&% ClserEmpLd
sev ey = 25 wewtl CrLd.

Quflwug @mni g igenw Brliu (HSgs C\seiTEpLd
smev jerey x—10 = 15 wewfl Gryid.

(@*+bH)x* — 2(ac+bd)x+(c’>+d?) = 0 eTeim SWETLITL Iq.6057
epeomiser s eresfled L = < ereur Binieys.
siray: b d
(a>+b?)x*-2(act+bd)x +(c>+d?) =0
QETHSSLILL L FOETLT g6 ePEVEISAT Gl LHMILD
FLOLD 6T6ITLIST60,
- b*dac = 0
[-2(ac+bd)]? — 4[a’+b?][c*+d*] = 0
4(a’c*+b>d*+2abed) —4[a’c?+a’d*+b%c?+b%d?] = 0
+ by 4a%¢? + b2d* + 2abed — a%? — a’d> — b’c? - b¥d* = 0
a’d*+b%c? — 2abcd = 0
(ad-bc)> = 0
ad-bc = 0
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bc

ad =
a c
- — N&sLIUL L g
, = o B 8l
. 2x*+3x+1_4x*+5x+1_15x" +8x+1
15. &®&@S: —; X—— RN
By 3x"+4x+1 Sx"+6x+1 8x"+6x+1
(2x% + 2x + x +1)(4x* + 4x + x +1)(15x° + 5x + 3x +1)
(3x? +3x + x +1)(5x° +5x + x +1)(8x” + 4x + 2x +1)
B [2x(x+1) +1x + D) |[4x(x +1) +1(x +1)]

[3x(x+1) +1(x +1)][5x(x +1) +1(x +1)]
[5x(3x +1)+1(3x + 1)]

[4x(2x+1) +1(2x +1)]

_ AT Qo) (D) (AxrT) Be+T) (BarT)
(AT) BTy (o T) (5eT) (26T) (eT)
=1

16.
(I ePeVLd X = Nl eTerfled, p-evr LI Hrewrs.
BiTay: 3 b
PLPEVEIGEM6TT G (DFH60 LIGVETT = ——
a
1 -(v3-v2)

ot —m=—"

3 P
PLPEVEISATENT OLI(HEHSBMHLIVETT = —
a

ai=—1/:a=—£
BT p
o= —ﬁ etevt (1) 60 Lrlui
p
3 1 2-3 3 FIR0A>
= = = = =
p B p p 3 p
N

p
p

J6

px’+ (\/3 -2 ) X —1=06rewr5 Q&T(HSSLILIL L FLOGUTLITL 1q 66T
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[t asoner aromso] Soiomsen

a b 10 s
1. A= e d = oy . A*~(a+d)A = (be-ad) I e1601 Blmieys.
1 7

52 9
2. A=(l ) 8) wHod B={1 2 | eefled (AB)' = BTAT
5 -1

eTUTLIENSE FumiTéeeLb.

3 1
3. A=( 1 2) steflled A° — 5A + 71, = 0 et601 Hmi6}5.

4A—04gB—7386§ﬂ'|ﬁ]' ; )
. —837,—14gers\)smm@msvr6ug)mg)&,

snewts. (1) B —5A (ii)) 3A-9B
5. Uesreupd ewily sweaiLtseiled @mbE X, y, LOHMID
2-86feT SILIL|BEn6TS SHTevtTs:.
) ( x-3 3x-z ]:(1 Oj
X+y+7 x+y+z 16
(i) x y-z z+3)+(y 4 3)=¢4 8 16)

6. x( 43] + y(_:] = (gj 6Texle0 x LOHMILD Y-63T LS IL|SEN6NE SHTETTs.

2x 2 8 5x x*+8 24 .
7. x +2 =2 6T63TM
SN\ 4 A4x 10 6x
S6wTlE FLOETLIML 160 X-63T LL&SWbmHm odlLienLis Sresrs.
8. X, y-25 Siés. [xz J iy ZL_ZXJ - (5)
¥ -y) \8

o A (L3) [t (182
A7 05 1) T3 5 2) " a1 3) O

A(B+C) = AB + AC -m#& &flunéseayib.

2 1 2 0
10. A= (1 3}, B = (1 3) e1erled AB wpmid BA-28 snewia.

Gueoitb AB = BA etevtLigy &flwim stewr oy rmiis.
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11.

12.

13.
14.

15.

16.

17.

18.

19.

20.

21.

ppeVEIGETleT Fm(Be0 LHMID CLBHESHN SpsaTamionm)
QarssLILL (DeTenes e6fled, UDNISHE FESHHS D(HLIGE
. oo ST, SIOPDIRG RORe SPUY
FwaLT(H&eens sewrdls. (i) 9,14 (i) ——, = (iii) SEURE]
&G Qar@saLLL_(DeTen @(HLigF FerLn(haelesr
APEVEISBETIENT Fn(DF60 HMILD ClLIHESESNHLIEVET SLSleuHenns
anestia. (i) x>+ 8x — 65 = 0 (i) 22+ 5x+ 7 =0
euEaaLpeOLD SmemTas: (4% — Ox +2) (762 — 13x —2) (28% ~ 3x— 1)
X2+ Tx + 10 = 0 eigb FETLNL G635 PPEOMISET o HIID B
e16tle0, Llevteu(meusseunblent I ILEemens srevwias. (7CHaILD

epesmy) (i) (o-B) (i) o’ + B? (iii) o’ B (iv) o'+ p*
2 2
w L+ 8 wi) 48
B a B«
3x% + Tx — 2 = 0 eIl SFLOGTLINL 1q 63T PLEOMISGET o LMD B
6168160, QEMT(GSLILIL L Sl Hem6ns sreus.
2 2
o i) L+ 2
B o B
X+ x% - x 2 wppib 2x° — Sx* + 5x — 3 dw LOWINIILG
Ganeneusaie 5.01LM.6u Srevwis.
2% —x — 1 = 0, e1681D SN 19681 PLPEOMISST 0 LOHMILD P
eeflley, S0P CBTSHILL L ppeomsmeT O B(HLIGE
FLOGTLINL_ 69L& &Hrewwts. (1) i % (ii) 0B, P* afiii) 20+p, 2p+0
o
2x% — 7x + 5 = 0, 616510 SLOGTLIML Lq.68T PLPEUMEISAT 0. LoHMILD P
e16tM60, LilevTeu(heuesTeuDMeT EILIL|GHn6rTS SHTewtTs.
1.1 a p
Iy: Sy G wlledemer) —+—, —+—
(eAy: Sty Cemaniledanen) — AT
¥+ 6x — 4 =0 -tler epeomiser o wHMID P eTeENeD,
SPSHEVTLeuNEnD  pPeVEISeTTSS — Olerewi  Qmuigs
FLOGTTLINL_6ML_& SHT6wTS.
(i) o? LHMILD B> (i) o’p LMHMILD Ba 13
0, B erstruent 7x*+ax+2=0-ullesr eypevmiseT LHMID B — 0= ——
. . . . 7
6168760, a-wilewt SILIL| SrewwTs.
6x° — 30x% + 60x — 48 wHmd 3x° — 12x* + 21x— 18 R
LedIMILIL&CaTeneusafilen L5.ClLM.ou Srewis.
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22. @eflur 50 & eemLwjeten  gyluleitseT  OHMID
aumempliLpmiast  eummiflestt. @@  HCeondlympssE
S Llsnaailen efleney sumenpliLipEisaile aflenevenuis Gume
B(®L_EIG @ W. eumEisLIuL L gy LilsTaafle aleneo 1800
wHOID  eurempLiLpEIssies ellewer I600 6terlled, Qeluim
oSy Qmeuens upEseTer ceLenws HGeonlrmbled
G161,

23. Sids: pgx’ —(p+qx+(p+q)>=0
24. Ceaemaniledmbs) Qﬁ]@g,rr&&s\)g,ﬁg)@ 240 &5
STEH®SS &SL&66 @@ Lweu TLieuewiio&@ @
alewre] Ggn_ieuewrgenweil 1 Losb'u% Crd _sn(Di60mss
G mmuu@éﬂg)gj LwesilseT  Ggn_ieuewriquilest GeusLo,
ey 61‘%5rn_rrea.lszsu'qu.uﬁlszrr Cousgemgeal 20 éﬂLﬁ’/mm‘ﬂ

GMDe 616860, B\ C\BTLTeuewTq Halles synafl Cousmigemens
S6THS (DS,
[ Asgmer cheranar o
1. &m&Es: + ! - L
a*+3a+2 a’+5a+6 a*+4a+3
320
2. A= |1 4 0| eefled A*—TA+ 101 = 0 e1601 Bmie}s.
0 0 5

3. 8@ Cleaieusg e HeLd OIS S5 dlemert (pemmGui 3
LOHNID 2 OGSO JHSMALILIGETT pLPeVLD SiFETT LIFLILIeTE|
67 &3IT SE0GS6I é{@&;ﬂ&@m Cuoeid  BengSlenest
S IVGSHET  (GHEHDSIHILD g&mg@mm 3 IeVGseT
SFafggn ums@wGurg oger  urliueTeuterg 9
FEIT SVGSH6T GHmDUD 6Tedled  OlFealeussHlest e,
S| H6VEBISHEN6NT HTCTITS.

4. @m eu@LIled 2 eten rewTeuideT euflenaulled Hlhas
Couewmtd. Caemid 6@ euflemsulled 3 rewwToUTHEm6T
SFlawrsHlenmed euflenaaeierr semTenilaamnauled eevn)
Gopub. gCsebd @ elflensulled 3 wrewToTHm6T
GOS0  alflengseilesr  ecewiewisems  Qrewi(h
Flson@n  eevled  eu@Liled 2 eem  LomevTTEUTS AT 6T
6TETTTEUTTIHENSHEN LIS SHTETVTS.

3% % k2
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| auaguL aflaTmsser &6y s @bLar 5 dIGlLeTTISET

1. Qer@&siul L @mUgs FDSTUTLIGOT QUMTLILLD QInTs.
s Siraysaflar saimwamws sams. x* — 9x +20 = 0.
Sl L_euen6wT:

x| 4| -3|-2]-1 0 1 2 3 4
x| 16 | 9 4 1 0 1 4 9 16

—Ox| 36 | 27 | 18 | 9 0 | -9 [-18|-27|-36

+20( 20 | 20 | 20 | 20 | 20 | 20 | 20 | 20 | 20

y| 72 | 56 | 42 | 30 | 20 | 12 | 6 2 0

yerreflaeir: (—4, 72), (-3, 56), (-2, 42), (-1, 30), (0, 20), (1, 12),

(2,6),(3,2),(4,0)

i PN | SieTeSSIL L Lb:
X-2i5860 1 Q&.18 = 1 o0&

<28 218860 1 Qa8 =4 g0

BiraBalladr HaTeniD:
ureusmenujd X Fens QmrCeun Lseflseiled Cleul(Hdmg.
s1euiGeu ppeumISAT Glioul, FLLdleVEmeV.
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2. Qer(@ssUUL L. QHLIQGE FDSTLTL 1G0T QIMTLLLD QITS.
iper Sraysaflar sarmwamwus sams. x* —4x +4 = 0.

Sl 6wuT:
x| 4]-3|-2]-1]0 1 2 3 4
x| 16 | 9 4 1 0 1 4 9 |16
—4x| 16 | 12 | 8 4 0 | 4] -8 |-12]-16
+4| 4 4 4 4 4 4 4 4 4
y[36 [ 25|16 | 9 4 1 0 1 4

yereflaeir: (—4, 36), (-3, 25), (-2, 16), (-1, 9), (0, 4), (1, 1),

2,0),3,1),(4

(=2, 16)

RE:

g

74)

SmesSILb

X-258le0 1 Q.18 = 1 ev@

.y-aiﬂﬂe\') 1 Q.8 =2 0@ |

.Y,

SiTaBallan HaTaniD:
ureusnerujd X iFene Cr e Lsteulled Glgm
Qe mg. ererGeu epevmisaT Gloul, FLoLb.

——10
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3. Qar@&suuL L @HUIGE FOATUTLIGET QIMTLILLD QIEHTS.
st Sraysaflar sarmwamwus sams: x* +x +7=0.

L L_uen6wT:
x| 4| -3|-2|-1]0 1 2 3 4
X2 16 | 9 4 1 0 1 4 9 | 16
tx| 4| -3 | -2|-1]0 1 2 3 4
+71 7 7 7 7 7 7 7 7 7
y| 19113 ] 9 7 7 9 [ 13|19 | 27

L|6f|'6'ﬂ56f|': (4a 19)? (73’ 13), (725 9)3 (71’ 7)’ (0, 7)’ (1, 9),
(2,13), (3, 19), (4, 27)

Y
SleTeSHLL LD

"""" T x-915860 1 Q.18 = 1 gje0E

1-45860 1 Q&8 =2 s1e0@

.Y’

BBl HOTEID:
ureumenwid X Fens el L a|b Qevenev, G (H&
Ol&evevailevemev. sTerTGe pLPeVEIGBAT GILDUILIEV6V.
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4. Qer(ssUUL L Q(HLIQGE FDSTLTL 1G0T QIMTLLLD QIMTS.
Siper Sraseflar saramwanus sanis: (2x — 3) (x +2) = 0.
y=Qx-3)(x+2)=2x*+4x-3x—-6 =2x>+x-6

S| L_aEm6TIT:
x| 4|-3|-=2]|-1]0 1 2 3 4
216 | 9 4 1 0 1 4 9 | 16
2x% 32 | 18 | 8 2 0| 2 8 | 18 | 32
x| 4| -3|2|-1]0 1 2 3 4
6| -6|-6|-6|-6|-6|-6|-6|-6]|-6
y| 22| 9 0 |-5]|-6|-3|4]15]30

yereflser: (—4, 22), (-3,

(2,4),3,15),

— 18.

9), (725 0)’ (71’ 75)a (0’ 76)5 (1’ 73)9
(4, 30)

SereBALLb
[ x-215860 1 Qa8 = | 605 |
[ 1-216860 | Q518 =2 9605 |

SiTabeilan Sarain:

ureuemenwid X i&eng Cr @mGaum) Lseilsafed
Qe &lma. sterrCeu ppevmIGZAT GloUl, FLoLblEVEmEV.
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5. y=x*+x -2 & auemTLLLD euUemTHS IS ePeoLd x> +x—2=0
TR FSTLITL Iq.06S STHea|d.
Sl L_euen6wT:

x| 43| -2]-1]0 1 2 3 4
2|16 | 9 4 1 0 1 4 9 | 16

x| 4| 3| 2]-1]0 1 2 3 4
2| 2| 2|22 |22 |2]-=2]|-2
10 | 4 0 | -2 2 10 4 110 | 18

y -
yetreflaer: (—4, 10), (-3,4), (-2, 0), (-1, -2), (0, -2), (1, 0),
(2,4), (3, 10), (4, 18)

s1f15560 y = ¥ +x-2

0 = ¥»+x-2
©) RGN
y = 0
AY '
22
(_}25 ) 4 25 A) ﬂ EF EB H
\ [ 3ss
3 N 3G G —
\ / / 5232
R @ G
2 w\/\ .% I% um
& T N
\ i
1 Y
B°C IR 1P SAm) AR il ) X
\ S
L& (0-——12)
(—l,—2) Vs 7
YT

Siai -2 wHmb 1
6. y=x'—5x—6ulla euenrLL b euenih S SISl LLGTL([HISS)
x* - 5x — 14 = 0 eTevrp SLA&TUT DL SirssHaLb.
Sl L_euen6wT:
x| 43| 2]-1]0 |12 ]3] 4
|16 94| 1101 ]4]09]16
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—5x|[ 20 | 1510 | 5 0 | -5 |-10]|-15]-20

6| 6| 6| 6| 6|6|6|6]|6]-6
y| 30| 18 | 8 0| -6 |-10|-12|-12|-10
L|6fr61ﬂ56fr: (_49 30)5 (_354)9 (_2a 8)5 (_la O)s (Oa _6)5 (la _10)7
(2,-12), (3,-12), (4, -10)

F5560 y = x> -5x-6

0 = x> —5x —14
(&) (G ES)
y = 8

SleTeSHLLLD
x-§860 1 Q&.15 — 1 ev@)
V-9158l60 1 Qg1 -2 gjeo@aei |
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7.y = 2% - 3x - S-ullet euempULD euIBS SiGEMEUTLI
uweTuBHSE 2x” —4x — 6 =0 eTeTD FLATUTL WL ST&Sa]Ld.

Sl 6wuT:
x| 4|-3|-2|-1]0 1 2 3 4
X2 16 | 9 4 1 0 1 4 9 | 16
2% 32 | 18 | 8 2 0 2 8 | 18 | 32
3x| 12 | 9 6 0|-3|-6|-9|-12

S| 5| -5|-5|-5|-5]-5]-5|-5]|-5
y| 39 22| 9 0O |-5|-6|-3]4]|15
LIGfTSTﬂﬁGfT: (_49 39): (_39 22): (_29 9)a (_17 0)9 (Oa _5)9 (la _6)7
(29 _3)9 (37 4)7 (4, 15)
F5560 y = 2x*-3x -5
0 = 2% ~4x -6
(&3] 0 MmO

y = x+1
L LU 6wuT:
x| 4|-3|-2]-1]20 1 2 3 4
x| 4] -3|-2]-1]0 1 2 3 4
+1] 1 1 1 1 1 1 1 1 1
yl 3| -2|-1]0 1 2 3 4 5

Siay = (1,3}
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Y K
X-25860 1 Qg8 = 1 sie0@
Ty-2158l60 1 Qe85 = 2 gjeo@sei |

Y

Sia: — 1 wpmiw 3
8. y =2x ullett euDTLIL LD eUEmTHE! ISETT epevid 2x” —x — 6 =0
TR FWSTUTL oL SiTés.

SN 6TT:
x| 4| -3|21]~-11]0 1 2 3 4
x| 16 | 9 4 1 0 1 4 9 | 16
2x21 32 |18 | 8 2 0 2 8 | 18 | 32
y|32 |18 | 8 2 0 2 8 | 18 | 32
yerreflse: (—4, 32), (-3, 18), (-2, 8), (-1, 2), (0, 0), (1, 2), (2, 8),

(3, 18), (4, 32)
5115560 y = 2%

0 = 22 —x -6
(&) 0 ®H @
y = x+6
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3L LN 6wT:
x| 4] 3] 2] -1]0] 1] 23] 4
x| 4| 3| =2<1]0]1]2]3] 4
6] 6 | 6 | 6 | 6 | 6 | 6| 6] 6] 6
vi2 1345678910
AY |
22
T 9 T o 98
s 33
g
Q (') (N-Q (:_211?,?,__
8 i P72 (i B
K;V\ a3 NB/ l EB%%%%_
\ (1,7>/
6
L
gl
= A
,\'\'“ : 4 ;/V/
L
: 3
: 5 ]
Lo ° (1.2
L
: ©,0)
v g0 Lola e X
YV

Siai —1.5 vHmb 2

Ly =X - dx + 3 Wet aueruLLD euemTBSl, SISRT VLD
x> —6x+9=0 ereip FWATUT OLG Si58.
Sl L_uen6woT:

9

x| 43| 2[-1]0 1 2 3 4

x| 16| 9 4 1 0 1 4 | 9 |16
—4x| 16 | 12 | 8 4 0 | 4| -8 |-12]-16
+3| 3 3 3 3 3 3 3 3 3

y| 35124 15| 8 3 0]-1]10 3
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yarefasen: (—4, 35), (-3, 24), (-2, 15), (-1, 8), (0, 3), (1, 0),
2,-1),(3,0), 4, 3)
s1fl5560 y = x*— 4x +3
0= x> —6x+9

©) 0 ®H O
y = 2x -6
L L_euen6wT:
x| 4| -3]|-21]-1 0 1 2 3 4
2x| -8 | 6| 4|21 0 4 6 8
6| 6| -6|-6|-6]-6]-6]-6]-6]-6
y|-14|-12|-10| 8 | -6 | 4| 2] 0 2
Y e e s
\_n, 5} | 15 LD H
o 14 x- 5860 | Qz.18 =1 Qi@
A \ V-2158160 | Qg8 =2 se0@s6iT
% 12
\
B 10
8
1.8
\ 6 \\9 4
9
X /Ao
3 4, 3) (el
2\(, ) / i
\ & g
1,0) 9 /3,0
A 4 X
e e :
2,-2)
4
(-4
16
0,-6)
Y

siay: {3, 3}
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10. y = (x — 1) (x + 3) Wt sumrULLD euemTHS, iFEETL
uwerLBSS) x* — x — 6 = 0 eTairp FwETUTL LG Sissad
y=@-D(x+3) =x*+3x—x-3 =x’+2x-3
S| L_6En6TIT:

x| 413 2[-1]0 1 2 3 4
x| 16 | 9 4 1 0 1 4 9 | 16
+2x| 8|1 6|4 2] 0 2 4 6 8

3. 3 | 3 | 3.3 E3s™s
v s o] 3] 4305 12]21

yerafisain: (—4, 5), (-3, 0), (-2, -3), (-1, —4), (0, -3), (1, 0),
(2,5),3,12), (4, 21)

5@5155\') y = x>+ 2x =3
= X - x -6

0
0 00«
y

= 3x+3
Sl 6wOT:
x| 4|-3|-=21]-1]0 1 2 3 4
3x|-12] 9| -6|-3| 0 3 6 12
3 3 3 3 3 3 3 3 3
y| -9 | -6 -3 3 6 9 [ 12| 15
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11.

1 1 1 1 1 SleTeySEIL LD
v QS8

| 1 x-218800 1 Q&8 = | Si00®
V-2158l60 | Qg8 =2 je0@a6it
VA B | | |

L7 5"L1H Hlo)'3H Hie | FEHS: FRE FEEH R SR R F |

et

Sirap —2 wHnib 3

aifeflsr  QeuaiGaum SeTeysafled 6 e LEismer
auenrhrer. L euenenruiled 2_eremeumm), @a’.lQa.lrr@
aLL gglar el LsdH@w Sigar snperalh@w 2 eTer
Gamymug CSTLTL&S 6(hH QT LD QIEHTWa|LD. S|SENETLI
vweru@S, el Lwrerg 6 Q&5 o5 BWmEEweurg
QL L SFT SHHMETEneUs STewHTs.

aflL_L1b (x) Q&5 1 2 3 4 5
sHmeTey (v) 0815 31 | 62 | 93 | 124 | 155

I Leueneswtulledlhbgl x SSHssEweung y-ujwb
lafNsdleima stens ClgMdlesima.

e1ev1Gou Q&1 e Coitommeon@Ld y = kx eTevia.
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y=3.1x
aufleng Gamg. {(1, 3.1) (2, 6.2) (3,9.3), (4, 12.4), (5, 15.5)}

wyep x=6=>x=3.1

x=3.1%x6
=18.6
SiBTeug| el L1b 6 Q\&.15 e1eled &hmeney 18.6 Cl&.15 oy @Lb.
STy LD
L roiE8e0 1 QeaS =1 oeoE |
V-258e0 1 Q&8 = 1 oe0@  ©
4
18,
; 95(5. 5.5)
0 - ‘(4, 12.4)
" &/
Slu z
| E i ‘(3, 9.3)
g
iR 8
g, !
(2, 6.2)
3 i7)168 1)
1/
; 9 2 107,
el L1b (Qs.8)

12. @ Gumpg 50 dliS/wenfl erarm &Fymer Ceusgled
uwenfladng. DSCSTLTLESETRT FHTTH-CHIL EUEDTLLLD
auerhgl, Uearabeearanenns sremrs.

(i) efldlzew wrledlenws srewrs.
(ii) 90 Pfl_riseafled LwenflsEWw HTTD TRlCIeTR]?
(iii) 300 &.i5 gMrgens LwenflsEs eralauerey GHTL ) EW?
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BiTay:
x e169TLIg) Smevld (HISIL_EiseMed) eTesiayld y 616w SL_hS
o (Sl.1560) sTevtayLd Gl&mens.

seold x (HLl_migefled) 60 | 120 | 180 | 240
gy y (S5 L_fled) 50 | 100 | 150 | 200

(i) S euenesruledmnbg x lafsEnCung y-uwb

SSlaNedleima. sreniGou @a) ek CritpmmeOm@LD

y = kx eTev155.
Sy=kx.

(7 _50_100_150_200_5

x 60 120 180 240 6
5

iek="2 Ly=2
Lek=2 y=g ¥
aufleme Gemig: {(60, 50) (120, 100) (180, 150), (240, 200),

(300, 250) (360, 300)}
(i) x =90 ete¥led y = 75 oy @d.
- Cumhg sLbg ST 75 S.1S5 oy @Lb.
(iii) y = 300 e166d x = 360 Sy EHLD.

SiBM6ug) 61(HSSIS0\HTEwTL Hrevd = 360 HILOIL_Eigeit
= 6 wewl
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13.

SieTeSSHLL1b
x-2158l60 1 Qg1 = 30 Bl
450 V-2158e0 1 Qlg.15 = 30 &.uS
350 i}
r
£ 300 >
q
| @ L
~ <!
. 9 l500 5
B i (240, 200)
i3 Eb 150 | 6
: (180, 150)
100
e 2 (124, 100)
5. 50) A
B
Xl Ol 30 60 90 120 150 180 210 240 270 300 330 360 390
L sreold (HIOILLD)

o BmieueTrerg) Osr_&s53)60 40 GaueneowmeT s nLeur
150 mprarsefled @mp GCoameemu (piés CFT_EAug).
Un®, GCameenw eailerans wysdl- eramorm
Cauemeowirearsemer Flafs5s55.

Ceuemeowimrerseflest

cresirenfldens (x) 40 50 60 75
mretserflesr

R P 150 120 100 80

(i) CuCevs QarHSsLILL(NeToT STaIHEHSHE eUMTLLLD
QUMThS| LTMILITL_IQ.ET QUMSENL S|EHLILITETLD &IT6wTS.
(ii) suemruL GBS, BimjeueTioreTS) 120
Causmeowmerzemer Cauemevd® Swiss eallbLiermed,
Gauened (PiQW THSEMNET BIGTSHET I GLD TS SIS,
(iii) Ceuemeowrergy 30 mretsefled (piyw Couewmrd eresfled,
aTggemen Ceuemeowrarser Cxmeu?
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Sira):

A X
-9158l6d 1 Ql&.15 = 10 GeusmeowimL g6
-9158l6d 1 Ql&.18 = 20 mrL_seit

(i) Sl Leuenewruledmibg x ifaMéee@néung y
&g e1evTLIg) g efleundlesTng).
s1eriGou @81 (b THMDTMED YLD
k
Ly=— = xy=k
x
S L_eueneuwTulled|(hb g,
k=40 x150=50x 120 =... =75 x 80 = 6000
k =6000 - xy = 6000
aufleme Gemig. {(40, 150), (50, 120), (60, 100), (75, 80)}

(i) x=120=y=50
. Caemeuwimen BT a6l cTewtTewsilsenas

(iii) y = 30,
xy = 6000
6000 6000
X=—  x=——
y 30
x =200

.. Caemeuwmenr Geusmeowim_sefledr sTevvTevtisena = 200
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14. Blegrhg, 12 &H.5 gMrsSnsrer wITSSTaT oL LSl
Qeuprlwrerit gyeumir. JjeueT wewflé@ 12 &S ererm Fymeor
Causggled elg., Revsdlener 1 wewfl CETSSed SjL_BSTIT.
Suemrg Qsmirhg oprrgem, CQwbs, sSWT LHMHILD
&Caugr g FCurt WeomGu 6 &H.ib/wewfl, 4 .5/ wewf,
3 &.uS/wenfl wHms 2 F.iS/wenfl aarn Causgdled iy
UBZETT. JalisaT b FTTSme WepGu 2 wewfl, 3
wewfl, 4 wewfl wHMIS 6 wewfl CHTSIed JjewL_BFewTiT.
Ceausid - Criyid, euemrLIL LD QUenTBS SiFeneTL LiwerLhSS),
wewflsE 2.4 HiS/wewfl Caussgled Oserm OCseardls
aHS5515 CarenT CErSmas srenTs.

BiTay:
QaEr(SsLILL (H6TeT elleurEISEHsHE) L L 6UeneuTeni
ClumGeumd.
Gousb x (AL Med) | 12 ] 6 | 4 | 3 [ 2
sneold y (Blbl_misefled) | 1 2 3 4 6

() S euenemulled(mbg x GsownwbGung y
lafsdleima steiiuig Cgemeundlesims.
s1eriGou @G ( THMDTMED LD
S Leuenewulledpbgl k=12x1=6x2=...= 2x6=12

Ly= E:> xy=k
X
k=12; Soxy=12
auflens Camg {(12,1), (6,2), (4.3), (3.4), (2.6)}
xy =12
12 and2
y= ~ Y=52

Q&enéls GO L QLS eoL_w 61(0&aI50lE e ERLD
&6V leTe 5 HIOlL_EIS6T Y @L.
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\ |é|6TIL.|§')’é)|]I;I_LL | e
X-21§860 1 Q.8 =1 .S ||
1-215860 1 Q&1 = 1 wewhl

<

=
0 o o

o «
& 2,6
(& .
E
~ <
-.s <
8 p: G4
L 51,
3 4, 3)
=y 6, 2
> A Zsh (6,
\@\. i i
1 T —t— .
3
5 it
X110 243 4 7 9 10 11 12 13
¥ Gousstd (8.18)
4 | Lot

15. @m gGwflssmwnarg ST eUgSEMSLTETITSHEDSHS
urEI@w eaitarm curmeflar gL 50% SeTEpUgenw
siflellsdlngl. Glss eallmes@Gd FeTEpLIg&EGLreT
QUETLLLD auenrs. Goeib,

(i) sumpuL_GA®mBSI, @b eumgsengwmerii I3250-g
gemepLIgursl unored, GMSs allmevenws sreswrs.
(ii) @55 allmeowrerg I 2500 erasfled, FearTEpLIgMWS
STewTS.
BTy
x 6168TLIG GNISS C\FTens: eTevtayLb,
Y 6168TLIG)| S6TErBLILG. sTevTaLd Olamenss.
50 1
' =50%= — = =
SeEDe = 30%= 700 ~ 2
QaEr(SsLILL L sewsanesig ChiTnmnenevs
OlanewT(Deeng) 61651LIG O\GeMeunSleims.
Sy =kx

i.ey= Ex
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SeiTEpLIq

&S5 Czrens (x) 1000 2000 |3000 |4000 |5000

) 500 1000 [1500 [2000 |2500

aufleng Gamg = { (1000, 500), (2000, 1000), (4000, 2000),

(5000, 2500), (6000, 3000)}

(i) euemTuLSHeSNHHG v = 3250 16860 x = 6500
G&NSS Cgrens = 76500
(i) @CsCumed x =32500, e16led y = T1250
.. &enempulg = 1250
Y-
I QTN T
X-215860 1 Q&1 = 1000 je0@sen
V-215860 1 Q&.18 = 500 ie0@as6ir |
5500
5000 ———
1 4500 e
4000 —
3500
Bosgt i 4Ll i b it
3000 (6000; 3000) |
(oY FaVo Gk I ] R SR (33 ] et i | (5000 '2500.) ]
.Y Ve, i EEE] i ] ] 4000; .2000:) .............
1500+ (3000, 1500) | 1
1250} ===----- ; )
1000 (3000, 1000) :
500~ #{1000,1500) E
D oo e 28eis X
— N o <t w O 13 jnd oo
AV

G55 Ogrens
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16. xy=24, x, y>0 eTevtD UEHTLL-S6MS QUMTS. QUMTLLSMSLI
uweruhS53),
(i) x = 3 erafled y— 238 Hrewia wWHMILD
(i) y = 6 erevfled x— go& HmewTE.
BTy
X 1 2 3 4 6 8 12 | 24
y | 24 | 12 8 6 4 3 2 1
S LeuenewulledBBgl x SiFsMs@welunpg
Y @ODSng) 616511151 QG efeunSleimg,.

e1e01Gou Qg @ eTdlTrmevn@L
xy=k
iLexy =24

aufleng Gamg = {(1, 24), (2, 12), (3, 8), (4, 6), (6, 4),
(8,3),(12,2), (24, 1)}

(i) x=3 etexllo0 y = 8

(ii) y = 6 stesfled x = 4

e 1 {2zt peam) Jey 1 { TEE1 EITE1beae by Eree ey rees prvee
2 T SHE S s s o 3 b | s

X-245860 1 Ql&.18 = 2 je0@ae
L6 | | | | | | V-2158le0 | Q.S = 2 gjeo@seT
4 24 -

e8] o e e e e Pl P e e s e e s
6 R IR I T IR 20T 22 2 26 N
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17. y = lx ererp Cuflu sweturiger / erifler euenruLLd
aemrs. alldlgen wrfleflew enLwrerd sent(h), iFeneur
umrUL $FILer sfluriss. Guoad
(i) x =9 erafled y 286 smewts.

(i) y = 7.5 erefled x g5 smewis.

BTy
= —X
Y 2
X 2 4 6 8 10 12
y 1 2 3 4 5 6

3L L_euenewulledBBal x SiFsMs@GSwelLmIpg! y- ujb
SlafNadleima steriuig Cgameundlesmg. 1

s1e01Gou @)g e(h CriTpmmevmGLD. s k= 5

auflews Gamg. : {(2, 1), (4,2), (6,3), (8,4), (10, 5), (12, 6)}
H4— [ [ | | | | | [ | x-aéﬂi?giizl_lmgs\)@
V-2158le0 1 Qg.18 = 1 0@

e 1
124
]
i R S R R SR S S

9. -

i
|

[ [ [ [ |
T O ) 363 45 G ) 8 o I

_.
|
(Ve 1521 (11 1314 HEH (14 MR (0 1 B

(i) x=9eefled y=4.5
(i) y=7.5 etele0 x = 15
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18. @ Osrineow miriug GCzmewrer (@misefer
aentenflaeman Sma qHSHS Oamarend CrrpLd
Hereumd L cuemewruiled Clar(HissLLL (DeTeTg.

Gprusefler srewrenflgens (x) | 2 3 6 9
TS5 aTaTEHL CHird

BISL_misefled (y) 45 30 15 10
Gmrj)&rr@u': STSEHSS UMTUL LD eUmThHSI,

()5 Gerisemerl uweTuhSSlermed, OCFTL g BlTbL
TS5 CarareriiLL L. Crrgamss srewrs.

(i) 9 PSl_rizefled QL 1q BlidLilesrred, LwTLOISSLILIL L
Gprusefler srentenilsamaamus srewnrs.

BTy
S L_euenewTulledlbBgl x iSsMNs@WelLTpg
Y @oDSng) 6165115 O\GefeunSleimg,.
e1681Gou Qg @ eTHMTMeEVT L.

xy=k

e xy =90

e k=90

auflens Gamq. = {(2, 45), (3, 30), (6, 15), (9, 10)}

(i) x=5eefe0y=18
5 @pnuisenend Claresmt(h G\sm iqenw BIrLiL e1(D&ais
Ql&meErpLd smevld 18 Bl _migeiT.

(i) y =6 eresled x = 10
9 Hfl_misefed Qg iqemw Blyliu CaemeuliLi(id
GLpmuisafest stewstesTena 10.
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A
. R A o EN OV T
X-2158le0 1 Q&.18 = 1 60
i T y-9188e0 1 Qe = 2 geu@aen |
42
140
38—
36
34
32—
130
l2g |
26
'g 24
E
[T Yo Bl
20
i B SR S R S
]
16 i
1
14 i
i
12— :
]
0 ! '
8 --------------- ) o e 1
- +
i |
-6-— 1 L}
i i
4 1 i
i !
2 : :
1 1
50 ) v e
XY,123456789101112X
Gpmu

19. @m uerefluargl, GO feo CurLinsepsE, ufles
Qzrensuilener eredeor LEICHEHLITaTTSHEHEHGLW LleTau@mbLomm
swwrs Ufl5g apriGagrs sifleilssing.

umiGapumreriseflesr

sTewitemllGema (x) 214168110

g:f&"g('-;'ﬂ%ﬁu"ﬂ"ﬂ“” 180 [ 90 | 60 | 45 | 36
y

(i) @iz wrfledlenws Srevwrs.

(i) Coparamid FTHEPHEG uTULLD eaiThBE, 12
urIGspureTiseT LEICSHISSHIS CsTeRTLTed aItlaur
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uRiGapurer@d CQumw ufleg OCzrens ealauerea)
THTLINSES HTEwTS.
BTy
3L L_euenewulled BBl x SiFsMNs@welLnpg
Y @oDSng) 616511151 O\gefeunSleimg,.
s1681Gou g1 e e1HITDIMeEVTEGLD.
(1) xy=k
i.e xy =360
e k=360
cuflens G = {(2, 180), (4, 90), (6, 60), (8, 45), (10, 36)}
(ii) x=12 erefled y = 30
. &60Ihg|Cl&meTEBLD eetbleunmeuLd GlLNID ClFTens
=330

4% i i i 0 B 0 1 SleTeSHL_LLD

P L x-oiE8led 1 QeSS =1 60
V-215860 1 Qg1 = 10 0@ s6i

170
160
150
140
130
120
110
100

)
|

T | FEEE |
6 Y 5 A TSRS Tt ) G A T 0 {2 | AR (R0 4
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20. Gumbgl Bleweowd MBCs 2afer @@ FHET eUTSHETLD
B _sdled  QupuuBL sSLLewr  Czres
UesreuqpLomm):

Crid (wewfluiled) (x) 4 8 12 24

sLLewr Q5rens < (y) 60 120 | 180 | 360

Quplu@b sLLewS  OFTHSUTRTH  QUTHETLD
Pinssuu@w CrrsdnE Cbr wrmuTLiged 2 eatergm
300G TSI  WLIMUTLIGED 2 6TeTST 6Tewr QLTS
Qar@&siUL L Srasamer eamTULSSled (GBlEsa)b.
Gueid,
() PmszsuuGw Coyw 6 wewfl eeafld, s Lewrs
QZTensmWE STERTS.
(i) T150 g sLLewrg Cgrenswunss CeSs BmBSTE0,
BinSsuuLL Crrgglear sieTeneud smewTs.
Biray:
3L L_euenewulledBHgl x SiFsMs@welunpg
y-wb Fsfsfleimg steviuig) Clgafeundleing.
e1e51Geu @3 e(H CHiTDTDeVNE)LD.
y =kx
iLey=15x
~ k=15

auflews Gamig. = {(4, 60), (8, 120), (12, 180), (24, 360)}
(i) x=6eeled y =90

Qe85 Ceusttiqw Clgmens = I90
(i) =150 sredled x = 10

S BniSsUUL L. SenndlsE sreogierea) = 90 el

Cribd @ Lb.
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YA

SieTeySHLLLd
400 | EFEE T S ] RS Y R x-2158l60 1 Q&.18 = 2 2005
V-2158l60 1 Qlg.18 =20 jeu@aen

380
360
340-
320~
300
280
260
240
220

Qgrens:

200
180
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3

I
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D e I
8102 M6 182022 2 26X

STeVLDd
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| uulpAssnar ailarmsser 5 dIGlLeTTISET

1.

10.

11.

Ly = X7+ x e euemTULLD 6uenTHII, X

QUG FFLATLIT g6 SiTeH6lesT SN  eUEDTLIL LD
PLPGULD QY TTIS: H+x—12=0

. @MU FFLETUN g6 SiTeyaeilesT SHeTenEnW  CUEMTLIL LD

PLPGVLD QY TTUIG: -8 +16=0

. QMU FFLETUN 1q65T SiTeyaeNesT SHTEHENW  CUEMTLIL LD

PLPGULD QY TTUIG: +2x+5=0
QaTOSaUILL L. Q(HUGE FLTLIML IG6T UENTLLLD UENTS.
SIB6TT Sy SH6MetT SETEDLOMWE Famis: x° — 9 =0

. Qar@&sriuL L @(r_r)qu.& FLOGITLIML G 63T QUEMTLIL LD 6UEDTS.

IIB6T Sy seMes SEEDLEMWE Famis: x° — 6x +9 =0

Ly =¥ — 4 eueruLd euenThsl, ST LWLHSS)

X —x — 12 = 0 61651 FETUTL DG STSSaLb.

. y=x7 4 4x + 3- T euemTLIL LD 6UEDTHE, SD6TLI LWETLI(HISS)

X+ x+ 1 =0 61651 FLOETLIN 1681 STeneus SHNewwis.

2 >+ 1 =0 eem

FLOETLINL_6OL_& STdsHaLb.

. y=x7+3x +2 U6t euEnTLIL LD eUEDTTHS), ST LWETLI(HISS)

X+ 2x + 1 = 0 e1681D SLSTUTL D& SiésayLb.

y=x%+3x 4 W6t eUEBTLIL LD eUemTIhESI, ST LWETLI(HSS)
X%+ 3x —4 = 0 61681 FLSTUTL_DL_& STEsa L.

SPEHTEILD SL L UENETITENIL H61(E) LI5S
Qan(hsaLiLIL (DT alesnsasEnsE) ellenLwiefl.

Spuilensefes eten (H.8) | 1 2 3 4 5
g‘.bljlﬂsﬁaaafﬂd'r allemev (em) | 200 | 400 | 600 | 800 | 1000

i) eflllz Fio wMYedlenws Snewrs.

il) euemTUL LD euemTHGI, SiFewertl LTSS 7 &.&lymb
SpLilesefent alleneoeniuis srevtis.

iii) T500/- &) er6116u6M6Y L INETEH6IT CUTRISEVMLD 6T6VTE
STV,
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12.

13.

14.

15.

G““f‘”“"%‘—“ﬂm 30 4| 6| 8| 9| 16
6T6uTTETTSH6MS (X)

Couemed gp-sefllest| oc | 75 | 45 | 36 | 32 | 18
6T6TsT6utTISH6MS (V)

S Leuemewilled  QarssiuL(DsTen  eleurmEsEHsE

QUTHSSLOTES EUMTLIL LD CUENTSH. FemerTLl LweiL(hsd 12

Geuemev oy a6 SeGouemeveni (Pig&5s 61(DSSIS0\SMETEBHLD

ST6V I|6EMEN6EUSH HTETITS.

1 el unelesr eflemed I45/— yenalih@d aleweod@Ld

QewLLiLL L QFmL_iTenL euenTUL OIS euenfs. Cogid

i) elldlg &0 "K"eneus snewis.

il) euemruLGensL1 LweTL(HGS 3 el LiT Limedlest ellemevenuis
SHT6TTS.

xy = 16, x, y > 0 61651LS6T UHTLL LD QUEDTS. ISH6M6UTLI

LWeTLI(OES 16 68T 6uiTES pLPEILD SHTEwHTs:.

QR QHFSST euNaed L (PLieui Liwewtd Glguiujbd ST,

Crrpw Kemaumbd L L eusnesstulled s &sLILL (HeTsrg.

Crrd (HLfl_migsamen) 4 8 12 16
g ($.5LL_Me0) 8 16 24 32
i) ez &1 wredlenws sHnevwis.

il) euemrULLD euenrhgl, 10 Blfl_misaled eui sL_hS
SMTSHNSHS SHTETVTS.

iii) 40 &1.15 gMrsems L5 i 61(DSGISSTETEDHLD SHMev
3616 6TELIEUETEY?

3% %

WWW.Padq@%q'.Net
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| ueveyer azifey allarmsser 1 16w

1. 4B _BC gefier, ABC wHmid EDF eriiGlumpg

DE Fl)
allg ClaIrgSmanlns jenLujLd?

1) /B = /E 2) ZA= /D
3) /B=/D 4) /A= /F aflen_: 3)

2. ALMN-ufled /L = 60°, /M = 50°, Guogyts ALMN ~ APQR
eresfled /R-uflevt gLy
1) 40° 2) 70°
3) 30° 4)110° aflenL_: 2)

3. @mewuss W&ECarewd AABC-ufled /C = 90° oHmibd
AC =5 Qlg.15, etesfled AB gy o7z
1)2.5 Q&8 2) 5 Q&8
3) 10 Qe.18 452 Q&8 aflenL_: 4)

4. Qar@ssuurL uL_gdled, ST || QR, PS = 2 Q&.5 wHmd
SQ =3 Q&.15 ererflled APQR-uflewr LirLiLerays@w APST-ufler

urLiueTeS@w 2-afer aflflgwn ,‘
1)25:4 2) 25:7 A
3)25: 11 $25:137 7 ‘aflen: 1)

5. @m agOeargs waCasrewmsar AABC wpmiw APQR-
ullest sHmeTeysar (PermGu 36 G1F.15 HMILD 24 C1F.15 Iy, GLd.
PQ =10 Q&5 ereufled AB-ullewst oo,

16 % Qs.8 2) ﬂ

3) 66 % Q&5 4) 15 Qg..8 aflenL: 4)

6. AABC-ufled DE || BC, AB = 3.6 @Q#&.5, AC = 2.4 Q&.15 wpHmd
AD = 2.1 Q&5 erevfled, AE-uflevt Serrid
1) 1.4 Qz.18 2)1.8 Qz.18
3) 1.2 Q&8 4) 1.05 Q&8 aflenL: 1)


https://www.cbsetips.in/

X © &EEG www.Paddsaga). Net

7. AABC, AD gyergl, ZBAC-ullesr @mswbeai . AB = 8
Qe&.15, BD = 6 Q&.5 wpms DC = 3 @&.5 eafled, LS

AC-uflevr Bemid.
1) 6 Qg..8 2) 4 Q5.8
3)3 Q.18 4)8 Q5.8 aflenL_: 2)

8. Qar@ssUuLlL uLggled /BAC = 90° wpmud AD L BC

eresfled,
1) BD.CD = BC? 2) AB.AC =BC? ‘ AN
3) BD.CD = AD? 4)AB.AC=AD’ aflenL:3)

9. 6 15 wHmd 11 1§ 2 wpeter P SWUEZET FOFETS
geoquiled OeEIGSHTES 2 aTerar. JuDMleaT I|qHEHHES
Qoo Cuujeter  Cgmemevey 12 15  ererfled, Sjeumnilesr
2 sdlaemsE QenL_Cw 2 eTer ClFTenevea eTevTenr?

1) 1318 2) 1418
3) 1518 4)12.818 aflenL: 1)

10. Qar@ssiuLL uLggled PR =26 @&.15, QR =24 Qg.5 LPAQ
=90°, PA = 6 Glg.15, QA = 8 Q5.15. ererfled /PQR-28 srewis. ;

1) 80° 2) 85°

3) 75° 4)90° " aflenL: 4)

11. el gdlar Qsr@CarOL g HIWw OFEHGSSTS
o QL1d
1) emwowid 2) Qgn(Oyeief
3) epigeiled] 4) mmewst aflenL_: 2)
12. el gdlesr Qeuafliypl yereflulledpba L L S8)H@
asgemer QsTHCsT(HISET aienrweomd?
1) perm 2) @rewi(o
3) (gD eTemTERNGENS  4) Lehgdluid aflenL_: 2)

13. O-eweu emwwiors 2 emLw el L SN, CeueflGuujeter
yetefl P-wiledlpig euenpuiulL. QzsrHGsrmsst PA
wpmb PB gy@w. ZAPB = 70° eteefled L AOB -ullesr LIy
1) 100° 2) 110°
3) 120° 4) 130° aflenL_: 2)

14. uLgdled O-emeu ewwOWIOTE 2 6mW e L SHler
QsTHCarpaer CP wpmw CQ sy@w. ARB gyerg
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aL L sdler Bgieter Lerefl R auflursé Caeoein wHolmmm
QsTHCaET® Sy@w. CP = 11 Q&S whmw BC =7, Qz.18.

eTeefled BR-uflevr Serrio. \
1) 6 Q&.8 2) 5 Q.18 y

B

3) 8 Q&..5 4) 4 Qg8 silenL_: 4)

15. uL_$gled 2 atereurm) O-gg ewwWIONS CEHTERTL QUL L SSeur

QsrHCaT([® PR erefled, L POQ syoorg o

1) 120° 2) 100° Q

3) 110° 4) 90°  aflen: 1)
=== Topiam

1. SpsarewTuaTaudmieT 615 Fiflwedeo?

1) @ eugLleungs (P&Canemmseiest LFLILS6MeT aHHLD
64 : 81 e163le0 euHMIETT LIGEEIS6ET allSlFD 8 : 9 Y @Lb.

2) @ (p&Canemtg e Falweniaa Fhdlé @)L Lataflmeng,
eeveun(h EallienesLb sTevTn e1Sl5 5560 L& @ LW eTerlle0,
Eallweniaet FhHe@L LsTeflumeng) (WpsCanemsts et
QemRIGam_(H enwwid eT6u HEOLPSSLILIID.

3) @meuL Lmisar ettennolwnesin 2 L Lpns s (Hdé
Oanetepd  etetlled  yrmsefest  aflgHungoneng)
EOWEISEHSHE QevL_LILIL L GTisSlenens @Hla@LD.

4) m OemGaren (PsCatamsHer siewsdler g
auemruiLGL sgITSSleT urliuneg — euevg Gomever
w&Catemsdler OO LSSEISATE  euemTWILILIL L
FGITRISMET LSSHSSNH&HE FLoLb. aflenL_: 2)

2. uLgglefmBg CUTmSSreT BlLbSenesT A
1)BC xAC= £
BF

2) BD x AF = AE x DC
3) BE x EF =AD x FA RRL VIS
4)BD = DC aflenL_: 2)

3. uL§eSmHGI 2, b, ¢ LHMID 16 eraTUeT QUHEGS CFmLiT
aflerguiled 2 eterer. Gueid Sieunnler FaHFed 30 eresfled
LG gled
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1) DE eteviigy BC &3 @emevor
2) DE eteviigy BC &3 emewt 6060
3) siqliuenL eilélg 108 ConnSIH S
L GLELE ¢
4) QarssLLL L elleurmsst GLngwnesgns edeneo
aflen_: 1)

4. D, E wpmib F eresiuer penp@uw AABC & LSSEIS6TTET
BC, CA wipmib AB gpflweupfier enwwiiereflser eresfled
DEF wpmib ABC ererp (p&Carenrriseaflar urLiLere;serfler

aflfgLo.
14 2)1:2
3)2:3 4)4:5 aflenL: 1)

5. uLggled am L (Heter AABC 60 ZA = 90° wpHmd
AD 1 BC. AC = 30&.5, AB = 40&. I.SI.DE)Q]LD BD = 3.2Q0&.15

eTesfled AD =
1)2.4 2)4.2 D
3)5.6 4)3 aflenL: 1)
A B
6. @ e Lmsaflar yrEser PepCu 8 CF.S wHHID
3 Q&S erera)d eunHleT EMLWEISEHSHES DevLLILL L

s 13 QelS ererayd CaTewTLTed eupnler GuUTS)

QsTMHCaT g6 Bemid
1) 8 Q&5 2) 5 Qg8
3) 13 Q&.8 4) 12 Q&.18 aflen_: 4)

7. SpsTeRTUETOINMIAT 6TF]/6TENE 2 GRTENLD?

1) SmaTSF QI L ESEDHD algolaurgsameal.

2) SmaTSs EHITESEHL allgOansgemal.

3) @Gy ecemienfllsmaulled LssEsmer OCarewi B
ueGarewrmisaflar @Fz5 GCosrTewmmser swowrsaw
@55 ussnsear alldlg swwrsaw PmbsTed el
UCHETERTEISEBL allgCleuTSgmeal Sy @Lb.

4) SmeSE FOLSS (PECHETERTEISEDLD allgClaTSSemal.

1) 1 wHmib 2 2) 1,2 wpmib 4

3) 1, 2 woHmitd 3 4) GunHandlu enesISHILD

aflen_: 4)
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8. 205 BerpeLw @ Blewewd GSFrer G perg 105
BeriperLw Blipewed Feopulled eHUBSSHIOTETTE), S0LS
BerpenLl Blipemey Feopulled egHUBSHIL Camyrsglest

2 Wy
1) 100 S 2) 120 8
3)2518 4) 200 8 aflen_: 1)

9. ap&Carewrib ABC 60 DE || BC, AD = (7x—4) Q&.15,
AE = (5x-2) Q&.15, DB = (3x+4) Q&.8, EC = 3x Q&5 srevfled

x & Iy

13 2)5

3)4 4)25 aflen_: 3)
10. w&Gamrewrid ABC 0 AB_BD p_ 70°, £C = 50° erevfled

Z/BAD = A€ DC

1) 30° 2) 40°

3) 50° 4) 60° aflenL: 1)

[2 oBioums shensai B
1. Aggrared Cahmiemns epsis.
@ ClemiGanenT (P&CanemsHed sirewwTsSen euilsbasLd LHM
B L&SEIGEIT eUTSSRISMET Fn(DSNHE:F FLOLD.

2. digrared Canmidler wnisemeamiu eT(pgIs.
M (W&Canemisdled Harones LSSSHeT euissn WLHD
B\ LssmEIsaTeT aiTsEsEISNT Fn(DSNISEGHE FIOL 6166V,
b3 (PaCanend ClemGarent (P&sCaHTemDd oy @Lb.

3. Queafleomed CsnmSms T(FIS.
ABC e1etip (p&Canemwisdler ussmsst BC, CA, AB
(1606081 SjeunMlest HLH)-ulled 2_eiten LyatafaeT (enpGu
PQ, R oyflwen e Cam_enwnbg Lstelgeams ojenouws
GCaemeuwinest pmid GLimgonest HlLibgenewt
BP CO AR . oo .
2C o X—p =1. Bbaé &SSITSSle0 2 eiten
CanL_(D53160T(NS6T SEMEBISFHILD Hewg FibhSHEneLUINEGLD.

4. Eaured CaDDIMS TIPS,
ABC s16v1L1g (1 (P&HCaewwiid 616818, LGSBIGST BC, CA,
AB-uiled 2 i Lyentefilsea (peonmGui D,E wmmyid F etevis.
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&Canemis e LssmIsT @G Hengenwis QUNHSS,
AD, BE, CF e1ev1p Eailwietiaa e(hEISlengnhgieTeng)

. BD CE _ AF : . .
eT6vTleV, D_Cxaxﬁ_l' eeaibleunm alflssSlenesiud
gemeodlwins wrmblestmeid Comam g 2 ewtenGu.
eQeTetlen 1-ulest HemevSLN Q6VTM) G LD.

5. uLggdled ZA-ullesr mEwbauig AD gy@w. BD = 4 Qlg.15,
DC = 3 Q&.5 wHmid AB = 6 Gl&.15 erefled AC-emws srewis.
BiTay:

AABC-ulled, ZA-uilest @\(mableu g

AD oy @Lb.

e16e1Geu, Canevsr @\(HELOleUL 198
Y 5 BD _ 4B B™Tem D 3em

CopnsSleiig T

4 6 ] B 9k

T -mhgl, 4AC = 18. etesrGeu AC = 5 4.5 Qlg..5

6. Qar(M&ssUuL(eTer LLGZled AD erestLg) / BAC-6r @(m&io
Qagqur@w. AB = 10 Q&.15, AC = 14 Gl&.5 wHmw BC =6
Q&5 ereofled BD wpmid DC-gg smewis.

BTy
AD stetiuig) ZBAC-651 @(hanbleuL iqwim@Ld.
AB=10 Q&.15, AC=14 Q&.15, BC=6 Ql&..5 A(6,2)
Canewer QmewbleauL iy CammiLiLig.
BD  AB 10 14
DC AC
X 10 A 5 B x D 6x C
6—x 14 7
7x = 30— 5x
12x = 30 x= ﬁ
12
x = 2.50Q&.8
BD = 2.5Q&.5
DC = 3.5Q&.8
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7. Qer@&suuLrL. uLgdled DE || AC wHmus DC || AP GI'GIiﬂG\)
BE _BC
EC CP

Sivey:
ABPA-uled, DC || AP e1681LI8T60, 3jiq LILIEDLF B C P
sllflgen Copnsdleiig,
B GlLnieg), ORGP aacalal (1)
CP DA
A BCA-ulled, DE || AC 668115160, 3jigqLiLIewL e1&lE&L0
CapmsSler BE_BD

@ e e acaldhl 2
B blLnieg, — EC- DA ()

(1) eSmigl (2) ?—i:i—g BlepLlsasiuL L g).

8. e weaflgar 18 15 HsCs Qearm Uearerr 24 15 aL_&Cs
Qeeddlpresr. QT8 BleneoullelmHa el @@5@10

Qzreneueneud: HrewTs.
- 7k
AC? = AB?+ B(?
AC? = (18)*+ (24)>=324 + 576 A 188 B
AC* = 900 AC=+/900 = AC =308
. Qan_ssbleneoulled Qmhgl e sLbg ST = 30 LS
9. APST ~ A PQR erewrs srL(hs.

BTy
APST wpmid A PQR-ufled

eTeuT BImieys. P

24:8

PS 2 2 pr 4 2

PO 2+1 3 PR_4+2_3
_PT

B mHa, — LoHDILD

PQ PR
£P oy eu18) GlLng) s Canewwtid. eTesGe,
SAS &flldlewmLiLig APST ~ A PQR
APST wpmd A PQR-ulled
pS 2 2 AN 2

PO 2+3 5 PR 2+3 5
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PT
6l :—LD )
VAN IGIY: B PQ o7 1o]1n)

£P ez Clungs Canewiid. eresrCeu,
SAS efldlapepmiivig APST ~ A PQR

10. smprefller efgellphbg Cxwellar afliyméGs OClFedeo
Brewi(p) eauflzer 2 aterer. m afl 'C' awip Gz
aflursé QFedagn@w. wHDTM® afl B wHmIb A op&lw
Qzmsser auflunss Q&ebmgrr@u’: Corg uremg C aufl
Qzeda)bCLITg) CFTemneva] sTalalaTa] (GMDUILL? (|.||_§m§u

LweTu(hS5S515)
BTy
SJ] = \/(1.5)2+(2)2
= +2.25+4

V6.25 = 2.5 enwedmen

B wpmid A euflé GlFe0e)Is60
SP+PJ=15+2 =3.5 enwedsar

Crriguins C s1651p ClgHeuflGw GlFesTpmed 1 6mL06d GHeHmUlLD.
el 160k smrrales eS® 2.5 enLoe0g6i

11. A etesrp Yeraflulled @mBE1 B sterm Leteflé@ée ClFedausnE
om Gord auflurs, BB OFeder GauemT(Hib. Gemd
afiCu Ceedaumsd Fallitss 34 15 QzHCaWD, 41 15 Hipsis
Crradywd pL_58 Caiemt(Hib. GerLd aufurss ClFedagnEL
uneng Mg SLureng afiCu Gearpred eealaerea

LIt Qgremevey CauflssLL(Hin? A
Siray: : ' . &end 348
Crrigwns @b eufCuw laeoe) 560

AB® = AC?+BC?

B C
(34)* + (41)> = 1156 + 1681 s

AB? = 2837 = AB= 2837 =532618
Slps@ Csnans ClFeesed
AB=AC+BC=34+41=7518
Crrigwns @emd euflCw Glaestpmed 75 — 53.26 18 = 21.74 18
SMILD GEDOULD.


https://www.cbsetips.in/

160 ayumalar.... © sHBVoREdasslal.Net

12. 3 Qa.5 gyrweter e L gdlar emwwsIlelmbg 5 Cs.S
Czrenevailed 2 eter  yetaflulleflmiBs el LSHHE
aueTuUL L QFTHCHT g6 Bemd Srewts.

Biray: Qi
Qar(&sLILL L g / J
OP =5 Qlg.18, gyid r =3 Q.15 v, »

CsTHCaM I1q651 Hemd PT g srever

QemCarevr (p&Carevwrd OTP-ulled

OP? OT? + PT? (Wsnsred Canmsdlerig.)
55 = 3¥+PT°=PT* =25-9=16
QsTHCaMI1q65T Hed PT = 4 Glg.15.

13. @rewi() Curg evww e L Esefler syrEseT 4 G5
HMILD 5 C1F .15 JpGLd. (1 QUL LSS\ BrewTreng) HGMT(H
alL L $30@&S OsTHCaTLIS JenhSTed Jjaiall L ggler
Brewsflest SeTLd STevrs.

Siray: I
OA =4 Qe&.5, OB = 5 Q&.15, Gueyb OA L BC // R

OB? OAZ + AB?
4+ AB? \\4{

52
AB? = 25-16 =9
steu1Geu, AB =3 Q&.15, BC =2AB
et60t@eu, BC=2 %X 3 =6 Q5.5

14. AABC gy erg1 ADEF-8 augOeaurggenal. Cueyud BC = 3
Qe&.15, EF = 4 Q&5 wpmb (p&Garewmd ABC-ufler upLiy =
54 Qg.15? sreufled, ADEF-wler LpLienus Smentss.
Sivay:
B aulg Cleunss (Pp&CanemmisEhenLW LITLIL|S6flesr
IS FLOMEsIg SeUDMIETT R5 LISSBEISEHEDLLI
auisamsafer alflasHn @G FwLb eTemLgTed
AABC —ullest uipliLieney BC?
ADEF — it untiueney EF?
54 ;
ADEF —ulest Ll Lieey e

sTeoG60l,
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16 x54

=96 Q&.187

ADEF-Wllest uiplineney =

15. AABC-uller nésmiser AB wpmib AC-6d Senwbg Leteflser
peopCu D wHmid E G, AB = 5.6 @l&.15, AD = 1.4 Qg.5,
AC =17.2 Q&5 wHmid AE = 1.8 Gl&.5 erefled DE || BC etewrd:
sr_(hs.
BTy
AB =56 Q&.15, AD = 1.4 Q&..5, AC = 7.2 Gl&.15 wpmiid
AE=1.8 Q&.15
BD=AB-AD=5.6-1.4=4.2 Q&.5 wpmid
EC=AC-AE=72-1.8=5408&.8

°q
AD 14 1 . 4F 18 1 s
—=——=—ppw " =" -_ =
DB 42 3 EC 54 3 3
AD _ AE !
DE EC

s1eu1Geu, g LiLienL allflagn Canmns e wnigeneoulleig
DE wevig BC-8@ @enewt oy @Lb.

16. uL_$5)le0 AABC Sy errgi (el L Femgs 0T (H&6lsTenTt(H
aL L Smgs &H mwhgeters  eefled BC-ullesr
BeTSengs STEwTs.

BTy
AN =AM =3 Gl&.15 (Cr Geusfliym Lstefulled kg

euenmuLiLL L Qgn(h&efest #LoLb)

BN = BL = 4 Q&.18 )
= = /)
CL=CM = AC-AM AN
= 90-3=608.15 7 .
BC = BL+CL \
= 4+6

= 10 Q&..8
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I Angmar allarmsser e s @nbLar 2 AICLeTTSET

1. AABC ufled, P wpmid Q eresiuer AB wpmid AC oysflw
ussmseafled Wgeater Leraflsear. AP = 3 Q&.5, PB = 6 Q&.15,
AQ =5 Q&.5 wHmd QC =10 @&.15. BC =3 PQ etewr Bimiays.
BTy

AB _AC _BC
AP AQ  PQ
9 15 BC BC

3_€:E :>P—Q—3:>BC:3PQ s N

2. @ WPHECHETaTSSaT GSHWID FRT IQLILSESEIMS
afl 4 Qg.f gFlaw. Y&Canemrsdler uTLiLeTey 48 F3IT
Qz.15 eresfled, e SjqLiLemLufled LOHMID (HSHIWTSS\ewT
S|TESHMETS SHTEwT5.

SiTay:
IlGLILSGSHD = X 616018, GHSGIWID = x + 4
w&Carewrsdlest LTy = 48

1
T 3 X QGUILISSHD X (GHSSWTLD
1
48 = 2 X x(x +4)
96 = x*+4x

X+4x-96 = 0
(x+12)(x—8)

Il
(el

= —12 (Not possible) () x =8
. gliugad = 8 Gla. LB’ &S = 12 Q&5

3. (yaa;(‘ba»rrsmm ABC 60 ZA=90° AB =5 Q&.5 AC = 12 Ql&.5
AD 1 BC ererfled AD = ?

Biray: 1
A ABC et gLy = > x 5 x 12 =30 Q&..5°
Gueid (p&Gamevid ABC evt LipLiLy

= %XBC.AD 12 R

1
30 = EX13><AD 5 B
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[BC = v12° +5% =13]

60 = 13AD
AD = 99 Qs.8
13

4. ABC etevip QemiGarent (p&sCarenrsdled, D eteruig BC et
eowwlietefl ererad, LC = 90° ererayd QwLiler
AB? = (4AD? - 3AC?) erewr Blmieys. A
SiTay:
p&Canevwrd ABC-60 ZC = 90°

AB? = AC?*+BC?

= AC?+ (2CD)? B DaciC
[D etevtgy BC evt emwowiLiyenmef etesiigned BC = 2CD]

= AC?+4CD?

= AC? +4[AD*-AC’]

= AC*H4AD?4AC?

stesrGeu AB® = 4AD? - 3AC?

5. uLggled A, B wpmib C ereiuer penmGu OP, OQ whHmibd
OR gpflwaundles 155 emwhg Yetaflser eraran AB ||
PQ, AC || PR ererayis @@mLilest BC || QR eresr BlemLil.
Siray:

(p&Gsnewmib OPQ &0 AB || PQBPT 94 _0B . (1)
AP BQ

p&Gamemmid OPR &0 AC | PRBPT 94 _0C | )
AP CR P

04_0B_0C

AP BO CR

0B _0C

BO CR

.. BCJ| QR o) R

6 AB, CD e@iuer @b QL LSIO Qaim&HS@ eearm
QerIESsTe B DMmBrentser ears. AD = 5 Q&.15,
AP=3Q&.15, PB = 60Q\5.15. stesfled CP snewra. Qi P starug
AB wpmb CD ysflweunfler Geu(Hiv Yetefl gy@td.
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Siray:
(p&8anewTd APD- 60
PD?> = AD?-AP?
=53 a132
= 25-9
= 16
PD = 4Q&.5

C
AB wpnib CD stevtiest euL'L_ggled @) mrewsiassit
AP.PB = CP.PD

3x6 = xx4
4 = 18
x = §=4.5
4
CP = 4.50Q&.15

7. uLggled CA wpmid DB eresiuer AB&@ Oem@GSsm@Lb.
AO =10 @&.15, BO = 6 Gl&.15 wpmjb DB = 9 Ql&.5 stefled AC
STEwTS.

Siray:

w&GanemwmisaT OAC wHmib OBD 60
Z0AC=Z0BD =90

ZAOC = ZBOD (&50ladlit Canewmige)
aulg Cleungsemwéanes AA el (pemmLiLig
AAOC ||| ABOD
A0 _0OC _AC
BO OD BD
40 _AC 10 4C ¢
BO BD 6 9

e1681Geu AC = 15 Qlg.15

| uulpAssnar ailarmsser 2 dIClLeTTSET

1. seuflesr  quiledipibg 4 g ClFremevaled 2 eiten
geslwnesig &Geuflesr 2 &fleww 7 g 2 wrsdled
CsTHCIweNed Caemeuwinest eremfluflest HenGemas SHNews.
allenL_eow @h &1 QL S55(HSSLONS &([Hs.
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2. Uevreumeueteummier AABC-ulled AD opewig LA-ullewt
BwHFwbaiL i 9@ stens Candléseaid. (peiblaumenib)
(i) AB=50&.5,AC =10 Q&.15, BD = 1.5 Ql&.15 wmmd
CD=3.5 Q5.8
(i) AB =4 Q&.18, AC =6 Q&.18, BD = 1.6 Q&.18 opmth
CD=2.4Q&.8
3. aulLgdler  emwwsHeddHhs 25 e Ogreneveistied
o atem P etedip ysiteMuled g eul L SHD@E euemmuiiLLL
Q3THGaT 1q.65 Bemd 24 G165 sterflled, eut'L_Slevt oy 71b eTevTew?
4. Qrewi( Qg ewwow euL L migsled, 16 Cl&.5 BerpenLw
Quilw euL SHlesr mrewrienig 6 Gl&.5 oyrpeter Alu
L §HNEGsS OstCsmres emwhgred, OGuflw
UL L_SSlevT oy Tid Sestis.
5. AABC-ufled DE || BC, AD = x, DB = x — 2, AE = x+ 2 inhmjtb
EC=x-1 e16¥le0, LisamisaT AB wnHmn AC-ullesr Sermisenend
SN6TTI5.

[ Aspmer choman o
l. @m sCanemisdlar agCGsamd Qo ussEisaTe
BOLIYeTeilaenet Qenewris@l Cammesg epesimreug
LsSESSNEG Qenewr elvTLMSG IlqliLenL eSS0
Canmsems LwaTLOSS Binies.
2. AABC-ulled, ZA ev1 Ganewor @hewbleu iquinesig BC-g
B Foursmses fs@EW sefed (PsCaHTEmID 6(MH
B F1UGS (PS&CaTewILD 616w HIMI6s.

[5 wpiouss sromsadt Sopioeren

1. siguueL aflflgsw Canmbd eripd) Bimieays.

SaHmI:

@ CrICaT® (PsCanemssle e ,)E
LEBSHNG Devemnunseb whp B AN
L1585 81565 61T quL@mnng alenruLl B c

Ll Lmed 9&CaM(H Seuellyessi(h L&HSRISENETULD FLO

allflasdled LIN&SHME,.
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Blers LievorLd:

Qar@&ésiurLg: AABC-ulled AB ullest Goeieten sitefil D,
AC-uilest Goed 2_erter Lyeiefl E oy &1b.

BlenLilss: % = 2—§ giemwLi: DE || BC suenra.
eTewT Samhm) SMJ6UoTLD

1. [£ABC=ZADE=/1 |g4s5 Ganemmissi swoLb.
aQeefled DE || BC

2. |ZACB=/ZAED=/2 @g)g) GoretsTHRIS 6 FLOLD.
sQlemsfled DE || BC

3. |[£DAE=/BAC=/3 B (P&ECanemTEISEDHLD 6(1H
Qungeures CanesisHengs
Qa&nestT(H6Teng;).
4. [AABC~AADE  |AAA eflpempiiiig
AB AC - . . - QS]&] . .
P PAG 55 LssEIS ellSlgsaob.
AD AE

D wpmib E-gu vwei(hisg)
AD+DB _ AE+EC |AB wpmibd AC-g LS z60.

AD AE S ([HSGS60:
1.DB_, EC
YD TIE |9m ussmissigin 1-2 55Es.

DB _£C

AD AE

AD _AE HEMEVS LPITG LOMHD)|S.

DB EC

Canmid HlenL1ssLILL L g).

2. Ganewr @mewbai iy Capnims el Kinias.

(Angle Bisector Theorem)
Sammi:

@ (P&CanesrisSlert eh Canewis et

2 L'1m @mHEwbleuiquines)
215Canews e e1HTLSESSmS

2 L'pwons &Canemisdlenen LSS L&SEIS6M6TT

alflzs5Hle0 LM&@EL0.
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Blers LievorLd:
Qsr@&siurLgi: AABC-ulled AD-wimesig £ A-ullest 2 L 1w
B m&wbleu Lg.
. . AB BD

BlenLilss: Telro)

SiemwLiy: AB-&@ @enewtiing C eulfluins eh QenenstGan(n
euenrs. AD-Wler BLliqdluneng C  eulwns
OlFeveId CarLiqemen E-ulled #hdledng.

6T6U0T Samm] ST EUTLD
1. |ZAEC=/BAE=/1 R @@é@QmLLq_anmg]
Brewi(h PenevstGCanHsemen
Gleu_(Peugmed ezHuHID

etimieilL_L_ Canewstmisen FLoLb.
2. |AACE e1situg) @ |AACE-ulled ZCAE = /CEA.
FLO0LSS (P&CHTETILD

AC=CE  ...(1)
3. |AABD ~ AECD AA &l sHMLIL
uB_BD SlipeopLiLig
CE CD
4 | 4B _BD (1)-e9mma1, AC = CE.
AC~ CD Cappb HeniléslinLgi.
3. dignared Csnnseng o Bimieys. (Pythagoras Theorem)
Sapmi:

@ ClemiGanent (P&CanemisHled sirewwTsSlen euidbasbd LNHD
B\ L&EEISEIT eUTSHRISMET Fn(DBEHE:F FLOLD.

BlemLievorLo: 1
Qesr@&suurLg: In AABC, £ZA=90°
KemLilés: AB? + AC? = BC?

SemwiiL: AD 1 BC suemiys. 3 X ¢


https://www.cbsetips.in/

168 ayumalar.... © sHBVoREdasslal.Net
6T6U0T Samm) SITIT6UTLD

1. |AABC wpmb AABD-gg  |£BAC =90°
UIN[Hs. Qar&sLLL L g|
/B Qungleunesg. wHoId ZBDA=90°
ZBAC=/BDA=90° enwllledmhS)
stenrGeu, AABC ~ AABD
AB _ BC AA aSpemmLiLig
BD 4B
AB*>-BCxBD ... (1)

2. |AABC wppib AADC-gg  |£BAC=90°
UIBs. Qar@&sariuL L g).
ZC Qungjeunesg) ZCDA =90°
ZBAC = ZADC =90° oL mHS
stee@eu, AABC ~ AADC
BC AC AA alldlpemmLiLig

AC  DC
AC?=BCxDC ... (2)

(1) wHDID (2)-18 L L BID QUmieus),
AB?+AC? = BC xBD+BC x DC

BC (BD + DC)

AB?+AC? = BC x BC =B(C>.

Commid BlemLIssLILL L g).

orhm) eLS5i1ewiB Coppsams e Blpieys.
SaDM):

L L §dled QanhGan g6 ClgmHyeef
euLfICWI 6p(1h HTEVET euEDTILILIL L 6V, X

b Bresst ClgT(HCaTL(D\L6v

anuBSgIb Caresmigst (WeormGuw

S,

ealbleunainibd Fefgseilung wrhmi

UL L 5gIewT(n&6Med ienonhg CanemmisEns@s FLoLb.

e, LievorL:

QarSsUIULL g
O-enwwionss \snewi euL L GHled Al QgnGsm(HLest
anuBSaIbd Canemmigst (WennGu gelbleumemd
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Setlgeluns wrHn el L GgeswT(hgeled enLhs

CanewwtEIsEh&H@HF FLOLb.

Blenlas: (i) ZQPB = ZPSQ wpmith (ii) ZQPA = /PTQ
Siemwoti : POR. etedim e1L_L_1bd euenrs QR, QS wmmid
PS-emw QenevtissaLb.

eTewT Samhm) SMJ6UoTLD
1. |ZRPB=90° GﬁI_I_LD RP éj,mél
ZRPQ"‘ZQPB:gOO (1) Qg)"@(g&n@ AB_&,@
QlemIEHSS I ELD.

2. [In ARPQ, ZPQR=90°... (2)

SiemTeUL L SH60 2 66
Gamewid 90°

3. |ZQRP+ZRPQ=90° ...(3) @ CemCsnew
p3Caremsdled R
GnIBICaTesTE S6MewT
Fn(Hg60 90° 9 (L.

4. |ZRPQ+ZQPB=ZQRP+ZRPQ (1) wHmb (3) BHHE,

ZQPB=/QRP .. (4)

5. |ZQRP=/PSQ .. (5) @Cr auL L_&)6usTiqe0i6iem
CamewsTmIG6T FLOLb.

6. |ZQPB=/PSQ - (6)|(4) wHmILd (5)-embs, (i)
BlembLlGasULL L g).

7. |£QPB+ZQPA=180° ... (7) |GmiiGamiq60 Sjemions
Grilw Gevewsis Camewrmissi

8. |£PSQ+/PTQ=180° ... (8) QJ‘—'—E)"DG"Tﬁélm aé]n’

Canewmiseien g (g0 180°

9. [ZQPB+~QPA

— /PSQ+/PTQ

(7) wiHpid (8)-6@mbba!

10. |ZQPB+~/QPA

— /QPB+/PTQ

(6)-6Smbg £QPB=,PSQ

11. |[ZQPA=ZPTQ

s1e51Geu, (ii) HlemLl&eL

UL g1 Cammpd
BlehLISsLILL L g).

5. em p&Caremgdler BHECHETHGT @ Ystefl aufls

QeedILD 6TerTd: ST (5.
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BiTay:

&Canemisdlesr ableunm (peoeruledhna 6T sTSit
LSS Sler enwwLiLemeé@ euenTwiL@Gb Car (D g et
BH&EGCaT(H eTesTILIBID.

u&smgeTBC, CAwpmib AB-ullsirenwwiliLjetalgswpennGu
D, E wvppw F-&@ eusmruiu®w npbOsCarbsarmerg
Fallwensemmaa|d B mHé@L.

BC-uflevr m(h\ysiefil D. e1651Cer,

BD
BD:DC.&Q’)HQJQEZI ........ (1)

CA-ullesr m(Oyetefl D. eres1Ge,
CE=EA. g ¢ =1 (2)
=EA. ggmeugy — =1 L.
" EA

AB-ullevr m(\eiefl E. e1es1Ge,

AF
AF=FB.3{g,rr6ug,jﬁ=l ........ (3)

(1), (2) bomIb (3)-g3 CluBEHS BID ClLmieug)

BD CE AF

—X—X—=1x1x1=1

DC EA FB

s1681Geu Feumerd CanmLd BlepLilGaiLL L g).

Spe&Wned, KH&CaHT(HS6T e LTl euflé ClFeddlsmert.

6. e CemGarenr WiCaremrgdler sirewmd Al LSsSSer
2 wL_riens afl 6 15 giFlswb. G epaTpraig LSsLTaTS
shiemgeng el 215 @Geomey erefled, W&Csrewrsdler
LISSEISMETS &TEwTs.

BTy
x - Sflw LSBLD; 7 - STETTILD; Y - PPETDTEUG LISEBLD.

siewid, z = 2x+6 A
y = z-2
= 2x+6-2 x 8
= 2x+4
AABC-60 Lgnaren CanmsdlesLig S ¢ ¢
Py = 2

2+ (2x+4)? = (2x+6)
4t +16x+16 = 4x?+24x + 36
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X’ —8x-20 =
(x—10) (x+2) =
Sox=1018
o y=2(10)+4=24 8
©2=2(10)+ 6 =26 18
- (p&CaremsSlen epeitn LiGamEisaT 10 15, 24 15, 26 (5.

| |
oS O

7. APQR-ufled QqLLssDd QR-&@ OsrI@GSsTs 2 6fem PS
TS QR—? S-ufled sBglsADG. Cuad QS = 3SR erafled
2PQ* = 2PR* + QR’ etewr Blmieys.

Siray: QS = 3SR et651 QaET(HSSHLILL_(D6Teng.
KlemLilga: 2PQ? = 2PR? + QR?
QR = (%S-f—SR = 3SR+SR = 4SR
SR = QR

APQS-60, PQ>=PS?+QS?> ... (1)

A PRS-60, PR>=PS?>+ SR> ... (2)
(1)-(2) = PQ* - PR? QS?-SR?

(3.SR)> — SR?

= 9SR’—SR*=8SR’

1 2 1 2
8(Z QR) :>8(16 QR%)

PQ°-PR* = OF"
2
2PQ? - 2PR? QR?
2PQ*> = 2PR?*+QR?
@@lﬁ]é,aauul;l_gj.

[ Apswer choménet ghovmepsst s
1. @m smusgITsgled ussEseflar arssmsaflar sn@HFe0
Siaupniler epeevall L msaflar aurssrsaflar sa(hsalsHE
FLoLd eTewr Mimiays.
Siray:

ABCD e TWIES|TLD 616015,

FMUEGITSS6TT eLpemev el _L_EIS6T eevtennolwimem)
OlFEIGSS1S CleuL 1q.8 GlEmeTErmnLd.
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OA = OC wpmyd OB = OD D
QlemCanevet (p&Carevwrd AOB 60
AB? = 0A? + OB? A<—To €
BC?=0B?+0C?

CD?=0C? + OD? B
DA% =0A?+ OB?
AB*+BC*+CD*+DA? = (OA’+OB?) + (OB*+0C?) +
(OC*+0D?) + (OA*+0D?)

= 2[0A%+0OB*+0C*+0D?]
= 2[0A’+0OB*+0A%*+0B?]
= 2[20A*+20B?]

2 2
_ z(lAc) +2(130j
2 2
= Z[EAC2+EBD2}
2 2

= 2%[AC2 +BD2]

= AC?+BD’
FNLIESITSI T LSS BISMET 6UTHSBISMETT Fon(DF60 jeuMMlesT
APEDEVAIILL_EIS6M6NT 6uT&SEIS6NM6T dn(DBHEISHE) FIOLD.
P, Q erwtuesr AABC et un&smisermer AB wpmuw AC
S Flwauprler 155 Semwhg Letaflaer ees. AP = 308,
15, PB = 66l&.15, AQ = 501&.15 wHmid QC = 10 Q&.15 eTevfled
BC = 3PQ etewr Blimjays.

Firey: A

A
AP 3 1 40 _5 1 o N\
4B 9 3 AC 15 3 )y ¢
AP AQ y X
" AB AC B ¢
AAPQ wpmid AABC gpflweuniled Smna!

AP _ 4Q wOHDID LA etesiug) Qungieunes Camesorid

AB  AC
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aulg Cleungsenwsane SAS aldl(penmLivig
AAPQ ~ AABC
AP_4Q_PQ _ AQ_PO _ 1 _PQ

AB AC BC AC BC ~ 3 BC
BC =3PQ. BlepLilgasiuL L g

3. AD wpmb PM eresrues (penpGu AABC wpmd APQR et
BO&CasrHaer rars. i AABC ~ APQR, srerfled
AB _ AD
PO PM
Firey:
AD eteviigy) AABC 60 Aulled(phgl BCé@ euemmuilii L
BH&ECaT( erestayd, PM ereiiigy Pulledmig QR&@
euemTwLILL L. B(H&CaT(DH sTesraybd Clameis.
AABC ~ APQR ¢85 u&aEiseT allflg FnpenL_wene.

aTer Bimieys.

ap_dc_pc A
PO PR OR P
B® euglaings i E
P&CanemTmISE6T 255
CanewstEISeT FLOLD. B D c Q M R
JA=/P,/B=,Q,/C=/R )
AD, PM eteviient b(D&Gan(p\gei.
~. BC = 2BD whmib QR = 2QM

AB ZBD BD
(1) &0 @®ha -~ PO ZQM QM .......... 3)
womiwd /B =/2Q = ZABD=/ZPQM ... 4
(3) LHDID (4) 60 QBB
AABD ~ APQM
. SleuDMIeTT 6258 LISSEISET all&lg FLOWD 2_enL_ulenel.
_ AB_ 4D

PO PM
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| uulpAssnar ailarmsser 5 dIGlLeTTISET

1.

AABC-ulled, usasmiset AB wpmibd AC-ulles 8 gjemer
HeTefser (penmGui D mmbd E. gyewg DE || BC
6TESTMEUMM)| HEWLOHG|GTENTS).
. 4D 3 . . _ . . .
) Tp - g opond AC = 15 Qlg.15 e16tl60 AE-uflevt oLy
SNET1S.

(i) AD=8x-7,DB=5x-3,AE=4x -3 wpmud EC=3x-1,
6T16¥T160, x-63T LDSILIL| SHM6wsTs:.

. sy ABCD-ulled AB = AD, Z/BAC wmpmiw LCAD-

ullesr Ganewor @HFwGleuge:eT BC wmmid CD opdlwi
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(4, x), sTeayId ¢ eTeTLIg (Y, —1) 6Tewayd ClEmaTs. Q ot
SWSCSTmevaseT (-2, 4) eTearfled x, y & I
1) -6, 1 2) 6,2
3)6,-1 4)6,-2 aflen_: 1)

9. (a, b) (a, b) wOY® (a-a, b-b) eaip yeraflser Gy
Crir&ECamiq.60 Sjemwwld eTeufled
l)ab=ab, 2)ab, =ab
3a=b 4)a =b, aflenL: 2)

10. em w&Carenrsglear sCaaib B Wweanearsar (4,—3) LHMILD
-9, 7) eresram. Cued SwYsECaramgdar BHECHTL(H
enwowibd (1, 4) ererfled igeur LITLIY

1) 183 5.9 2) %&-&
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3) 366 &..94 4) —= 5.9 aflenL_: 2)
11. uLgdled sriLLul (Herter w&GCaremrsdler urLiy 20 &.3)
crefled c etesrm Leteflilesr Si&&S srrmiseT v
1) (o, 4—0j 2) (a*+b7, 0) N
a

X

20 40 jasa
3) (?, 0) 4) (7, O] aflen_: 4)

[2 wgpiouos hmsod] refRume

1. (-3, 5), (5, 6) wHHID (5, —2) QYFWUDEND (PENRTHATTEHS
Qsrewt (p&ECaremTSIlesT LITLIENLIS STenTs.

siray: Xy -3 5
1x

Aerupuy= = ° % :>£5 6

AR 2|5 -2

XN -3 5

a % [(— 18 — 10 +25) — (25 + 30 +6)]

1 —64 .
5 [(3-61]= l = 32 &.39160G6

2. (1, -1), (-4, 6) wom (-3, -5) eteim LereflEmemmed
SimWESLILIHID (P&CHETERTSSl6ur LITLIL| ST6wTs.

i XN 1 -1
A et uruy = = 23_4 ;
2|x; Yy, 21-3 -5

XN 1 -

= % [(6+20+3)—(4—18—5)]

1 1
= 2 [29+19] = 2 [48]= 24 &.9160@&6T
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3. A(-1,2), B (k,-2) wipmib C (7, 4) gpSlweunenn euflengwmer
wenerLl Yetaflserrss Qaren (p&Caremrsdlesr LrLiy 22
&gIr eoGaer eresfled, k-wiler IS srewrs.

A(-1,2), B (k,—2) wpmbd C (7, 4) o flwes (pewevtLs Lietamaei

Siray:
SbG1D-
AABC-ullevt LgLiL| 22 &&IT {6036
-1 2
11k -2
207 4
-1 2

{2+4k+14) - 2k — 14 -4)}
4k +16 -2k +18
2k + 34

-1 2
ko -2

2 =, =4
BDaR

44

44

44

Spenswned, 2k = 10. steorGeu k = 5.

4. P (-15, 3), Q (6, -2) widmid R (-3, 4) oydw yerefset oGy
CrirsCarLi1q.60 SiemUd 6Terrs ST (HS.

BiTay:
A PQR-6v1 LipLiy =0
YN
1% 22 g 1) 6
2|x; Vs 2| -3
YN

1 [18 - 18]=0
2

-15 3

-2 g
4

-15 3

% [(3+24-9)— (18 +6—6)]

- Qar(&suuL L epen) LetalgsT Gy CrirGsmqe0

S{eBLOULDd.

5. Qer@ssuurL. yeteflaer @wm Gamiiged Siemwbgseme
aresfled ‘a’- ulleer wIiewus srewrs. (2, 3), (4, a), (6, —3)
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BiTay:
A (2,3),B (4, 2) C (6, -3) @Cr CrirGsn__460 emeusned
AABC s urliy = 0 e iy =0

XuNpH 2 3
lxz ¥, :0:14 a ~0
2|15 Y, 2|16 -3

X W 2 3

% [Qa—12+18)—-(12+6a—-6)]=0
(2a+6)—(6+6a)=0><%

=2a+6-6-6a=0 0
—-4a=0 =a= ) =0
. a-691 &y = 0 h
Spsergyid Lereflaer Gy CrTGamLiged jemwujor aears
giroreflssab. (a, b+c), (b, cta) wHmb (¢, a+b)

Siray: X » a b+c
1b c+a

As’&rumﬂqzix2 Yo = =
2x3 Vs 2lc a+b
X » a b+c

1
G [(ac + a% + ab + b? +bc + c?) — (b> + bc + ¢ + ca + a> + ab]

1
= > [ac +a®+ab +b? + bc + ¢ —b®> —bc — c? — ca—a’ — ab]

= % [0] = 0 &8I 360G 6.

- Qar(ssuuL L epen) LetafasT Gy CrirGsmiqe0
S|eBLOULD.

LIFHMI(PEDD:

(a,btc), (b, cta), (c,ath)
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X © &SHS

XN

Asﬁruuuq=£x2 V2
21x; Y

XN
B 1 X=X, XX 1 a-b a—c¢
2 W=V, Vi—DVs =t 2b+c—c—a b+c—a->b
s a—>b a—c 1 i b
5 ) —aq) = ZED @O @) @o)
—E[O]—O

2

7. Qem@asuurL. yetaflaer om GCamliged jmwbg el
aresfled, ‘a’-wlesr wliewus srewrs. (a, 2-2a), (—a+l, 2a)

wHmbd (—4-a, 6-2a).

Siray:
A=0
X, 0 a 2-2a
X, Vol _ G2 —a+1 2a _
e\ 3 —4—a 6-2a
X 0 a 2—-2a

0

(2a>—6a+2a’+ 6 —2a— 8+ 8a—2a + 2a?)
—(-2a+2a%+2—2a—8a—2a’+ 6a—2a%)=0

(6a>—2a—2)—(—2a°—6a+2)

8a’+4a—4
2a%+a—1
2a—1)(a+1)

1
a= E or—1

LTHDIPEnD:

A =0

XN
X2 V2 =0

X3 V3

N

0
+4

oS O O
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NTX X T X 0
N=Ys N—=Vs
a+a-1 at+d+a 2a—1 2a+4
=\0pnj== =
2-2a—2a 2-2a-6+2a 2—-4a -4
—4(2a—1) — (2-4a) 2a+4) = 0
—8a+4 — [4a+8-8a’—16a] = 0
—8a+4—4a-8+8a’*+16a = 0
8a’+4a—4 = 0
2a*+a—1 = 0
(at+tl) (2a-1) = 0

(e a- -
a = — a= —
R 2

8. smiey 5 wHmid y Qe HFsiewnT® —9 S Fwainenns
QarewT. CriT&ECaML 1.6 FSTLTL L5 SHTEwTs..
BTy

gnie], m = 5, y-Qeu_(Hsgiew(), ¢ = —9
CritaGan e gweiun@ y = mx +c
y = 5x-9
0 =5%-y-9
Caxemeuwimest #wesiLin(), 5x —y — 9= 0

9. smieys Gamewrd 45° wHMID y Qe HFZewi® 11 enw

2 oL w Cri&Camiq.ar FoaTLTL s SrewTs.

Sivay:

gnieys Ganeserid 0 = 45°
gmiem = tan = m=tan45° = gnuiem=1
y-Qeu(hggiewmi(®), C =11

CrireaGaniqer gweiun@, y = mx+C
y = Ix+11
0 =x+1l1-y

.. Caemeuwner gwesiun x—y + 11 = 0
10. smie) 1-6 Qarewi Cpi&Csmyer smias Gsrewrd
eTevTeuT?
BTy
Fgmiey, m = 1 = gnuiey, m = tand = tanf =1
tanf tan 45°
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0 = 45°
.. emie Garevwtd = 45°

11. 6x + 8y + 7 =0 etevim CruT&CHTL 1q.657 FMUIeNEUS HTENwTSH.

BTy
X 651 Q&p

. _ 6 3
Fnuie|, m = ot @ogg 8 7

s1eu1Gou CriTaGan g6 Fmuie] —% SSLD.

12. (-6, 1) womd (-3, 2) ow PevewrsiFw CrirsECsTL iq.e0r
STUIEHEUS STEHTS.
SiTay:
A(6,1),B(-3,2)
Y,—y  2-1 2-1
x,—x, —3-(-6) -3+6

AB ev1 gmuley m =

coEmiey m= 3
13. 8x—7y+6=0ererm GamLiq.er Frule) wHmid Cleu(HGgiewT(H
S Funenns srewts.

BiTay:
&qx—Ty+6 =0
8&x+6 = Ty
7 L6V 6U(GHES 8 +6 ! :8 3
—xt+t—-== i e

y =mx + ¢ ujL6vT LI

6
Fniiey, m = g ; Y-Qeu(hggiem(), ¢ = -

14. x Qe (Hgziewt(® 4, y Qe Szt —6 ClsmenT
Crir&CarL g6 ST L5 STemTs.
SiTay:
x Qeu_(hsgiewi(®), a =4, y Qeu_(hSgiewi(®), b =—6
CritgGan g6 gweLm( £+% =1
a
LD A X Y acald
4 -6 4 6
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3x-2y | 3x-2y = 12
12 - 3x—2y—-12=0
15. (34) erevrp Yetefluiler eufl CFedeugid, _75 —gn Fmieuns

16.

17.

2 e wglorer CriTr&ECaTLigaT FWaTLUTL_nL& STewTs.
STy :
(x;,y)=3,-4); emnie},m= 3
CritgGa g6 gweLm(
y-y, = m(x-x)

Y- = 26
Ty +4) = =5(x-3)
Ty +28 = —5x+15

Sx+7y+28-15 = 0
S5x+7y+13 = 0
(5, -3) wHmIB (7, —4) etewrp PueTeflsaT auflF ClFedeID
CriraCarLiqer Fwaun® srewnrs.
BTy
B wLetameuflF Cleedenid CrireGaL .68 Fwestm(H
Y—h X=X

Vo= N Xy =X
_4_(-3)  7_ y -
4-(9) 75 X+2y+6-5 =0
y+3 _ x-S x+2y+1 =0
—4+3 2

(2, a) wHomwd (9, 3) aem yeraflaer afFtFedmD
1

CrirCariqer smiea) — Py erefled a—ullewr LI Hrewrs.

BiTay:

y2 _yl _ 3—61 = 3—61

x,—-x 942 11

Fnle] =
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X © &Ba0EG
S . 1
Qam@salLL L gniie] T
3-a 1
11 2
6—-2a = 11
2a = 17 = a—%

18. 2x+3y-8=0,4x+ 6y + 18 = 0 gl CrIGarHaer Qencvor
sTeurs S (hs.

BTy
2x + 3y — 8 =0 e1681p CaHML1q 68T &FMUliey
-X 651 Glas(Lp A2
I yer Qagp 3

4x + 6y +18 = 0 e1681) CaML_1q.68T &I
_ Xewm Qs 4 2

2 yeir Qaw 6 3
@rig m, = m,
gniie|se gid. stenrGeu Qe CrirsCan(Daenn
BemewTn@Lbd.
19. x -2y + 3 =0 wopmud 6x + 3y + 8 = 0 yFlw CrrICxTHISHaT
pamsCsTan CFrGSgTaTena fars ST (hs.
BTy
x =2y +3 =0 ere81n CrHICHT Iq.651 FMuli6

) {52

6x + 3y + 8 = 0 e1681n CHICHTL 19651 FMUlI6y

m (5

1
m1><m2=§ x(=2)=-1

gniie|sefest ClLIh&ESMHLIVST —1 oy @Lb.
- Qarssiiul L @rewi( CrirGan(heenLd

O&FEIGSHSMeTTENEUILITEGLD.


https://www.cbsetips.in/

200

spumali..... © sYBVbRadaBlaI Net

20.

21.

22.

12y=—(p+3)x+12,12x-Ty=16 g Hw CrrGarHiser parmisosreain
Qemi@S55 cresfled ‘p’-ullewr wIienLs Srewis.
Biray:
12y =—(p+3)x + 12
(pH3)x + 12y +12=0
= X Qe (p+3)
I yer Qs 12
12x — 7y = 16 e16810 CamL_1q.607 &6y
12 12
my= =77
B CriiGan(has anstlanein C\FE @&Sg.
stesrGeu m x m, =1
_M X E — _1
12 7

(p+3)

=l=P+3=7 P=7-3 P=4

19, 3) et yeeflevwn SqITHES GSTERTL (GHSTDHTETS]
QerICsrenT (P&ECaTewT algailed 2_aTamg). SOTWL T G
auHSSIb smuiesCarenTid 45° eTesfled, GeaTfle Siig. WHMID
2 sflonw PeenTiGld CHMLIg.aT FHSTUTL L5 SHTewTs.
Biray:
Fnuiey m = tand = tan45° = 1
som=1
yeie (19, 3) 60 Crir&Can_iqeur FweaLin(b
y-y, = m(x-x)
y-3 = 1(x—19) N
x—19-y+3 =0 N
x—y—16 = 0 A B

(=2, 6) wHmd (4, 8) ereim uyeteflmer eauflé GFedeD
Crir&CamLnergi (8, 12) wHmib (x, 24) starm Lereflaear aufls
Qeedd CrT&ECaTLIgNEEF OGSz resfled x-ulles L

STEUT S,
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X 0 H0HS

BiTay:
(-2, 6), OMID (4, 8) S Ew Leiefsaiest smuiey
8-6 2 1

m=--—=—=—
' 442 6 3
(8, 12) wHmitd (x, 24) & Letelaeflest smiie]
24-12 12
m. = =
2 x—8 x-8
Brewi® CrisCarsepd Clemi@Gss sagned m xm, = —1
2 4
37 x-8 ~ s
x—-8 =4
x =4

| fAngmar allarmssar e s @n5Lar 2 AELeTTISET

1. (4, 3) ererp Yerefluller euyfl ClFedeug b — _% o smleuns

2 L wglrer CriTr&ECarLigar FwaTUTL L& STewTs.
Siray:
. 7 '
Fnueym= ——; yerrefl (x, y,) = (-4, 3)
-, Crr&Gamn e sweun®: y—y, =m (x —x,)
7
y=3 = — @4
Sy—15 = —7x-28
Tx+5y+13 = 0
2. 3x—5y +7=0 wHmd 15x + 9y + 4 = 0 Fw Crir&CarHser

eamsosTan CFrGSg aar Knias.

Siray:
3x-5y+7=0 I5x+9y+4=0
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5 3x = 5y + 7 =0 wpmid 15x + 9y + 4 = 0 ete81n @yewi(H
CriCar(haenb O\&FEI@SSTeseneuILT@GLD.

3. pw gFssmer G CrisCamiyear evwwlieref]

P(r, ¢) eaofled =+ Y — 2 erem Bimjeys.

i roc

x Qe (DS giemT(h ‘a’ steraywd, y CleuL Hggiewt(® b’ sTerayLd
Qanewed CrirsCa g6 CleuL (HSEIETT(H eulgeLd

2 2
[a+0 bLOj
2 2

9 - o

a=2r wommiwb 6 = 2c

a b
X, + X +
spwwiysieh = (#M) %

~
Rl
(¢}
~
|

. Caemeuwnen CrirsCa .68 #werun(p 21 + 21 =1
r 2
sreoi@eu X+ Y =2
r C

arewicwreralled Fwowrsaw, Gmisefled oaTMECSTETM
adirrerengud 2 emLw el (hSgienT(haamer CLIHDSHILD
(-1, 1) eresrp yetefl auflé GClesdeugiorer CrirdsCsmL iq.evr
FETUT(H) STEvTS.

BTy
Caemeuwnes CrirgCam iq e Fein(h . % =1
a
a=-b ... (1) (QarssLiuL(heerg))
i + Z =1
-b b

(-1, 1) ere81m Yeitefl euLfl CrirsCan Claedeusmed
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11

_+_

-b b
= a=-2
CritgGan g6 FweLm( 2l

2x2y+4 =0 2 2
ie x-y+2=0

:>3:1 =b=2
b

5. A(x,y,) B (x,,y,) womd C (x,, y,) ereip ysiteflser oGy
Cariged emwwyd ereufled x y, +x,y, + Xy, =Xy, +x.y, +
X,y, 6T Bimjeys.

BTy
CriteGaL 1q.60 HENLOU|LD 6TESTLISTE)

h
Xy Vo _ 0
X3 W3
XNh

XY, T Yy T XY, — (Y, Ty, Txyyy) =0
XYy TXHYy TXY THY, T Y, XY,
6. Spsarayd CrrsCarHaafar swarurBaemer (g5,

i) axt+by+c = 0 eresrp CriT&ECaTIMNE DenewTrears)

ii) ax+by+c = 0 erevrp CriT&ECaT 190 CFEGSS TS

Siray:

i) axtby+c = 0 etet1D CHISCHM_19.M0@E Qewevwrwiment
CrirsGaL g6t #wesiun(p ax+by+k =0

ii) axtby+c = 0 stev1D CriT&ECHM 1M Bewevwriimest
CritgGan g6 gweiLim( bx—ay+k = 0

7. (-3, 4) erewtugy (1, 1) sreyd Yerefluiled QmBs TCsmIb M6
Crir&Carinn@ eemuiulL CQsEgddler SjgLiesred]
eTerfled Crir&ECamLIger Fwarur() Srewrs.

BTy
Yo Tl ] 4-1 3

AB ev1 nuley = =—
5 x,-x -3-1 -4
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| uulpAssnar ailarmsser 2 wSIGLewTE6N

1.

CD evt gnule] = %; CD ev1 gwevun(®): y — y, = m(x—x,)

% (+3)

y—4

3y-12 = 4x+12
4x—3y+24 = 0

SP&a6emTL L6TeNsenmed emwsaLiL(bd (p&Caresrsdles
urliy sresors. (—10, —4), (=8, —1) wmHmd (-3, -5).

. Spsaremib LsTeilaser Gr CrTGaiqed Siemwu|or eesid

Sironeféseyi. (_% 3] (-5, 6) oD (-8, 8).

. QarssuulL. @@ yereflaset  eufls  Glgedenid

CriTGaL 1q.681 FLDETUM_6WL_& SMewis. (2,3) woHmib (-7, —1)

(—1,2) et681m Ly6iTeM 6Ll Ol FO6UGILD, Fiiey i 2_EOL_WLIG|LOM6vT
CriteGanL1q.68T FLOETLIML 6nL_& SHTewTs.

QarssluL L Letefaener Qenesrrs@n CnisCasr iq.eu
gnuieneus srewts. (14, 10) wmmibd (14, —6)
QarssiuL L CriCanasie Fwem iqedHbE
oFgaaner Guwed gPUBSFHIL OGeul (H&gewT(Hsenens
&evwis. (eubleunsiimid)

(i) 3x-2y-6=0 (if) 4x + 3y +12 =0
QarssLLL L Letefaener Qenesrrs@n CnisGasr iq.eu
Fmnieneusd sresuis. (6elbleuneimi)

(i) (5, V5 ) woppud pBiystrefl

(i1) (sin6, —cosO) wHMILD (—sinb, cosO)

2x —y) + 5 =0 etetip CriGar (B Fwerrun g6 Fmuiey,
gniie| Carewtd OHNID y-Cleu_ (NSSIenTH pSlweunenns
STET1S.

OQarsasLuL L @\ Leeilser eufle Claeoayid
. e . . 2 .. (-1
CriTGaL g6 FTuleneus HTeuwTs. (2, 5) LDMHMILD (?, - 2)
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10. g_% %) wpmis (2 3) aam yerellsst Senemta@id
77
BT&HCHTL 19607 FTUIEHEUS SHT6TITS.

11. A(2, 2), B(-2, -3), C(1, -3) wmmid D(x, y) & Lerefaer
Benemiarsens MLEGWL 6Tedled, x LOHMID Yy ullesr
wSLIMLS SHT6EsTs.

12. B3 x+ (1 - 8)y =3 eeiim CriGan ® e iqeir
gniie], y-Cleu_H5a1em1(H pflweunennsd sress.

13. emiey Canewid 30° HMID y-Cleu (HSgien(H —3 ydlweunhenmé
QaneniL CriTGaHM 1q.65 FOSTUTL L8 SHTewTs.

| HAnpgman ailarmsser 2 wélIGLeTEeT

1. (a, btc), (b, cta), HMID (¢, a+b) 6T6vTMD Li6TEMNSBET WL EGHLD
p&Canemislesr LTLIL| STewTs.

2. (x,y),(1,2) wpmud (7, 0) etevp Leitefaa Cr CrirsCamiq 60
SIEMLOU|LD 616860 X HGLD y S &L GewL_LiLL L GG lenesids
STET1S.

3. X o&8ler llews SHemaulled 30° gmie) Carawmsens
anuGSgeugId, Y H&Fflent Wlews SHlengulled 4 etesim
OleuL_(hsglewTenL_ ClLpmgioner CrirsCam g 65T FoesTLIT(H
STET1S.

[5 ogiouas stamsasi| coRomien
1. (8, 6), (5, 11), (-5, 12) wHHD (-4, 3) YHw yeTeflsemer

(POZHENTES CETERTL BIHSTSIT LITLIENLIS ST6wTs.
BTy
BINSTSIHET LITLIenULS STesTUusnNE@ (Weiuns CerBssL
UL L Lemeflgener euenruL_S5l60 @nNleas Coussw(Hld.
A(8,6),B(5,11),C(-5,12) nmmid D (-4, 3) e161LI68T (Lpem6sTLl
LeTeMlaeT i @L.

e1eu1Geu, BTH&TLD ABCD-uflewt LipLiLy
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Sy TiITalar
X N 8 6
X W 5 11
1 1
Ex3 Vsl = =|-5 12
2
Xy Wy -4 3 ;
X, Bz 8 6 Xk L h0 figen
1
= S[(88+60-15-24)—(30-55-48+24)]
1
= 5 [(88+60—15-24-30+55+48-24)]
1
i E[88+60—15—24—30+55+48—24]
= %[88+60+55+4815243024]
1
= = STO93
2 L ]
1 .
= 5[158]=79&.°°qs\)@5m
LmHDIPERD:
BIMH&TLD ABCD-ullest LipLiLy
XN
_ APt 1845 5+4
Exs V3 > | 5 o
X
x4 - 1139
1 N > 1s g
_liaTx %X 1
2\n=Ys V2= Wa = 5 [104-(-54)]
8—(-5) 5-(-4 1 1
== et i = - [104+54] = — [158]
2 |6-12 11-3 >

~ N

9 &.9160@S6I


https://www.cbsetips.in/

X 6 BaHE www.Paddsaja). Net

2. Qar(ssuuLL.  YeTeflaemet (penersermad GlsmewT
BrHsrSdler urLienusd srewis (-9, — 2), (-8, —4), (2, 2)
wHmiwb (1, -3).

BTy
A (_99 _2)9 B (_8, _4)a C (19 _3)9 D (25 2)

S 1(-9 -8 1 2 -9
BrosuSSeT UL = 5| 5 4 3 5

l[(36+24+274)7(167476718)]

2 |
1 EENE SRS
= = [58—(-12)]= = [70 e
5 [ (-12)] 5 [70] 1] :
=35 &.9|60GS6I
LTFHMI(PEDD:
A(-9,-2), B(-8,4), C(1,-3), D(2, 2)
X2 Yy Xp Yy  Xp¥y o Xp Yy %
XN v
X2 Vo
.. . all
Brbersdledr Ly = S s
Xy W
XN
1 xg XX, 1 ‘—10 —10‘
2=V V2=V 2|1 —6
1] 9-1 -8-2 1
L _ 1
_1|-10 -0 — Z[70] = 35 5.6
2 |-2+3 -6 2

3. Qer(@ssuuLL  Yeteflaener (penesenmas Clemesmr
BIHSETSSET LTLIenLs STenTs.
(-9, 0), (-8, 6), (-1, -2) wHMID (-6, -3)
BTy
A(_85 6)5 B(_9, 0)7 C(_6, _3), D(_la _2)
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BIHaTSSleT LT

1(-8 9 6 -1 -8
2l6 0 3 2 6

= % [(0+27+12-6) — (-54+0+3+16)]
1 1
= —[33-(-35)]=— [68
> [33 - (=35)] > [68]
= 34 5. 9|60G &6
WoTHDICPEDD:
A(_8a 6)a B(—9, 0)7 C(_6a _3)’ D(_17 _2)
x15 yl xza y2 x39 y3 x45 Y4
XN
X W
. . . . 1
BIOSTSSles Ly = S ¥
Xy Vs
XN
Ly x XX, 1 ‘—2 —8‘
2=y V2= 219 2
_ 1 _8_(_6) _9_(_1) — 1 [_4+72]
2 16-(-3) 0-(-2) 2
h 1 |-8+6 -9+1 Al 1 [68]
T 21643 042 2 ,
= 34 5. 9|60G 56T

. (4, 22), (-3, K), (3, -2) wHmD (2, 3) SpFw PeverseMeT
aflmswurs Casrewi Brosrsdler LT 28 &.160Es6T
eresfled, k-wilesr LIS srewTs.

mma 6oT LITLIL, — =
R 7o 2\-2 k -2 3 2
(-4k+6+9-4)—(6+3k-4-12) = 56

(11 —4k) - (3k—10) = 36
21-7k = 56
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X © BaU6HS
7k = -35
k = -5
LmHDIPERD:
“4,-2), (3,k, (3,-2), (2,3)
xl’ yl x2’ YZ, x3’ Y3 x4’ y4
BIH&ETSSlesr Ll = 28
XN
1x2 Ya g
X —X, X,—X
_x3 y3 _ 282_ 1 3 2 4 —28
X, Ve 2\ V=Ys Vo=
X N
1] -4-3 -3-2 5
222 k=3| =~ =0 kg "
I(k=3)+0 = 56
-7k+21 = 56
-7k = 56-21
-7k = 35
Kk = -
—7

5. Qsr(&sUULL LLoTarg| @b aemragdled LS eurser
BINI$SSW THUHSS Sienw&ESILL L LiGIlenws sr_(h&ng.
Bms SLLILZNGS R FHIT g6 1300 ClFam@L
etewr I LB eresfled, aurger g_f,]yggm

THUOSSIUSHSS Comaumer )
Qur$s& Cleeemas semTsdlayb. S

BTy

| day)

i

A(2,2),B(5,5),C(4,9) wpmid D
(1, 7) e1631LUG) BHAMHSTT 6LIq 6L EUTSEVT

Bn&s5H6T (penevtLs LisieMasem gy @Lb.

s1e81Geu, eungen Bimisss$lesr LFLiL

W oB W og

o

22

y'
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XN 2 2
X 5 5
1 2 Mo 1
Exs V3| = 54 9
Xy Vs 17
XN 2 2
= %[(10+45+28+2)(10+20+9+14)]
1
= —[85-53
5 [ ]
1

= 2 [32] = 16 &8I7 Sjq&6T

e1601Geu, eungen NISSS5Sesr LTl = 16 &&IT Sjiq s

Qb FHIT Ilq. IOWES LG ClFeve] =I1300
SEOSILITED, EUTHET BNISFHD WSS @G Clrsss
Gl&evey = 16 x 1300 = 320800

orpDIGpED:
AQ,2), B(5,5), C4,9) D(1,7)
YoY% Yy XYy Xp Yy
XN
1x2 Y2
aunsen HinisgsSlet urliy = 5|¥s Vs
Xy Vg
XN
1 I - 2 [4-(29)]
N=Vs Vo=V 2
1 [2-4 5—1‘ _1 [4+28]
T2 |2-9 5-7 2
_1‘—2 4‘ =%[32]
2 |1 =2 =16 &.9160@Ga6i

e1651Ceu, eungent BiMISsSHest LTLIL = 16 &SIT Silq.a6iT
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Qb FHIT Iilg. SIEOWES G ClFeve) =I1300
SLEOSBIITED, EUTEHET BEINISSHD emDss @G Clrsss
Qgevey = 16 x 1300 = 320800
6. BIHST allgal &6 Gl HTevrdlif

2_aT(pHIOTeTg) LIL-S5l6d ST iqu|eTerLilg
SimwEaLILL_(eTerg) eresfled,
2_aT(pHmSIler LTI SrewmTs.
Siray: AC48) B(5.4)
o s(pHDESe Lirii =

ABCD uflest uptiyy — EFGH ullest Lipiiy

_1(-4 8 6 -10 -4) 1(-3 6 3 -6 -3
2l-8 410 6 -8/ 201058 2 7 4 =5

1
= 5 [(16:+ 80 +36 +80) - (- 64 - 24 - 100 - 24)]

—% [(6+42 + 12 +30) — (- 30 — 6 — 42 — 12)]

1 1
= — [212 - (-212)] - = [90 — (-90)]
2 2
1 1
= — [424] - = [180
> [424] > [180]
=212 -90 = 122 511 Sj1q&6T
LTFHMI(PEDD:
A(4,-8), B(8,-4) C(6,10), D(-10, 6)
X Yy X Y, X3 Y3 g Yy
E(_39 _5)9 F(6a _2) G(39 7)’ H(_67 4)
X X ¥y X3 Y3 Xpp Y4
2 en(phnSSles Ly =
ABCD ullesr uptiyy — EFGH ullest Lipiiy
:i X —X; X,—X, _l XX o By &)
2 M=V Vo= s 2 N—Ys Vo~ Vs
1 -4-6 8+10| 1 [-3-3 6+6
2 [-8-10 -4-6| 2 [-5-7 -2-4
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1|10 18| 1|-6 12
2 |-18 -10| 2 |-12 -6
1 1

= Z[100+324] — = [36+144]

2 2
1 1

= = [424] - =180

2[ ] 2[ ]

=212 -90 = 122 &5I1 Sj1q.&6T

7. A(2:5,3.5), B (10,-4), C (2.5,-2.5) wipmiis D (-5, 5) gpélwer

Denemrars e (el Leteflsear eTenrs srL_(ns.
BTy
A(2.5,3.5) B (10,-4)
Y-» _-4-35 15
x,-x  10-25 5
C(25,-2.5),D(-5,5)
€D it omitoy - 5-(-25 _5+25 715
-5-25 -7.5 —7.5
.. AB evt gmuiey = CD evr smuley.
eT601Geu AB wib CD wjib QewesoiCGan(ser.
B (10,-4), C (2.5,-2.5)

AB evt gmuiey =

—2.5-(-4) _ —25+4
25-10 -75
15 10 15 1

BC ev1 smley =

75710 -75 5
A(2.5,3.5),D (-5, 5)

5-(35) 15
—5-25 -75

15 10 15 1

AD ev1 snuley =

-7.5 8 10 75 5
.. BC evt gmuie] = AD eut smuiey.

e16eerGeu BC wjb AD wyid> QewesrCan(haer.
. st601Geu ABCD 6pit Qemesniarsens Siemnd@Lbd.
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8. A ABC-ullesr apenewrseir A (-3, 0), B (10, —2) wpmyb C (12, 3)
ereufled, A Hmd B-ufledimibgl (p&Camewnt g ger
adlirusss53nE eueruiL@LD &S53515CsTL g 6
FATUT (DSOS STCUTS.

5&@': Al-30)

A (-3, 0), B (10, 2) wpmitb C (12, 3)

B (10,-2) C (12, 3) A
A Yo=» _ 3+2 5

BC eur gmwe| = _ = NVE alin-D D c (12,3}

e x,—x, 12-10 2

- AD ev1 smuiley = _?2 A(-3,0)
- A uled kgl (p&Caremsdlen siHiTLsSSSINE,
euemTWLILL L $5816Ca I1q.681 Fwern(h)
y-y, = m(2x—x1)
EUBGErSi
2x+5y+6=0
A (-3, 0), C (12, 3) AC &5 smuliey =
B (10, -2) BE et nuie] = -5
- Bulledmpng (pasCanemisdlen sidliusasdne
euemTWLILIL L $5815CaT I1q.651 Fevrn(p
y-y, = mx-x)
y+2 = —5(x—10)
y+2 = 5x+50
S5x+y—-48 =0
9. A(6,2),B(-5,—1) wipmud C (1,9) -23 (pemeTEHeTTSS: ClaTewwTL
AABC uflesr (pemerr A—ufledlpBg1 euenruiLHL BHSCsTH
OHMID &S5SISCHTL_I.6T FLOATUTL_DL8 SHTERTS.

3-0 3

1
1243 15 5

BTy
A Wefimhg ausmmuiLL L BH&ECHTL g6 Ferum(:
Al6,2)
BC ufles m@LiLysire = (_5;1, _12+ 9)
T D(—Z, 4) BedA) D €09

AD Wlest gwestun(p) A (6, 2), D (-2, 4)
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yonoo x-x y=2 _ x-6
e R 2 -8

y=2 _ x-6
y-2 _ x—6 1B ad 4
4-2  -2-6 X-6 = —4dy+8
x+4y-14 =0
A Nelmhg auemmuiLL L @555CaT i1qaT Fwerum(:
BC = 9+41 10 5
smiey BC = —
1+5 6 3

10.

AD 1 BC, etes1igme0 gnuie AD = _?3 wHMID A erestLIg) (6, 2)

AD s161D (&3815CH ML 1q.651 FLo6vTLIM(B):
y-y, = mx-—x,)
y-2 = 2 w-9
5y—10 = —3x+18
3x+5y-28 = 0

(P, p) 5, 6), (5, -2) (ewerLiyeraflaeners Glameswr
w&Carewgdler LTLY 32 5T JevoGSeT eresfled p-ulles
wLienLs STewTs.

Siray:
A eot Uiy = 32
XN pop P p
115 6 5 6
1o »lo3p o2 -2 = - 64
ZAE A 2|15 -2 5 -2
XN Rer p p
(6p—10+5p)—(5p+30-2p) = 64
IIp—-10—Bp+30) = 64
llp-10-3p-30 = 64
8p—40 = 64
8p = 64+40
8p = 104
104

p = — =p=13
8
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X © &SHS
LrHDIPEDD:
(pap)a (5: 6)7 (55_2)
XN
As&ruuuq=lx2 Y2l = 3p
X3 V3
XN
1i(x—-x, x—-x
- 1 2 1 3 — 32
2 n=Y, N
1 -5 -5
e O I 5
2 |p-6 p+2
-5 -5
PaBTRIeE 32x2
p—6 p+2
(P-5) )(p*t2) — (p-5) (p-6) = 64
(p-5)[pt2—pt6] = 64
(P-5)[8] = 64
8p—40 = 064
&p = 104
o - 104
8
p =13

11. it SiemeoCud]l arseog et
(battery power) SiemeoGudlemwil LweTUHSSS CSTLEIE
#HCpmd. x wewfl Crrwd LwaTLGSSw LHnG 158 QmsEw
lerseogdler &3 y &zalsn (HF055)60) eTaTg)

y =0.25x + 1 gy@wb.
(@

agsmer wewfl CrrsginGL WnG

53 100% Bm&GwLeurg)

60%

Slerseoggler 55 40% 4586
SODBSHHGSLD 6TETS HTEwTS.

(i)

et Fargl (PWE sHSlemw Biss

TDSSISCHTETEBLD HTev j6Ta| sTalaleaTa]?
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BiTay:
i) Wenaevest #6d) 40% etelled Crrsemss semsdl, y = 0.40
y = —-025x+1
040 = -025x+1

0.40+025x = 1
0.25x = 1-0.40

0.25x = 0.60

= —O'GOX@ il = 2.4 wewfl

0.25 100 25
ii) lesiseold Fevg (P& F&SHenw Qphgieil L med y =0
0 = -025x+1
1
025x = I=>x= 025

1 100 100

% = alsesimint Tt oy
0.25 100 25

12. 7x + 3y = 10, 5x — 4y = 1 g dlu Crir&CanDaer shIleELw
yerefl enflurseayd, 13x + Sy + 12 = 0 erevrp CrirsCamiq.mH@
Qenemrursad emwwwd CrTsCHTIqar FwaTUTL L&

STV,
SiTay:
13x+5y+12=0
. -x 681 Qa(Lp 13
gnwey = —— > m=——
yeir Qap 5
Ix+ 3y=10 ... (D)
Sx—4y=1 ... )
()x5 = 35x+15y = 50
2)x7 = 35x-28y = 7
(OINGs) )
43y = 43
y = 1

y &6 wdllienu (1) 60 pdlulil 7x + 3(1) = 10
7x=10-3 = Ix =1
x =1
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OlFmIGS5s Cariqer Fmuiey —% yeire (1, 1)
y-— yg—m@ x,)
y—1=—-— (x—l):>5y 5=-13x+13

13x+5y—18 0
. Caemeuwnen gwesiuin@ 13x + S5y — 18 =0

13. 5x — 6y =2, 3x + 2y = 10 g Flw Crr&ECar(hiser FhHIlHEw
yerefl auflurseayn 4x — 7y +13 = 0 stestm CrirsCariqn@s
QerigSsTHaD Semwuw CrTsECHTLIgaT F0aTLTL L g
SIT6UT S,

BTy
Sx—6y=2 ... (D
3x+2y=10 ... 2)
(Hx1 = 5Sx—6y = 2
2)x3 = 9x+6y
14x = 32

Il
%)
(=)

14 7
x vt &lienu (1) 60 Lrlull_
5(-]—6y=2 :?—6y =2=>-060y= 2—870

2 11
_14-80 :_6y:_@ SN 66 = y=—

7 7x—6 7

16 11
. FhFla@L Leiefl (7 7)
4x—-Ty+13=0

4
gmley = = ; OFmIGSE snule| = —Z ; Lerefl (176 171)

(Sg,smsuu_lrrsm gestun(h) y— y1 =m(x —x,)

11 7( 16
R A
Y73 4 7

4y— 4(11) . [7x—16j
7 7
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4y—% —_7x+16
28y—44 = —49x+ 112
49x+28 y — 156 =0

14. @m &Camramgder urLy 5 & eoGser. (2, 1) wHMD
(3,2) erevtuieer (&ECaTERTS ST Qrewi(H) (peweurLl Lateflaer
SHGD. ePRTDHILD (pewewrls Latafl (x, y) eTarugled y = x + 3
oTeor @mHSTe0 JLiLjeTaflevns srewrs.

Biray:
(P&CanemISS6tT ppETDTEG) (LPEDEST = (X, y) 616818,
2 1
. . . . 1 3 _2
p&Canewrgdlest Lrliy = 2l
2 1
5 = % [(-4 + 3y +x) - (3 - 2x +2y)]
10 = [x+3y—4-3+2x—-2y)]
10 = 3x+y
WPy = 17 i al (1)
x-y =-3 . 2)
(1) +(Q2) = 4 = 14
7
x = p—
2
x &v1 wlienu westLn(® (1) 60 rdluil
7
— -y = -3
2 y = 3 7
2
2 2
. 7 13
.. PPETTIDTEUS] (LPEW6TT (X, y) = (E ?j
ompDIpeD:

(Za 1)7 (3, _2), (X, Y)
(p&5CarewTSSl6wT ppEUTDTELS (LPEWETT (X, y) 6T681S.
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p&Carewgdlest LTy =

1
2

1

2

10

—1(1-y)-3(2—~x) =10
—1+y-6+3x = 10
(1) = 3x+y 17
2 = x-y -3

F1 2-x
3 1-y

Bz
Y2
V3

XN

X=X, X — X
Y= .Vl_y3|
2-3 2—-x
1+2 1-y

4x = 14
E
4

X

x 6v1 &lLienu Fweairun@ (2) 60 rdluil
7

-3

E—Y

LA

2
PO (PEDET (X, ) =

(
2,
15.

7

2

7+6

y
13

)

2

A (-3,9), B (a, b) wmmjbd C (4, -5) steruiesr e CarL_emionhg

yereflemer wHmb a+b = 1, erefled a wpmid b-uilest wgllenus

STETS.
Biray:

A (-3, 9), B (a, b), C (4, -5) eteviient e GCamLenwhg

YeeflaeT womib atb = 1
p&Carewsdlest LTy =0
. 1(-3 a 4
(i.e.) (

219 b

-3
-5 9

(1) 3 yereflgser GClamessT_

|

0
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(-3b-5a+36)-(9a+4b+15) = 0
—5a-3b+36-9a—-4b—-15 = 0
—14a-7b+21 = 0(=7)

2a+b = 3 .. (2)
a+tb =1 ... (1)
H-2)= a=2 b=-1
LrHM| (PeOM:
A(_39 9)9 B(aa b)’ C(4a _5)
Yp Y Xp Yy A3
XN
Xy )2 -0 . X=X XX —0
X3 V3 N=)Ve N—=)s
X N
-3-a -3-4 —3—a -7
o-b 9+5| 0 =lg_p 14 0
14[-3-a] + 7[9-6] =0
—42-14a+63-76 = 0
—14a-76+21 =0
+7 14a+7b = 21
2atb =3. . (1)
atb =1 L 2)
H-2)=a=2
2)=b=-1

16. smueilmery LwetLGSIH (1, —4), (2, -3) wHMS (4, -7)
Pl yereflser o OemGarent (p&Carewglener
2 (HUT&H@LD 6Ta Bimiays.
BTy
A(1,-4),B(2,-3) wmmid C (4,-7) S Slwiert (p&GanewstSest
(PeevILl LjeTTaaaT 616318.

-3+4 1

AB-Wlleit smiley = =2=1
ot smiley = ———=7
7+3 -4

BC-wilesr smitey = — 2= 2_ 5

4-2 2


https://www.cbsetips.in/

X 6 BaHE www.Paddsaif). Net

-7+4 -3
4-1 3

AB-ullest emiiey x AC-ullest gmuiey = (1) (1) =-1

25Geu, AB oyenig) AC 6@ Qemi@ssn@b L A=90°

e1651Geu, AABC gy 6u1g) ClemiGanemt (psGCanemiid oy @Lb.

[ Ao otormbast grovncps.s g
1. [P, 2-2P], [1-P, 2P| wpmb [4-P, 6-2P] erairm weiraflaen
SmEGL (PECamemTSHer UTLL 56 FHT EOGS6T
arafled P e T gemen wFlLiyser (ppssafled gjemown?
SiTay:
A (P, 2-2P), B (1-P, 2P) wpmutb C (—4-P, 6-2P) erettss.
p&Ganewd ABC et Lipliy = 70 &..9

AC-Wllevt emuiey =

oh

Y2 2| = AABC e LipLiy
X3 Vs

N

PN g2-2P
1-PCg2P | _ o,
~4-R_6-2P
PXZ—ZP

[2P? + (1-P) (6-2P) — (4+P) (2-2P)]
— [(1=P) (2-2P) — (4+P) (2P) + P (6-2P)] = 56
[2P? + 6-8P+2P? — (8—-6P—2P?)]
— [2-4P+2P? — 8P—2P*+6P-2P%] = 56
4P? — 8P+ 6 + 2P> + 6P-8 — [[2P>— 6P +2] = 56

6P>—2P—-2+2P>+6P-2 = 56
+~by4 8P?+4P—60 = 0
2P>+P-15 =0
(P+3) (2P-5) =0

P+3)=0 (s (2P-5)=0
S~ P=3(s8)P= g
. P &@ @Cr e@m @ eler iy 2_ewi@®.
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2. (-2, 3) womw (4, 1) et yetaflsemer Genewrsi(GLd
CrirsCan® 3x-y—1 = 0 ererp Crir&ECarI1qMnE CFm@GSST
oTer rmis. 3x-y-1 = 0 erewim Crir&ECar® (-2, 3) wHmID
4, 1) et yeteflaener QenewraEw Crir&ECaHTLiqenesr
Bmaw urswors Hfls@wr erarabd oy rmis.

BTy
A(-2, 3) wpmid B(4, 1) etesiLiest GlansasLinL L LsTeflser
o=y _1-83_-=2_ -1

AB &1 smiey = — =
ey = 4+2 6 3 W

Qar@ssuuL L CrisCsar igem smie)= — =3=m
m, xm, =-1. -1
e1681Gou CrisCan(Ds6T QaNIHE QN C\FEIGSSTEGL.
AB 6 emiowiigsiefl = (x1+x2 , yl+y2]:(—2+4, 3+1)
2 2 2 2
=(1,2)
x=1,y=2 etev1 3x—y—1 = 0 61681 FLOEWTLIN 1560 LNTHluf_
3(1)-2-1=0
3-3=0
i.c gweiLn() Hewmey CEuwILGS DS
- 3x—y-1 =0 e1681p CrI&ECaHT(H CaTHSsLILL L
B mLetafgmener Qenemta@d CrireGanqener
Fwursmgems Lfs@L.

2

3. A(4,2),B (3, 1) womud C (3, 3) eresim Yeraflaer jemindigLd
P&ECanemTSSaT HOHMIQIL L IIOWLD SHTeswTs.
BiTay:
D wnmib E stesiient (pewmGui AB wpmitd AC gy Slwieumlest
eoLwWLILeeN&6r 616518 Gl mers.

v (5221

E=[4_+3 ﬂ}_(z Ej
2 "' 22 2
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-1
AB6&T&HUL|6>.|=4—3 =1

AB e1681p CaLiq.ME) Clemi@gsnen Caniqeir smuiey —1

AB e1681n G 19,687 6wLOWIS (&S5SISCHML g 651 FLoesTLin(h

N 5 1 X—E
2y-3 = —2x+7
2x+2y = 10
xty =5 L. (D
AC e1681n G 19.68T 60LOWIS (§SSISCHML 1q 68T Fnuliey |
AC ev1 QlgmI@GSg Fweun(h A (4,2)
;3
y—-— = 1| x—=
2 2 D
2y -5 = 2x-7
2x-2y-2 =0
R B, 1) C(,3)
x-y =1 ... 2)
(1) whpib (2) g Sée
x+ty =5
x—y =1
2x = 6
x = 3
x =3 et6v1 (1) 60 NyHuf_
3ty = 5
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10. A(-4, 2) wpmid B(6, —4) etesim Ljeefllaener Qenewwsia@Ld
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&G Latafenuwiwyd, 3x +y +2 =0 wpmw x —2y —4 =0
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3) cot’> 0 4)0 aflenL_: 2)
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1
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Borsdn@w 2 earer afdlgn /3 : 1, aafled @flumenrs
STERID HNECHETERT JjeTaUTaTs)

1) 45° 2) 30°
3) 90° 4) 60° afleoL: 4)
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| HAn5mar ailars:s 6T 1 w&16lL6wT
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3) 60° 4)0° aflen_: 1)
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6. @ DlEi@ssnar sSwUSIHleT WL, SOULD
anuOSSHID Blipeller Berpd &b, erafled FenrulledBHa
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[z wgpiouos hermsod] rofRumas
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..LHS =RHS cosg  Cosé
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Siray: a1l L sLd --- A
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H-2)= 2cotd = P-— 1
P
P*-1
2coth = —— L. 4
7 (4)
P’ -1
2cotd P
4H)/03)= =
76 2cosecl P’ +1
P
cot _
cosec
Cosexsine _ P?-1
sin@ P +1
P’ -1 T
cosh = P2+1.Lf,]@|ﬁ]aaa>uu|_Lg,j.
) sin3A+cos3A+sin3A—cos3A 2 eeh O epLOamIL
" sind+cosA sinA—cosA D GPEPTG
Bimieys.
SiTay:
Lis = Sin®A4+cos’ 4 sin®A4-cos’ 4
sin 4+ cos 4 sin 4—cos 4
~ (sinA+cos 4)(sin* 4 +cos® 4—sin 4 cos A)
sin A+ cos A4 ¢
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sin 4—cos 4
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cosf sin
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= , N = — = m- = 2 Lo 1T = — 2
cosf3 sing cos sin
, ., cosfa  cos’or
m-+n° = 2 + — >
cos* sin’
= cos’a L+L
cos’ B sin* B
HY) 2
sin® S+ cos
cos” fsin“ g
5 1
= cos’o | —5—5—
cos’® Bsin® B
(m*>+n?) cos’p = cos’a __ cos” P
cos’#sin’
. cos’a
sin® 8
(m? +n?) cos’ B = n* BlepLlssLILL L 8.
4. sin® + cos® = p, sec® + cosecd = q ereufled q(p>-1) = 2p

aaruemg BlepUlssaw.
BiTay:
p = sinB+cosd
p’> = (sinf + cosf)’ = sin’0 + cos’0 + 2sinfcosd

= 1+ 2 sinfcosH
p’—1 = 1+2sinfcosd — 1
= 2 sinfcosb
q(p*>—1) = (secO+cosech) (2sinfcosh)

1 1
] (e et (= ;
[COS o sin 0} (2 sinBcosH)

_ Sind+cosd (2 sinBcosh)

sin@cos @
= 2(sinB + cosB) =2 p
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2
) °05.‘9 L “2_1 = sin0 ereTLeng BlemLlGsab.
1+sinf a a +1
BTy
1 cosé 1+sin@
£y — = a =
a 1+sin@ cosé
1 siné@
a = —4+——
cos@ cosd
1 = secO+tan®6 ... (D)
Y = = secO—tan® ... )
a

MH-2)= a BN sec + tanO — (secO — tan0)
a

2 —
a -1 = secO + tanf — secO + tan0
a
2
-1
a =2t 3)
a
2
©CxCLmed g tear 2secd 4
a
2 _ in@
G =t - B0 SN o
a®+1 secd cosé
2
a2 ALNEY g
a” +1
6. cosO + sin 0 = /2 cosO eteufled, cosO — sin0 = V2 sin 0 erenr
BlemUilga.
BTy
@ulumpgl, cosd +sin O = V2 cosh etetiiens @ mum(iptd
aUSSLILNSSS.

(cos@ + sin 0)? = (\/5 cosh)?

c0s?0 + sin®0 + 2sind cos® = 2 cos’0
2 cos? — cos’) —sin’0 = 2sin O cosO
cos’0 —sin’®0 = 2sin O cosO
(cosB + sin 0) (cos® —sin 0) = 2sin O cosO
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) 2sin@cos @
cosf —sinf = —————
cos@+sin@

_ 2sin@cos @ 1’ \/— <ind
c%a;(gm’ x/icose

cosd —sin = /2 sin0. (gCewredled cosd + sin 0 = v'2 cosd)

3tand—tan’60
7. \/5 sin0 — cos® = 0, erevfled tan30= ——— —

N 1-3tan’6
BTy
\/g sin® — cosO =0 = /3 sind = cosd
sin@ 1
TRRR SN = tan 80—
cosd 3 J3
= .. 0=30° 3i_i
LHS = tan30 = \/§ :i\/g
= tan3(30°) 1-3.;
3
= tan 90°
3 1 1
= w e
! = _J3 38
RHS = 3tan¢9—ta2n 0 1-1
1-3tan* @ 9-1 8
_ 3tan30° — tan®30° T 33 %
1-3tan?30° 0
= 00
3 « 3 3 « 3
3. cos’A—sin’ A [ cos A+sin” A — 2 sinAcosA
cos A—sin A cos A+sin A
aarueng BlepUlssaw.
BTy
LHS - cos® A—sin® 4 1} cos® A+sin® 4
| cosA—sin4 cos A+sin 4

(cos A —sin A)(cos® A +sin® 4+ cos 4 sin 4)
cosA—sin 4
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CosA+sin 4
(1 + cosAsinA) - (1 - cosAsinA)
[Since a®> —b® = (a—b) (a®+ b* + ab)
a’ + b’ = (at+b) (a>+ b* — ab)]
= 1+ cosA sinA — 1 + cosAsinA
= 2cosAsinA

- [(cosA+sin A)(cos? A +sin? A—cos 4 sin A)J

9. @m sLILEGAT HEISMT aflTéaglear Bm ussEIsafleILD

10.

sLefled Lwewtd Oesuidlerper. Dm sLLeOs6NeS(BHBESI
sorsmr eallarssgsdler 2 Ffuiler gnps CsmewTEiser
peonGu 30° wHmId 45° Y. SomEEmT allorTdssder
2 wmb 20015 eresfled, @ HILIOSHEHEES QenL_Cw 2 afer
Qgrrmsummésrrm‘rs.(% =1.732)

£ﬁ-@l: Y .
FH60EIGEOT elendand AB eTetTs. o <m

C wpmid D etediuienr @ sLiLeOSH6T Q(HEHGWL QL_migeT
e16918. GLogYid, AB =200 15.

Z ACB =30°, £ ADB =45°

ClemiGarever (p&Ganewstd BAC-60 tan30°=j—§

1 200 ,
7~ ¢ Be9wps AC=200 3

AB
QemCarevet (p&Camevwd BAD-60 tand5° = i)
200
1= D B Hedmiba1 AD = 200 3

&nGung, CD=AC +AD = 2003 +200 [(1) (2)-6S\(mBbaI]
CD =200 (+/3 + 1) =200 x 2.732 = 546.4

B sLILeSERSE Qe Gw 2 aten Ggtenevey 546.4 1S
SGLD.

508 e wpeter @ GCaryrsdler 2 s&Aullellmbal o
wrsgler 258 wOHMB g pHwapdler Pnsss
Carewrmiser (pevpGu_30° wHmDd 45° eTerfled, wTGFlewt
2 WIS5MSE STeuTs:. (\/3 =1.732)

BiTay:

WWW.Padq@%q'.Net
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11.

Camyrsdlesr 2 wid AB = H = 50 1§
wrgdlest 2_wird = CD = h etevis.

ZACM =g =30° ZADB = =45°
4 i . H[tan f—tan ]
=h =
LSS 2 wirLd tan 3
50[tan 45° — tan 30°] 50 +f3
= = 50-—F=X—F
tan 45° NERGEN )
_50/1- & g 50V3
= | 3] 3
1
ee s 50><;.732
I RN = 50-28.87

wrsHes 2 wipd =h =21.13 m

sonuilenss ewm yeteflullelimpBg 3085 2 wrpster
sLLL glar Cueerter Garyrsgler sig. wHmwb 2 FAuller
annsCanemrEiser WemmGu 45° wHmd  60° ererfled,
Caryrsder 2 wrseamss srewrs. (/3 =1.732)
BTy L,

AAPB ufle0 tanf = T 06 6> ki

B

3I(D\S 61 67 L& HLD " BP

tan 45° = ﬂ =1= ﬂ
BP BP
BP =308
ABPC ufled tan 60°= B¢ _AB+AC
BP BP
h+30
N
30
303 = h+30

h = 30+3-30
= 30(1.732-1) = 30(0.732)
= 21.960
. Gamyrgdlest 2_wigd = 21. 96 15
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12. @Qrewi(h sSLULLESEHHEG Qe _Cuueter dHlenL oL S
Qzrensvay 14015. Drewt_reug) sLLLSIler 2 &Aulled(mBs)
W3 sLULL FHler 2 5@ 2_ater @nEsssCarenrd 30°
SLGD. PS60 SL_LL_SZle 2w 60 1S eresfled Srew_meug
SLLL SIT 2 WTSmss STents. (V3 =1.732)

13.

ghay: a8t LIS SId
AAEC ulled tanf = A .y
3I(D\G 6 6T LIS SLD
A
tan 30° = h=60 e
140
1 _ h-60
V3 140
h-60 = 22
3
h_60 = 140x1.732
3
h-60 = 80.83
h = 80.83 +60
h = 140.83 1.

1315 2 wrster @ wrddler e sAullellmbg wWHODTW®
wrsdler 2§ womw uileT gHNECHETERTL HMILD
BnsssCarenwmd  (eopGu  45° wHmId  30°  eTevfled,
DrewtL_reug) wrSSleT 2 WIS HrewnTs. (3 =1732)

BTy

P36V rsSHlest 2wy CD =h = 1318
amm&Ganesed L ADE = o = 45°
Bn&ssCasnewtd LEDB =3 =30°

26ug) wrgdest 2 wird AB=H=h[1+tanacotp]
H = h[1 + tan45° cot30°]

= 13[1+1x% 3]
13[1 + /3]

= 13[1 + 1.732]
13[1 +2.732]

45°

A

oy 1

30°

30°

oy 2 ™

C

358
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2 eugy wrgdlesr 2 wiydb H =35.52 15
14. @m semsmr eaflassgdar 2 sfuleflpbg ST
ussEsafled 2 eter Qrewi(p sLLeOSAT 30° WLOHMID 60°
Pn&s5Casnemrsdled  umTssSLLHFSTDRT.  SEEISEIT
afleréaggler 2 wmd h 15. @@, SILOS6T WHNHID HEVEISET
aflersssglar LGS SFlumea Cr CrirGHm iged
Siemwdlearperr sresfled, Qrewt(h HLILIOSEHSHE PenL_LILIL L
Qsrenevey 1 18 erem BlenLiss.
Biray: V3
C, D — sLiLedssflest iSlemevase
H60mIGEOT elonsssHlesr 2 wiyd AB = h 1S
@@ BC = x, BD =y e1eu18 Glanens. 700 » 500
a1l L sLd
A ABC uiled tan6 = L -
3ID'S G661 LS SLbd h
h 0 0
o — 30 60
tan30 . & 5 B
1 h
ﬁ N — x=h+3
A ABD ulled
h h
tan60° = — = =—
y Y
s
N
Brewi(h HLILVSEHSE QevL_LILL L Ognenevey
h
+y)=h+3 + =
(x+y) \/g
4h
d=— 18
3
15. sLefleor Bir wL L SHeSmBE 40 BLL (&G CuwCev 2 afer

om suueflar Cued uLGIuiled Blorm OCsrewTymSHID
emar, @Gomear 2 &fow 60° gHnECaTeTSIeD
SigliL@dlenw 30° DnéssCaremsdlw sremrlpmi
aafled, suullefiphEg GRTMSHE 2-6Ter CFTenevenaiwid
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Gerfle 2 wrGensd srewrs. (/3 =1.732)

BTy

16.

AAED uile0 tanf = 6-.@"'.456@. . =45
SABS geTeTuS sD  DE
B
tan 60° = h “h
x ‘
h IS
ey
\/5 = ; M\f no&
h c A
= = . 1 *
X \/g (1)
61T L& SLd
ABDE ufled tanf = A A
3IB'S gleT 6T LS SLbd
BE 1 0
tan30° = —— ===
an e 7
x =403 ... )
gwesrun(® (1), (2) eNmBa)
h
— =404
3
h = 4043 (V/3)=4003)
h = 1208
h ev7 SHLiemL (1) 60 rduil
120 3 12043
= “—=x— Sx=—
NeRE 3
x = 403 8

. SLILEISE D enevd@b GenL L L grid x = 40/3
x=40x1.732=69.28 1
.. wemeouflest 2_wipd AB =120 + 40 = 160 S

ewmair, GCamyrsdlefmng aflwdl sLeflled Gseaim
QaTeRTIq(HSE UL eetenn, Garrsgler 2_sfullelmba)
urirsSpri. Qgrencvailefled UL @ BmeEGwWCUN, LLms
e 60° Pn&s5Caransgled srewrdpmi. 10 aflermgser
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sfi5s @néssCanennd 45° o5 wIMFIDG erafled, UL (S
Qeeod  Ceusgdlemerrs (&.i5/wewflufled) Czmywors
seoadl(his. Couw U@ Bleeowrer Fewrenfifled
Qee0dlng) Ted HMHEIS. (/3 = 1.732)

BiTay:

AB e16s1L18) GaMLYTLD 616578, < 2

C wpmd D eresiuiest UL & Q\(B&HGLD

Blemevsei 616518, LIL_S560l(HbI
ZXAC = 60° = ZACB wpHmbd
ZXAD =45°= ZADB, BC =200 ¢

QemGanen (psCanewmd ABC-60,

tan60° = ﬁ
BC
AB .
V3 = 200 28@H81 AB =200 3 (1)
ClemCaever (p&Camevwd ABD-60 tand5° = %
. 2004/3 ,
@QG\S}@E}@]l = W ........ (1)-6\5]@!‘_55]

s1emGeu, BD = 200 /3
@uiGungy, CD =200 /3 — 200
= 200 (73 —1)=146.4
CD ete51n Ggnemevenel Liwewlsss CaemeuliLi(pibd Crird
10 eflevtriq &6, 616518 OlaM(DSSLILIL (D6T6Tg).
SiBmeug), 146.4 15 Qgnemneveneu 10 ellevtiqsefled LIL &

SL&Sg. Qrevwa; 1464

SM60LD 10
= 14.64 S/l
3600
; 14.64 AS
[OEAEN G, 64 x ot &.18/1eve
= 52.704 &..5/wevtl
17. 60 1§ 2 wyupster seomsemr allarsasdlar 2 sAullellmBba
Qe sLedwL L SZleeter B SLLeOsmer (pennGuw

steut@6u, LIL_Hlevt CeusLd =
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28° whmid 45° Bn&ssCaTeRTSSed LMTSEMTIT. 61 HLILIE
wHRDTH SLLNISHESGU Uererred @Gu Flemsulled seomisemT
aflersasgiLar CrTCHTLIGe0 2 6Terg eresfled, Qrewi(h
sLILOSEHSHGW P Cuujerer Qgrrmeomsua. STEwTS.
(tan28° = 0.5317). : :
Siray:

HVBIGET elleT&HaSS68T 2 Wiy
CD et6t15.

D stetiuigy 2 Hmi Crnd@Lieuit @@5@m @l_m 6T631.

&60mIGEDT ellensssdlesr 2 wiyd = CD = 60 LS.

UL SHeomhg, LXDA=28°= 2 DAC wnmbd
Z XDB=45°= /2 DBC

QlemCanever (p&Carevwid DCB-60

. DC 60
tan 45° = BC =>1= BC
BC = 6015
QlemCanevr (p&Carevwid DCA-60
tan 28° = = :>05317—ﬂ
AC AC
ac = -2
0.5317
AC = 112.85.8

Brewi(h HLILVSERSEGWL QevL_Cuwime Cgrenevey
AB=AC-BC=528518

| Angmar allarmsser e s ebLar 5 wdlIGLewsaT

1. Ampdl gmevflesfler 2 wmd 1.2 15 @, 88.2 15 2 wrgHed
S L 1ors SrHrfled BHHLD LIYTMET jeuaT Senyuiled
Blermeurm) urrrrsaﬂggrrsrr owm yereflulled umefier
annsCaremd 60°. A G‘r_r,lrg,ﬁsu o LsTeflufled
ugresfler gHm&ECanemd 30° yuss GoDHDs. DB
Ben_Qeauafluiled LOTRT BLGS FTTSMSH HTEwTS.

BiTay:
AG = SmSlifleir 2 wipb = 1.2 18

Www.Padq@ﬂ.Net
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UDSELD Clrgg 2wy = 88.2 1S

AABC Wlled tand = ﬁ = tan60° = ﬂ
AE AE
87
3= 8 AE=2C-293
AE V3
AACD ed tand = 2. B c
AD E
87 Sl
CD \y 2
tan30° = ——— A & b
AE + ED AE 0
1 87 G T
V3 293+ ED

293 +ED = 873

ED = 8743 -294/3 =358+/3
ED 58 x1.732
= 100.46 5
@riE ED =BC usnes sL_ibg gy = 100.46 15

2. xsin’0 + ycos®0 = sinOcosO wHmILd xsind = ycosO erevfled
x*+y? = 1 ereor BlemLi.
BTy
xsin®0 + ycos’0 = sinf cosd
xsinf (sin’0) + ycosO (cos’0) = sind cosd
xsin@ (sin’0) + xsind (cos’0) = sind cosO
[since x sin® =y cos0]

xsin@ [sin’0 + cos’0] = sind cosH
xsin® = sinb cosO
x = cosb
Geitd xsinb = y cosb
cosO sin = y cosO
y = sinf

etesGeu  x*+y? = cos’0 + sin’0 = 1

eTesTD (PHOMTIHENLOW

3 (1+sin6?—cost9j2 _1-cos@
1+sin@+ cos@ 1+ cosé@
Bimieys.
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BiTay:

8.u=

[1+ sing— COSBT
1+sin@+cosé
(D)2 + (sin 6)? + (—cos 6) + 2(1)sin 8+ 2sin H(—cos 6) + 2(—cos B)(1)

(D)2 + (sin 6)? + (cos 8)? + 2(1)sin &+ 2sin Bcos O+ 2cos H(1)
1+sin® @+ cos® @+ 2sin &— 2sin Hcos 6 — 2cos O
1+sin® @+ cos® @+ 2sin 6+ 2sin Hcos §+ 2¢os O
1+1+2sin6—2cosH(1+sin 6)
1+1+2sin6+ 2cosé(L+sin H)
2+2sin@—2cosH(1+sin 6)
2+ 2sin@+ 2cosO(1+sinG)
2(1+sin @) —2cosH(1+sin )
2(1+sin @)+ 2cosH(1+sin 6)
2(1+sin)(L—cos )
2(1+sin&)(L+ cosH)
1-cosé _
1+cosé

6M.L1

4. @m sigL_SJler 155 h 1§ e wr@peTer e ClHMgsH SDLLD
2_etengl. gemrullar gierer gCsemiwd e Hetafluiled @mBaI
QamyssbusIler g wHmD 2 &8 gy Flunrier enms
Corewrmizer WweopGuw o wOHMID P erefled HLigL Gglewr

2_WyLb

BTy

htano

——————— eTewr &.
tanf — tano ey

sl igL et 2wy BC = x wpmyd CD = Clemg.&aibLgdlest

2_ WL

D
CD =h etev18; AB =y 616015. 0
BC i}
(p&Canevwd ABC 60 tan o= — C
AB %
. : : x v
p&Camevwrd ABD 60 tan o = > B
X
y = — (D)
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an p = x+h
Y
x+h 2
Y = s Pala2ts
: . tan
(1), (2) & @il /
x+h X
tan 5 tan o
X, h X
tang tanp tan o
h slalxN~" x
tan B tanar tanp
h

&L 1L SHlevr 2 wiyd =

tan f—tanox

1 Ttan ot
htan o

tan f—tanox
htan o

tan f—tan o

|

sooquiled @Hig h 1S 2. wrsgled PmeEw M Csmallsd
eeter  ef et weitenelled BB eI Hewauiled
S5 @ eI g6 g wHm 2 Fuilar @nés, THDs
Carewrmizer (peopGuw 0 wHMID ¢ eTafled T el iq.evr
2 wrb h (1+tan@ cotg) erer Blmiays.

Biray:

W etetTLIg) 2n6vTenTen eTevtad AB = e1dlit 6L 1q.631 2_wigd
WP = Qgmelesr s60Ld

BP=h 5, AP =x 1§, WP =y 1§ eteu1& Qlaneirs.

(p&Carevwd BPW 60
¢ BP . h
= —_— = = —
an @ 5 an @ 5

pd

0
3

y —>

g <>

UJH
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h
= — =h cot
y tang =y coto
W&Canewd APW 60 @bHa)
AP X
tan = —— = =
wpP y

tan® x = ytan 0
x = hcoto tand
aidliteS L 1q651 2 wipd = AP + BP

=x+h = hcotptand +h

= h[1 + tan6 cotg]
6. m Qzmalled m s om Hmeouww aordis
Slemesuiled 35 15 QenL_Ceuaflufled SiemivpgieTorear. s L L SHler
e sAullefipngl feneo 2 sdluilar HH&EGaTeRTD 24 LHMILD
flemer gquilesr Pmsass Camewrd 34° ererfled, Hemeoullesr

2w eTewreur? (tan24° = (0.4452, tan 34° = (0.6745)

BTy Al
CD=x 5=8L"1q1_gdlev1 2 wimdb=EB y
AB = x + y m = Semevullest 2_wiyd B 358 2477,
CcD 34°
ACBD, tan 34° = — ¥ .
BD
34°
tan34° = = B 358 R
35
x = 35tan34° ... (1)
AACE,tan24° = 2E o noge= 2
EC 35
y = 35tan24°...... (2)
Semeoullest 2_wipb = x+y
= 35(tan34° + tan24°)

35(0.6745 + 0.4452)
35(1.1197)
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= 39.1895
39.19.18

I uulpAssnar ailarmsser 5 éI6lLeTISAT

1. sin (1 + sin’0) = cos’0 etedMled cos’ — 4cos*d + 8cos? O = 4
eITLIENS BlemLlSaa L.

Q

2
2. cotf +tanb =x HMILD secO —cosd =y eTevlev, (xzy)5 - (xyz)
eITLIENS BlemLlSaa L.

Wl

=1

3.66 15 2 wgusten  S(Q&GWLNES  (GQuilhLiSlesT
2 &8N (pBE @b alns@s swusSdler 2 &8 wHnib
Sqilest  goD&ECarewid  LHMIL  QMEHHCHTEILD
peonGw 60°, 30° erediled LletTau(meussTOUMEDDE: SHNEEHTS.
(i) elens@s swusdHlenr 2 wpw (i) elensE sbU
2 WrSSnHEL (D& @ Lomig.ullest 2 wWrSSHn@Lw
BevnL_Cuisiter eNgHwuinsid. (/3 = 1.732)

4. gflllesr Bt wLLSHmHEE ‘h’ S 2 wrsHedierer e
yerreTlulledmnbal e Cusasdlear annéGsnemd 0, wHmIb
afl Bfled el Cusl Libusdlear @néssCanemd 0,
s6fled, sepTuledmbs Cuoasde o wmp 22N, +t@nd,)

tan @, —tan 6,

61631 [Hlem LIS 86 Lb.
5. @@ ellrend G-uledmHBg 24° Catemgamss smmidl 250
.5 Caremevailepiaier H-go Crradls Glgeddlng. Goeid
H-e0mig 55° ellevdl 180 &5 Glgreneveleyerer J-gm
Crradle Clgevdlng) eterilev,
(i) G-e01 euL_5& FHewsuledmig H-ei1 Clgneneve, etesien?
(i) G-ev1 SlpsE SHenguledpibg H-6i1 Clgmeneve sTesres?
(iii) H-ev1 euL_8& Slengulledmibgl J-6i1 Glgmenevey eteties?
(iv) H-ev1 8lpsi@ Slenagulledlmiibgl I-6i1 Glgmenevey teties?
sin24" =0.4067 sin11l° =0.1908 J
C0s24° =0.9135 cos11’ =0.9816
6. ULGHe0 2 eTemeunn 6 FFHes sSeorulled Frewi(h
LOTEIGET 2_aiTernest. emrulled 2 eer X etevtn Ljstefulledlmbg
Bm wr 2 F8sailer gHn&EGarem(pd 40° o@L. Lsief
X-e9mhg APlw wrsdhares SenLoL L g grenevey 8
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S wHmid Prewi( wrEisaler 2 FSsensdlenL_Gw o ser

Qgmemevey 20 LS eterilev,

(i) yeitefl X-&@w SAdlw wrsSlesr &&é]&@m Qem_Li L
Qg remeve.

(i) Brewi(® WIEIsEHSESL
BemL_Cuiujeiterm HlewL_oL L&
Qarenevey (cos 40° = 0.7660)
S Fweinenns sess([Hs.

X

Cr— 88 —

7. 12 8§ 2 wippeten sLligL Sdlewr &&é]uﬁ]sﬂ@g,g,j Wlestanrs
Camyry 2_&Sullest espm&Camesrid 60° LHMILD FH68T jiq.ullest
BnsasCanewid  30°  eevlled, Wleviemrs Camyrsles
2_WITS6055 SHT6T015.

8. @ Camnyy 2 &8ullert 158 5 15 2 wiypsier sULL QUNHSS
eoeussLILL (Deengl.  Seorulled 2 emem  'A' eTedID
YereMuledmibg  sbusdHer o Ffeow  60°  gDDS
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(i) eoors Qedeomned SHLILFHETET BlaNSHMELS HTERTS.
Biray:

Clorgg eunuiLiLseflesr stewtenisena n(S) =5+4=9

(i) A eeiiug Beo BpLiLkeng CuneusHETE HEHDFS
616518
A Blapeugnaest eumuiLiL|seTewt sTesstennaensa, n(A) =5
BeoBlpLiLhg SenL_LiLgnanest Hapsse,,

POA) = n(A) 5
(A)= n(S) 9

(i) A Spev1g Bev BiLiLikhg SHen_&amoed G mHs@ELd

Bapésl. aamGeay, 5 4

P(A)=1-PA)=1- 99

2 2 1 :
19. P(A) = <, P(B) = - whpub P(AUB) = — erefisd P(ANB)

STERTS.
BiTay:

2 2 1
P(A) = 3 P(B) = e P(AUB) = 3

P(AUB) =P(A)+ P(B) — P(ANB)
P(ANB) =P(A)+ P(B) - P(AUB)
2 2 1 _ (10+6-5)

3 5 3 15

P(ANB) = %

20. BT SmGH SIHSHW 52 F(Haemers OClamewT
sLgellmhgl, Fwamily wepuled om FO ahHSsLU
u@&ng. & Aoy QPoreTairs edeOFH  SHHLILY
Buresflurs Q@HLILSDHSTERT BHYHSHMaS SHTEwTs.

BTy
n(S) = 52
A = Seuliy @unen flewL_s@ HapES eevis.

2
n(A) =2 P(A) = o
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B = sy @rrewil SleoL_&@Lw Blapss eetis.

2
n(B)=2 P(B)= =

2 2 4 1
P(AUB) = P(A) + P(B) = o5 + o5 = & = 1=

21. e enuuilgdierer 1 (pS6d 6 eueniy TamTaaT GMISaHILILL

6 upgisefleflpBsl, SCr CrrSdle) Prewi(® LbSIs6T
(LU HETer saneusflenw Wy auenTLL LD epevons:

Giud@s.
BiTay:
: . | Ser
’ A Wy FnmGleuefl “S” =
‘ < [{(LD), (1,2), (1,3), (1,4), (1,5), (1,6)

é s é‘ (2,1),(2,2), (2,3), (2.4), (2.5), (2,6)
. + | (3,1),(3,2), (3,3), 3,4), (3,5), (3,6)

. . [(31),(4.2), (4.3), (4.4), (4.5), (4,0)
% é (5,1), (5,2), (5,3), (5.4), (5,5), (5,6)

: * |(6,1),(6,2), (6,3), (6,4), (6,5), (6,6)}

| Ansmar aflarmsser &6 s enLar 2 wELIQUewET

1. 2Bg BrewwEsamer @Cr Crridled sHemTGULOUTILSI,
SimeSIVID Femeo aflp Klspssa) wrg?
Biray:
n(S) = 2x2x2x2x2 =32
A: |eneuISg| HTETTIWEISEILD FHeneo HlemL_&a60

— {(H, H, H, H, H)}
n(A) = 1

B n(A) 1
P(A) = n(S) 32

2. "ASSASSINATION" erevtp Q#medelled QmBSI @H 6T(9SS!
CsirbozsMssLL@Engl. CoThEoZHESILDHILD TIPS
i) e Eiflev 2 ullit 1SS
i) @ pEFle Coul rSsTE PEHUUSHITRT Blapssa

ST6UUTS.
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BiTay:
FmiGleuel "S" = {A, S, S, A, S, S, ,N,A, T, I, O, N}
n(S) = 13
i) A: gmidleo 2 ulliter(psa SHewL_&@G Hapas
n(A) = 6 "
n 6
P(A) = ©) 13
ii) B: gymEidlev Qloul 6T(pSg HewL_&@GLbd HlaLp&s
nB) = 7
n(B) 7
PB) = — = —
B) n(S) 13
3. "6" wrflsmers Qareni owm elaursdled, srrafuiled

| uulpAssnar ailarmsser AN NAE L

1.

Bmis QupliulL eflwssrseflar sm@Hzed 54 eefled,
allssairss syreflenwus srenrs.

Siray:

2d? = 54 wpHmud n = 6 (Qer@&sLILL(HeTens))

2
alevssaliss srnef o = 24 5_:
n

=9

SPEFTEID Fre s eiss HmId efFas Cls(peneus
smeworss. 63, 89, 98, 125,79, 108, 117, 68

Q0 Sreler afFa OHMILD s Al Sl oy Hwer WeppGu
36.8 wpmid 13.4 16860, WlasLIGLNW wHlienLs sresmis.

. @(h HIewTWLD PPEIm| (oo SewrLiLOEng. Qrewi®

A05350SS LhdaaT HlenL_LILgNsne Hlapssea, cTeres?
Qar&slUL L graler efFenas sresms.
6U(THLOMEBTLD 400-450 | 450-500 | 500-550 | 550-600 | 600-650

oom fluiirgefest

8 12 30 21 6

6T6UBTETTNE 6015

. B SmeSs SOSSLIULL. 52 Fl(hser GlamesT

L& aLl1qe0Bhg @ FL0 61(h&@wéung i @rren
3160608 6T @rmewstl SlewL_LiLgnHanen BlsLp586,| eT6sTen?
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6. P(A)=0.37, P(B) = 0.42, P(ANB) = 0.09, st6sled, P(AUB) gés
SHTETTTS.

7. Awpmib B spfluenes @m Hepsfasr. G P(A) = 0.42,
P(B) = 0.48 wmhmit P(ANB) = 0.16. s1efled (i) P(A @edemeo)
(ii) P(B @evemev) (iii) P(A 21606081 B) oy Slwieumenné: srestiss.

8. @ CluL iquiled 20 GHenmLiged60nd elend@sEpLd 6(h Slev
Gempurhenw ellens@asepd 2 emererr. CluL iquiledmhg
goeuriitiy  wenpulled  Caimbolgs®ssiL@b
elenssneng &ODUTHEOL_ WSS BQmLLgnHETes
eumiiy  3/8  eterlled, (@Gempun(ewLw  ellens@Gaaes
6TETTTETTHENSHENUIS SHTETTTS.

| Hssmarn ailarms:ser 2 AICLeTTS6T

1. 1 wpaed 100 euewy stesrevtil_LILIL (D6iTem L emL_a6T 6(1h
emLulled 2 eengl. Seupmiet eenn CaikolsH S @D
Gurgl, 2151 30 &G GHEHDEUTE LIST 6TeuwTewnas B
Blapsse wng)?

2. 52 &L (&6 Oarewi @@ sLiqedlBhE @M FL(0O
Caimboa(hiss Qunpsl, g Sl FU (O 2606060,
T LD 16060060 Q(H&HS HHDSHHE| Wng)?

3. epenimy) presrmigsT Gr Crrssled aewr_LiL(hdlemerr.
(i) @®DHBUL D 2 Lpsaser (i) #fwne 2 L,seer
SlevL_Liugnae Blapgsey Wng)?

4. 27+x, 31+x, 89+x, 107+x, 156tx e166n eTEBTISEM6HT
gal_(&ernef 82 eredled 130+x, 126+x, 68+x, 50+x, 1+x
pSw etemTHaMeNT Fnl_ (D& FrnEfl Sreswis.

[5 wpiouas sromsedt Sopioeren

1. ipsed N Qued erewizaflar gymafl wHMID efllewss auirsss
synEfsanens SrenTs.

sy _ SreyL1 Lei efaenesr gn(B&e0 Ly
Frnam x

FreLl LieT efgefeir sTewr esulls ema
in _1+2+3+..+n_ n(n 1)
n n X
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n+l

2
allevss aliess srral

RN DA PO AN AR e
n (in)z=(1+2+3+....+n)2
(e +D@n+1) [n(n+1)T

sqnef x =

n

6xn 2% n
C (+)@n+) [(n+D)T
~ 2x3 _[ 2 }
_n+l1|2n+1 (n+1)| n+l|4n+2-3n-3
9 [ 3 2 }_ 2 [ 6 }
_n+l |n-1
2 [ 6 }
a2 _n2—1
12 ,
Nevés euisas syneh o’= = 1 [n_—l} -l
2 6 12

Brewi(h) LusemLseT 2 (L LB SaTper. HlenLssL0LnILD
ws wIluyseflar sa®ed (i) 4-6@& swwors (i) 10-gm
el Quflgns (iii) 13- ell_& Gmpears SwULSDHSTeT
BlBNS5a| STewTs.
Biray:
Brewi(h LsenLs6T 2_HL L LILEWDEILNLS,
FnmGleuefwimesg
S= {(L,1), (1,2), (1,3), (14), (1,5), (1,6)

(2,1), (2,2), (2,3), (2.4), (2,5), (2,6)

(3,1, 3,2), (3,3), (3,4), 3,5), (3,6)

(4,1), (4,2), (4,3), (4,4), (4,5), (4,6)

(5,1), (5,2), (5,3), (5:4), (5,5), (5,6)

(6.,1), (6,2), (6,3), (6.4), (6.5), (6,6)} 6160 B(H:EHLb.
e16s1Geu n(S) =36
(i) A yeg) (1p& HILS6MET T (D60 4- 45

B mLLgHETeT BSFS 6165185,
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A=1{(13),(2.,2),(3,1 A)=3P(A n(A) i—i

((13).2.2). G.D}n(A) =3 P = 70t = o=

(i) B pevig) (ps& wélliseilesr ga(bhiged 10-g efl Gluflw
eTesvTEROTNS @\(HLILIGNSTEN HlHLDFS cT6viss.

n(B) _
= 1(5,6), (6,5), (6,6)}; n(B) =3 P(B) = ——= n(S) 36

(iii) C oyemsl (s wHiLseles a0 13- el @enneuns
BmLughaten Hlapss ses. eresiGeu, C =S.

=45Gau n(C) = n(S) = 36 P(C) = "(C) S

n(S) 36

3. poI@ SMSFH SBESIULL 52 F(Hamers OsmewT
S (sagellpbg  soamily  wepulled owm FE
a@ssiudng. & () HAaly Bps F O (i) apmi
& (iii) Aeuiy Blp Sorer (iv) s FLH (v) eTewt L Lns
BmUusHETaT Blawssmals sewTLls.

BTy
n(s) = 52
(i) A ereviug) Seuliys S Slev_&@Ww HHPEFS eTevis.
n(A) = 26
Seuliy (&6 SlewL_LiLgnanen BlsLpsae6]
26 1
PA) =2 ==
)= 52 2
(i) B eresiugy) anriil L0 SenL_s@ HapFS erevis.
n(B) =13
anriL. £ (a6 SeoL_Liugnane Blspsse]
n®)_ 131
PB=76 52 3

(iii) C erev1gy) Seuliy Bl Qrnen FLU(H SlewL_s@d Hapss
616015, n(C) =2
eremiGeu, Seuliy Blp Qrnen FULH HewL_LiLgnaest

@%bwzé)
nC) 2 _ 1
PO="5 n(S) 52 26

(iv) D eeiiug) pasfLl(h S s@w Blapss ees.
&8 (naemmeustt wibSIM (1), 58 (Q), LHMIL @yran
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(K).n(D)=4x3=12
W&&EEL (D6 SemLLILgnane Blansse,
ppy- D) 12 3
nS) 52 13
(v) E eetiugy oot U SHewLs@h Blanss eeis. eest
&L _(haemmeuest 2,3,4,5,6,7,8,9 wnmid 10. n(E) = 4x9 =36
eteveT FL_(Daa HlewL_LiLgnanen Blspsse6]
n(E) 36 _9
P(E)= ——= 2= =
B0 52 13
. @@ swamilys Carsmeruiled e Bapsd A aars. G
P(A) : P(A) = 17: 15 wimub n(S) = 640 erelled (i) P(A)
(ii) n(A)-& smewrs.

BTy _
P 11 1-pP(4) 17
P(4) 15 P(4) 15

15[1-P(A)]=17P(A) =15-15P(A)=17P(A)
15=15P(A)+17P(A)=32P(A)=15
15

P(A) o —PA)=1-P(A)
15 C32-15 17
R 32 32
n(A) 17 n(4) 17640

P(A) = = n(A) n(A) =340

n(S) > 32 640 32

. Qrewi(p) Fyrer vswLsET WPopwrs Cr Crrged

2_mL L L@ &ermer.

(i) @rewt(® LsemLsaflibd Cr s WY HeL_ss

(ii) pa wIseflar CLEmBSSHLIERT LIST TewTewTTSS HlenL_&58

(iii) & wIIysefleaTr sn(HFed LST TeRTERTTSES HlenL_&8

(iv) ps wluyseflar Fa(Hised 1-48 QMmes,
Blapsdaeflear Blapssasmens srewrs.

BTy

n(S) = 36

() A= @rewi(® usenLuleibd G (PaLbd SHlenL_&@L

Blap&s erevis.
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A={(L1),(2,2),3,3), (4.4, (5,5), (6,6)}
nA) 6 1

n(S) 36 6
(i) B = awdlliLseier QL(mESHLIEVETT LIST 61658T6u0TIs
BmLLshaten BapEs evis.
B =1{(1,2), (1,3), (1,5), (2,1),3,1), (5, )}

n(A) 6 1
n(B)=6;PB)=

n(A)=6;P(A)=

2S) 36 6
(iii) C = & I G6MNer Fn (D60 LIS 6TevtTEwsINS
SewL_s@L Hlap&s 61
C=U(L1) (1,2), (1.4) ,(1,6), (2,1) (2,3), (2,5), (3,2) (3.4),
(4.1), (4.3), (5’22856)’ ](-65,1), (2,5)}
n
MO= O "3 12
D = & wHliLseMe sO\$60 1-918 BH&s Blan&s
6T6318.

(D)= 0: (D)= 2

n(S)

6. eparm Syrer BrewrwmseT Wepwrs @GCr Crrsdled
sewrLLLBFlermer. (i) SMATSIHID Fmeownss Hen s
(i) GoDBIULFD @wm L, FHlwL&s (i) Fesurswd e
Fme HL&s (iv) SiFlsuLsw @reni(h) L,sseT HeL&s
S FwapdihsErer BlspSsasmens Srews.

BTy
S = {HHH, HHT, HTH, THH, TTT, TTH, THT, HTT} n(S) = 8
(i) A= semensgib emev SlenL_&@LW Blap&s eevis.

n(A) 1

n() 8

(i) B=@®nBsUL b b L, HenL_s@L HapFs eevis.

B = {HHT, HTH, THH, TTT, TTH, THT, HTT}
ne) 7
nS) 8
(iii) C = o FlauL g @ Semev HenL_s@GLW Blapss cevs.
C={TTT, TTH, THT, HTT}

=0

A= {HHH} n(A)=1 P(A) =

n(B) =7 PBINN -
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n(C
n(C)=4 P(C) = =

(iv) D= gflsuL_gb Qb L,&s6T HlenL_s@GL BHlsp&s erets.
D = {TTH, THT, HTT, HHT, HTH, THH, HHH}
n(D) 7

n(D) =7 PD)= "o " g

e emuuiled 5 feuliy BnL LGS EBL, 6 CeusTener
BIDLILGSISEBD, 7 UEme BDLILBSISEHL, 8 S(HLIL
BIDLILBSISEBLD 2_eTemer. FweumiiLi (penpuiled
soullellmbg e Lbg TEESLLGEDS. SIBSL LbS)
(i) Qeusemen (ii) BLIL jeve0g AeuliL (iii) CleuaTemeTwime
Beveomioed (iv) CleusTememunsaib, S@mHLULTSaID e06omLoed
BmULSHETET BSLDS5H6|5M6TEH STERTS.
SiTay:
S=1{58,60e,7L,88&! n(S)=26
i) A- etetiLgy) Qleusitemen BID Lithg) 616518.
6 3

n(A) =6; P(A) = % 13

ii) B - eteviugy) LY (1) sy Blp Uhg) eTevs.
13 1

n(B)=5+8=13; P(B)—%—E
iii) C — erevTLIg) GleuaTensT BIM LGS Bevemev 6T6vTs.
C) =20; pO)= = -2
Il( ) - > ( ) - 26 - 13
iv) D — etetiLigy Oleusitemen 160608 S(HLIL D LG 616518,
12 6
26 13
BEUT(S SEE0S 5] SIS L 52 & (ser
Q&mewr L) & (D&sL 1960, EOL_LOEWTL
S_(eefllelmpbg @orer womw  Prrewfl  F_(HisEHW,
anri &L_(hseflelpBbgl, Srrenfl wHmib kS SL_Hisemw,
aGu® F_(seflelmbgl, wHSIf wHmIL Qrrer F_HisEHLD
pasuubEng. WBseeter S_Haaflelmbs, ©® F_E
gwamity eopuiled eHssLILBEDG. b FLTers)

n(D) = 12 : P(D) =
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10.

(i) semmeur oy& (i) Aeuy Quwenflurs (iii) Sy
Burereurs QEULSHSTET KSLDSHSETS SITCUTS.
BiTay:

n(S) = 46
A = Slemmeuit SlewL_&@Ld BHLFS 616815.
n(A)=13 P(A)= nd) 13
n(S) 46
B = Seuliy @unenl SlewL_s@d HlapFS erevis.
aB -0 pey-B_0
n(S) 46
C = sy Qurer SlenL_s@w Hlapss eevs.
A _n) _1
nC)=1 PC)= ) 4

Brewi( usemLser 2 BLLLLbh\Flarper. Qreni(y (s
v sEnD Fowres PHEs e0g s Il sefler
Fa(HB60 4 315 BMBLLSHSTET BlHPSHMEUS HTEWTS.

SiTay:

n(S) = 36

A-yenig Qrewi(h LseLselid @Cr (s wHliser
wONID B-openig @rewi® LsenL_sefle (pa WS seMent
Fn(DF60 4-24.8 HevL_saL10unID HapsFslser eevs.
e1eu1Ge, 6
A= {(11), (2,2), B3).44),(5,5,(6,6)] n(A)=6P(A)= o=

36
3
B ={(1,3),(2,2),3,1) n(B)=3P(B) =3¢
<45Gau, ANB = {(2,2)}, n (ANB) = |
panp) = 2408 _ 1
GRUBN = n(s) 36

P (AUB) = P (A) + P (B) - P (ANB)
6.3 1 _8 2
36 36 36 36 9
2
s1eu1Geu, Caemeuwwinest HaLpSs6] 9 S4SLD.

52 & (pser Qamemi. FL(P& s_uellBHs o® F_H
a@ssiupdlearngl. OS5 FLO PorEr edevsH QDTITL


https://www.cbsetips.in/

304 Fo Tl eees © &Wﬁ@@ﬁﬁlm Net

Sievevg flaily Bing FULres mUUsHETET BHHSSmas
STERTS.
BTy
Clorgs L (hsefes erewtenisgens = 52 ; n(S) = 52.
A syen1g) @rnen £L(H HewL_LiLgnane Hlapas sevis.
n(d) 4
n(S) 52
B syenig) @nnen &0 HewL_LiLgnanen Hlapas sevis.
n(B) 13
n(S) 52
C ooz Seuliy EL_(p HewL_LiLgnhanen Blapas) etevis.
n(C) 26

n(S) 52

1
P(ANB) =P (amnir_ wpmd @rren L0 SHev_ss) = w7

13
52

n(A)=4;P(A)=

n(B)=13;PB)=

n(C) =26 ; P(C) =

P(BNC) = P (Reuliy Blp awnii L0 SlewL_ss) =

22
P(ANC) = P(Seutiy Blp @unen £L(0 Slew_&8) = 0

P(ANBNC) =P (awnit., @urer L0 Heuliy BlmsSHled

SewL_&s) = 0
e1e51Geu, Caemeuwinest HlapsaeuTerg)
P(AUBUC)  =P(A)+ P(B) + P(C) — P(ANB) — P(BNC) —
P(ANC) + P(ANBNC)

4 13 26 1 13 2 1
=t =t - = - - — + —
52 52 52 52 52 52 52
_8_1
52 13
11. @rewi® UsMLS6T @ (P 2 (HL-LLILI{HISFSTHET. (PS560
usenLufled (p& I BT EOL LI LI TERT 0608 (P&
wgluyseflar a(Hi5e 8 91,58 HaL_LILGHETaT BlHpSsHmead
STERTS.
SiTay:
S= {(1,1), (1,2), (1,3), (1,4), (1,5), (1,6)


https://www.cbsetips.in/

X 0 H0HS

Www.Padqm.Net

12.

2,1, (2,2), (2,3), (2,4), (2,5), (2,6)
(3,1, 3,2), (3,3), (3,4), 3,5), (3,6)
(4.1), (4.2), (4.3), (4.4), (4.5), (4.6)
(5,1, (5,2), (5,3), (5.4), (5,5), (5,6)
(6,1), (6,2), (6,3), (6,4), (6,5), (6,6)} n(S) =36
A = 1pge0 LsenL_uiled (sl Gy enL_LiLienL_ eTevwt
HewL_s@ HlapFS 6.
A={(2,1)(2,2)(2,3) (24 (2,5 (2,6)
(4,1) (4.2) (4,3) (4.4) (4,5) (4,6)
(6,1) (6,2) (6,3) (6,4) (6,5) (6,6);
n(4) 18
n(S) 36
B = (p& wdlliLsafen anHized 8 SenL_s@L B eevis.
B =1{(2,6), 3,5), (4.4), (5,3), (6,2)}
n(B) 5

n(S) 36

n(A)=18; P(A) =

nB) = 5; P(B) =
P(ANB) = 36
P (AUB) =P (A)+ P (B) — P (ANB)
_ 18 5 3 _2_5
36 36 3 36 9
50 wrewreuirser 2-6Tem 6@ eu@LLiled, 28 Guir NCC-
uflgoytb, 30 Guir NSS-gib wdmys 18 Guir NCC s NSS-
Qb Cerdlpriser. @@ wrewTauT Fweumily wenpuiled
Csip0smssuu@dpri. eur (i) NCC-ulled DmBsl,
Speormed NSS-60 Bedeomoed (ii) NSS-60 @wbgl, Speormed
NCC-ufledo @edevmoed (ii) aTCn peailed wL_(Hw Caibg
BmULSHETET BBLDS56|5M6TEH STERTS.
SiTay:
GloSg WnesTeuiTgeen sTewTenNsemns n(S) = 50
(i) A:NCC ufled Gsirg) NSS-ulled
GB:UTTLDG\.) 2_6IT6IT LDMEUUTEL TEH6T NCC NSS

pay- M) 10 1
n(S) 50 5 28_1018
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(ii) B : NSS-60 @mbg NCC-ulled
G&rmned 2 66 LDMevsTeU TEH6T
pey=28 _12_28
B)= n(S) 50 25
(iii) C: et epevidled L (HId Caimbg B)(H& @)L mewTauTaseT
P(C) = n(C) (10+412) 22 11
()_n(S)_ 50 50 25
13. &ymewr epetm BIERTWEISOT b (PenD HEwTLLLI(HEarmer.
SFBULELD 2 LhSseT 600G GODBSULSL 2 Sme0ser
HL_LILFDETET BSSHMES STEwTs.
Biray:
n(S) =28
A= giflaul g Qrewi(h Lésem SenL_s@L BlapEs eevis.
A= {HHH, HHT, HTH, THH, TTH, THT, HTT}
7
n(A) =7 P(A) = 5
B = @eonhsuL b Qreni(h semeusen SenLs@h Hlapas
616015
B = {HHT, HTH, THH, HHH} 4
n(B) =4 P(B)= —
4 8
P(ANB) = —
P(AUB) =P (4) <P () PAnB)— + + 4 -2 ]
(AUB)=P (A) +P(B)-P(ANB)= g + 2~ 2 = 5
14. @m euulled 6 usms BIDLUILBZISHEHW, Fleov H@BLIL LHMILD

failly BlDUUBSSEHD 2-6TeTer. SHBUY Ubgisefler
aewienflsens, Aailiy ubgsamert Cured QB EISTEGL.
uéms Ubg Sl Lugnarer Blewpsse ey UbS)
AenL_LLgparer Bawpssmeal Cumed epeaim WL ESTGLD.
Ralaurpefled, (i) smLYy ubgseflar aavrenflsms (ii)
Qurgz ungiseaflar ranrenflsms gy fluaunenns srewrs.
BTy

L&enE Lhgiseler stewtenigena n(G) = 6

Seuliy ungsaTe stewTengena n(R) = x

ereniGeu, SHLIL LhgIseler stewTenigens n(B) = 2x

Olorsg LngIsee sewTenigans n(S) =6 + x + 2x =6 + 3x
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15.

QansasLuLLgl, P(G) =3 x P(R)
6 X
= 3 X
6+ 3x 6+ 3x
3x =6 S(mBaI, X =2
(i) &Ly ubgiseleT seuenildgans = 2 x 2 =4
(i) Crss LKgIsaTe sTemTemnsams = 6 + (3 x 2) = 12

@@ BrewTd epaim Wweon SHewiLuB@Eng. sflurs
Drewi() FoeoseT VNG (GODHIULEFD QM L
31008 SIDS53HS3 Brewi(h Fmevsar HlenL_LILGNHSTeT
BlBDSEHMmaIS SHTEwTS.
BTy
S = {HHH, HHT, HTH, THH, TTT, TTH, THT, HTT}
n(s) =8
A =s&flwns 2 genev SlewL_s@L Blap&s erevia
A = {HHT, HTH, THH}
n(A)=3 P(A)= ¢
B = @oDhsuL b e L, HenLs@b Hspss eevis.
B = (HHT, HTH, THH, TTT, TTH, THT, HTT}

n(B) =7 P(B) = %

C = 90535053 2 semevaaT SevL_s@L BlapFs eevs.
C= {HHH, HHT,THH}
n(C) =3 PO =7

3 2
P(ANB) = g P(BNC) = 3
2 2
P(ANC) = g’ P(ANBNC) = 3
P (AUBUC) =P(A) + P(B) + P(C) - P(ANB) — P(BNC)
—P(ANC) + P(ANBNC)
3 7 3 3 2 2 2
==t -t —- ==+ =
8 8 8 8 8 8 8
3 7 2 8
=—+_--—=-=1
8 8 8 8
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16. @m® &euir susmmw 1 wenflég 1 Weopww, 2 wenflsE 2
pemnud, 3 wenfls@ 3 wepwyw @6l erLLSing eefled,
o Brefled ISHEMTLD aalaere] (Pem el er(pLILD?
Cued susmrn UL o6l aantanflsmasaflar S
aflwssid srewts.

BTy
(1 BIMONEHE) &G WwesTlullesT srestTenTebens
=2(1+2+3+..+12)

—2x [@}:12(12“)

=156 (pevD g HGSLD HlgHMTLD 6T(IPLILILD 6260
cTeutTETISH M aUlled ﬂl;l_ allev&aLd

21 127~
12 “N 1
_ 144-1 143
2T T2

=2x 41191 =2x345=69
;.0=69

17. 9 eamfluirseflar emgflun £Op OCaTGSsLILL(HeTarg.
eaglurisafiar allevds auirsss syrefl wHnb S afllosswn

ST6oUTS.

3310, 3290, %320, 3280, 300, 3290, 3320,3310, 3280

Biray:

__ XX _ 2100 00

x n 9

X d=x- x d?

310 10 100
290 -10 100
320 20 400
280 20 400
300 0 0
290 -10 100
320 20 400
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X © SHE0THS
310 10 100
280 -20 400
2x=2700 0 2000
d?> 2000
alleV&s euTss errel = z = 9 =22222

n

2
S L elevsaid, = Z_d = /222.22 =14.91
n
18. @@ aunrsgled wbg wrai L Eisefled CeuaiGamn QL_risafled
Quuig wenipuiler eTaurerg ugle QEuuiuL( o
Qasr(ssuuL_(Herergl. QsrHdsuuL_(Herer wenpwerallest

sraih@ L afllewsswd srenrs.
wenpwerey (WS | 45 50 55 60 65 70
@_miseafler
cTewtenflsens 5 B 4 ? 2 4
BTy

oargFgrnei A =235, C=10

weowere] | DLmisefler . = 2 2
(1.15) 616w 60T 5608 fi xi X— X g lid}
45 5 225 -11 121 605
50 13 650 -6 36 468
55 4 220 -1 1 4
60 9 540 4 16 144
65 5 325 9 81 405
70 4 280 14 196 784
al X fi xi Tl iy
N=401 2240 =2410
a_ T D fixi 2240 .
grngh = x = N T

H
S L elevsaid, o = /zf'df — 2410 _ /6025 =7.76
N 40

19. eneuyend smuIFFeneoLs LN &5 SHewflLifled, urgaasi L
wiseflar  crewienflsons £Ops OCarHésuu(heterg.
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Bssraier S aflosswd sremrs.

(=} (=3 (=] [—3 S (=
o FIF151%1%]%
(eu(mLrEisefled) = g 2 = 54 =
urglésrur L
w&sefler 5 16 18 12 7 4
sTevuTwllS s
BiTay:
oargFgrns A =235, C=10
Qg urdlésiulL. | enow d = di =
(s | wesatar | wfoy | S| X A | fa |a?] £a?
sofied) | eemtenfses £, | x, | Vi c
0-10 3 5 =30 -3 -9 91 27
10-20 5 15 -20 -2 -10 | 4| 20
20-30 16 25 -10 -1 -16 | 1 16
30 -40 18 35 0 0 0 0 0
40 - 50 12 45 10 1 12 1 12
50 - 60 7 55 20 2 14 41 28
60— 70 4 65 30 3 12 9| 36
_ Xfx, xfd?
N-6s S
2 2
AL ewssn, o = Cx |hd [ Xfd
N N

10 x @(gj
65 65

10 x /2.138—(0.046)

10 x +/2.138-0.002116

10 x \/2.136

10 x 1.46
14.6

20. it AW wrewraiTHmeT, Sjauiseflar GlFupeHHLI
ugiGaiyar 60 ussESmer Blemey OFWg eu@BLTM
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21.

gapleormir. 61 (H) oTewTOuTSHAT (ewmGui 32,35,37,30,33,36,35,
37 ussmiser L [HCw Blevpey CFIZMBSETIT. LOTERTAITSET
Blenpey Qauwrgll ussEsaflar S Lallosssmss srewrs.
Biray:
Blewmey QlFuIwng LGsmEIs6T
60-32,60-35,60-37,60-30,60—-33,60—-36,60—35,60-37
=28, 25, 23, 30, 27, 24, 25, 23
Blenpey Cleuwng LssEisee S L allevssd (eass Frnef
peom) A= 25
x d=x-A d?
23 )
23 i)
24 1
25 0
25 0
27 2
3
5

28
30

o - |24 (X} 2 - o
n n 8 64
_ [376-25 f35 :18-73
64 64 8

S0 =234

24, 26, 33, 37, 29, 31 gy Flweunnfler wrmur_Hé Qapeneus
SIS,

BTy
X d=x- x d?
24 -6 36
26 —4 16
33 3 9
37 7 49
29 -1 1
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31 1 1
180 2d=0 112
srnef = x = ZX =
- [ Qﬁ]ﬁ\)&aam c , /11 = ./18.66 =4.32
wrnuL (H&6lsp = 100% = O x 100%
X
=144 %
22.

23.

aELys Caialled wremrairsst Cunm wHlClLemTaar £CLp
Qer@ssiuL_(Dererer. Sjauiseflear  IHICUewToRiDHEHS
F L afllevsswd

X 4 6 8 | 10 | 12
f 7 3 5 9 5
Siray:
X; fl di =X A fidi fidi2
4 7 —4 -28 112
6 3 -2 -6 12
8 5 0 0 0
10 9 2 18 36
12 5 4 20 80
N=29 Xfd. =4 |Xfd>=240

oargFFrnei A = 8

AL eevssid, 6 = \/Zfldf _{Zf,d,J

n
_[240 (4 _ [240x29-16
29 (29 29 29
6944
G =
29% 29
c = 287

50 wrewrauisetr 100 ST SIrSms S_58 aTHSSHS
Qaremi smev jemaysear HOs OaTHIGSILL(DeTererr.
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Siaupiles FlL_afllevssid srewts.

OS85
Qsrewr Crrwd 8.5-9.5 | 9.5-10.5 | 10.5-11.5 | 11.5-12.5 | 12.5-13.5
(efleormiqufled)
LDTEuTRUTS 6rfl6vT
e 6 8 17 10 9
BTy
LD
Cl |wgoy| f |[d=x11|da*| fd f.a?
(x)
8.5-95| 9 6 -2 4 | -12 24
9.5-10.5| 10 8 -1 1 =8 8
10.5-11.5| 11 17 0 0 0 0
11.5-12.5| 12 10 1 1 10 10
12.5-13.5| 13 9 2 4 18 36
>f=50 >fd=8 | ©fd*=78
2 2
fd fd
S L eflevgsid, \/Z (2 ]
n
78 (8 _ 3900 64
50 (50 50 502
3836 _ 61935
50? 50
=1.238
L elevssid, G =1.24

24. Jeraums oL cumenrulled e uetefluiler LGFmDd
a@uy wrevrarsefler 2wmbd wHML  TLsefler
gyrefl oMY eflwss arss syrefl gl wHuiyser
QesrssuuL_(Herterer. Qeaunrled 618 s BleweoLliLs
SATENID 2 LG ?

2 Wy 6TEML—
sy 155 Q&5 | 46.50 &.8)
aflevss aursss egrefl | 72.25 Q&.152 | 28.09 &.4)°
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BiTay:
@rewi(h sreysener UL, (pFHedled Brewriqm@Ld
wmIUL B & srewt GeuswT(HILbd.
gynafl x, =155 Qg.18, eflevss euisss synef
6,7 =7225Q&.8
stesiGeu Sl eflevgssid 6, = 8.5
. o,
wrpiun @ C&sw, C.V, == x100%

X

CV —ﬁxmov
1155 °

=5.48% (2_WImBISEHSHSHTETS) )
Frnef xz =46.50 &.9), eNe055 euisas srneh
6,2 =28.09 £.87
steiGeu Sl eflevgsid, 6, = 5.3 &.4)
o.
LT & Qaw,C.V, === x100%

Xy

CV _ 23 x 100%
a2 46.50 °

=11.40% (61608 (EH &S T6015) )
C.V, =5.48% wpmibd C.V, = 11.40%
C.V,>C.V, eieiLgneD, oneswialiigaflest srenL_wineg),
2 WrSems el iFls wrmum_(PLesr 2_aTeg,.
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I Angmar allarmsser e s @nbLar 5 wEI6LeTS6T

1. 50 wrewreuirger 2_erer eh au@LiLiled, 28 Guir NCC-ullgs,
28 Guir NSS -eoiib Gairdlpriraer. 10 Guit @rewTig.eoid
GeirdlpmiraaT. 6 WTERTEIT FoTILIL (penpuiled
Cair 0z HssLILMEDTT. Sjeui
(i) NCC-uflled @iz, NSS-60 Seveomoed
(i) NSS-ufled @mwbgI, yered NCC-60 @ede0moed
(iii) TG pevtnfled L_(Hud Coirhg BHLILSHSTET

BBLS56,506TS STERTS.
Siay:
Qo1SE WrewTeuiTa6eN sTewTenllsena n(S) = 50
NCC NSS

28-10 28-10
=18 =18

(i) A:NCC o0 Gaiihgl NSS-60 Carmioed 2_aien Lonessteuisen

n(4) 18 9
P(A) = —==
M=5s) " 507 2

(i) B:NSSed @mibg NCC-60 @\6060mne0 2 6761 LomeusTeu a6
n(B) 18 9
P(B) = =22
(B) n(S§) 50 25

(iii) C: evtGm pevTdle0 L (HGLo Caibg) 2_6iTer WmessTOUiTE6IT
n(C) 18 18 _36_18
n(S) 50 50 50 25

2. 18, 20, 15, 12, 25 gflweanrar wrmur_Hé Glspameus

- PO)=

ST6uoTS,

BTy
x |d=x-x @
18 0 0
20 2 4
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15 -3 9
12 -6 36
25 7 49
Tx =90 0 > d> =98
z = _0 :
5 ST
S L elevssid, 6 = Z_d = /% =4/19.6 =4.42
n
o
oL@ Cl&ew, == _ 442 x 100 =24.5%

52 &_(ser Qarent £HS sLgellmbg @M F(H aHEsU
u@dlemgl. b FO QPrrewflurs edevg LR
3i0e0g HHLIY BInG LLTs QhEs Blapssmnas STemTs.
BTy

n(s) =52
Blawpsd A : Qurent £L_(0 e1(DSS560

n(A)=4
n(4) 4
n(S) 52
Blapsd B : eoLwewil LB 6105560
n(B) = 13

- P(A) =

n(B) 13
n(S) 52

Blawed C : smLY Hp FLL1s QmHS5560
n(C) =26

.. P(B) =

n(€) _26
n(s) 52

P(ANB) = % , PBNC)=0

- P(C)=

P(AﬂC)=é PANBNC)=0

- P(AUBUC) = P(A)+ P(B) + P(C) — P(ANB) — P(BNC)
— P(CNA)+ P(ANBNC)
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4 13 26 1 2
—t =+ — - — —-0-——+0
52 52 52 52 52

4+13+26-1-2 43-3

52 52
_ H_10
52 13

4. @m Gy usmL 6T RMHUmD 2B LLLBhFlarner. (ps
CTERTS6T FLOIONSAILD IEVEOMIDED, (P& cTERTSaTIRT Fn (NS0 710
S|6060MLDE) HlewL_ 58 BlHWYSHa] WTg)?

BTy
ammi@eusfl "S" = {(1,1), (1,2), (1,3), (1,4), (1,5), (1,6)
2.1),(2.2), (2.3), (2,4), (2,5), (2,6)
(3.1), (3,2), 3,3), (3.4), (3,5), (3,6)
(4,1), (4.2), (4,3), (4.4), (4.5), (4,6)
(5,1), (5,2), (5,3), (5,4), (5,5), (5,6)
(6,1), (6,2), (6,3), (6,4), (65), (6,6)}
n(S) = 36
A: @musenL_seieibd @Cr sewt HlenL_s@w Hlapss
A={(1,1),(2,2),3,3), (4. 4), (5, 5),(6,6)}

n(A) =6
n(4) 6 1
PO=26) "3 6

B: (p& eTewtig6llent n (D60 7 6T6wT HlevL_S@HLW Blapss
B =1{(1,6),(2,5),3,4), (4,3), 5, 2), (6, D}
nB)=06

n(B) 6 1
DRB)= - == ==
®) n(S) 36 6
"A" wjib "B" wyib epesremmGliimertny eflevd@id lapSlaei
6T6VTLIST60
P(AUB) = P(A)+P(B)
1 1 2
= 4+ = Z =
6 6 6

Coemeuwnes Hlapsse =1 —
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5. em mguied Léems, Claustenar LHMLD WEhHFeT BINSSlemred
e ueflEi@ snser 2 eaTerer. Sundlaet oarann Csiay
Qauiuyd Gurgl, g LFme Bipwrs HEs BlenSsa, 4.
sTeTaLd, l aerad Camers. 2mquiled 10 m@ssrr4 [13))
ueflEiE empa.m 2 eterg eTesfled gomquiled 2 effem ClorSgz
uefli@ snaeafler rantenfllsmamu srewnrs.

BTy

oomgquiled 2_eiterm Glongg LefEE,

snaelewt cTewsTentNaema = x (say)

A: u&ene Blp LeMEIE se0eney Coitey ClFu1Iged

B: Qeusitemen Blp LisfiEi@ sevemev Caitey ClFuized
C: m@&eﬁ Bl LefElE se0ener Caitey ClFuiged

P(A) = 7. P(B) = 1 p)- 22

'r_f,]s,ggg,aaoﬁlsvr errg,g, &y = 1

1110
4 3 «x
3x+4x+120 1
12x
Tx+120 = 12x
120 = 12x-7x
Sx = 120
120
x = —
5
x = 24
. eomguiled 2_eiten QLorrg,g, uefsiE

&M&6TesT eTevtTentNgEens = 24
6. em yerefl aflaurggler alss wHmwb alFss0ls1w wanGu 20
wpmib 0.2 erefled SLiyerefl aflaursder Bedm, S
wIILSeneT STEwTs.

- 20

afée:=L—-S=20 =0.2
L-§ L+S

eS&a8018(1p = BN =0.2 0.2(L+S) =
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20 -

L+S = ﬁ 2L = 120

_ 20 10 L = %

02"10 Jagas

= 2—20 L+S = 100

+S =

s = 10 oS - 100

&606m60 CaiTey GlFUILHED S = 40
L+Z = 100 - UGG Wy = 60

L-8 = 20

B&Sm) wHiy =40

7. 10 euenry 2_6iter L) sTewtsafler FlL aflvsswd srewrs.

10 euemry 2_6Term LI eTevvisenmeusst 4, 6, 8, 9, 10

Siray:
x x?
4 16
6 36
8 64
9 81
10 100
=37 | Zx?=297

F L elevdsid 6

‘ N
©
\‘
|
H
w
»
©

2.15
2[4 64,00
2 (e psansl

n 64

297 [3 } ad
2L 2300
5 5 2125
175

_ [1485-1369 _ [L16
25 25

\4.64 =2.15

8. 16/07/2020 syevrmy Hev BaTEISETled “HCTTETI” eneuTeficurmed
urgdlssuuL(Herter waseaflar aantanflEmamu SpssTamib
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S| LaumenT STL_(HEmg.

L&D Asaiimen | AFmIGGULE | LSO | SlmbeleieswiT | CaIgTT
UTEI&BaIuLL
D& a6 113 117 110 125 145
GT UGN 60 &
Qar@ésuuLL aflarsgler wrmur_HE6lsp srewrs.
Biray:
n 5
X d=x-x d?
113 -9 81
117 -5 25
110 —12 144
125 3 9
145 23 529
¥d=0 | xd®=1788

2
S DN e ?:\/157.6 ol
n

o 12.6 1260 630
V.= —=x100 = —x100 = —— = —
CV x % 122 122 61
=10.33%
[utsssarer srombat Sofioeren

1. A, B, C etesiuiert, gGCaenid ewpenimy HlapsSlaer, Goepn B
SewL_Liugnanes Hlapssey A-er Hlspsseneus GLmeo
QmwLmsisaw, C Soliugnaie Bapsse A-
eIl PPEYTN) LOL_EISTSE|LD 2 6iT6reut. (Smgubb P(ANB) = 5
P(BNC) = %, P(ANC) = £ PAAUBUC) = 15, PANBNC) =

1
15 1660, P(A), P(B) b P(C)-gg8 snemis
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2. YsSGN S&pHMID ellensmwiniged 1, 2, 3, ..., 12. eTedim
sTewTaaT FweumiiliLy (peommulled SHewL &8 eumuiLiL|eTeng).
SbL&Gdlwnewg) (i) 7 (i) s etewr (iii) LI eTewr S
SpSweunnled  BDLsHETET  BlapSs6|H6NS %
S6WTL_M5. GapY

3. @@ ellewemwnigmanet, Bieowpeyd &S Lewid I150.
SbS elemeriniiiqed (h HIEWILILD PP (PO
aewT_LILOEDGI. Sevr, e(h Bliewwe F LD eurmilemen.
Seuallemenuniqed QTN evevg Qrewi(h SHeneos6i
eN(WpHaTed Sieuil ClFISSI HlewLa s HL L ewrd S(HOLS
SlenL_sg1ell(Od. PN FEVST HewL_SHHTe0 U6
BEDYPe s SLLewid Qrewi(h WL ESTHS SHleoL&ELb.
B)e0em60LIWITTDTED SI6UEHSHSE) 6THSHS HL_L_6wT(LLd SH(HLOLIS
Seosarg. QeieunOpefled, (i) Qrewi(n wLESTS
(i) mevweys sLLewid Smwuiup, (i) mewweys
slLewisemns Qulusn@, S Hepsslsepssne
BlBDS 56, HE06TE HT6TTTS.

4. @m Ouiliquied 3, 5, 7, 9, ... 35, 37 et eT6vTIS6T
@MsasLLLL. EL(D&6T 2 6iermert. FeumuiliL] (Wenmulled
TO&SLILOWL @ FUBO e 7-661 DL_EISTS 360608
LIS 6T6utTeusTTas @(HLILISDSTES HlHDSHED6S SHTEsuTs.

5. @eumd@  Wlettenr  @UUBSWL  Sep_Liugnane
A ETEE:TN g LODID  GSWPIISET  CLTHSGIEUSDHESTET
RUUBESL SenLssMoed QpLILgnHsneT Hapssea, >
SpEW. CLYID GMDHSLULFID FHTeug (H @uu'r_'r,gﬁo
SewL_saL10unIeusnHSTeT Hlapsse, > e16dlled, @ rewi(h
QRULIBSEISEDHL HlewL_LILIGNST6 HleHDSS6| 616316012

6. 100 wremteuiiser ClaTewT @ @ (Weied, Seuiser eSS
wHlCluemseienr  Frrefl  wOHMIWD S Lelevsaswresg
peomGu 60 wHmIL 15 oy @b, Lesteur 45 wHMILD 72 eT6vTn
B wIHLCLeTTEERSEGL LSHeors (WepGw 40 LHMID
27 etedim) Seupnsl udey CEwwiLLL g Osflu eubsg.
Seupenns &l CFuigned SeoLsasliclunibd LHw srelesr
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10.

I1.

12.

grnefuyw S L aflevsspld srewTs.

Qm sl  eeaibleurd  Brefled  eflmsliu L
OgTenevsaT S CluL 1q.g6fletT sTewTessTeans LesTeuHLomm)
13,8,4,9,7, 12, 10. @k55 sreiler Sl L alevsswd sresrs.
@ auGLliLys Caialled, 10 wrewreuiaeie wSlLIGLIewTgHsT
25, 29, 30, 33, 35, 37, 38, 40, 44, 48 y@L>. LOMETTTEUTSHET
QU wILIGLIeTTSEET Sl L alevsa5658 STews.

. @@ GOHULILL eunrgdled 48 wemreuiiaem Qgneneossm &
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